Total No. of Questions : 4] [Total No. of Pages : 1

P87 [3801] - 154
EF.Y. B.A. (Vocational Stream)
TRAVEL AND TOURISM MANAGEMENT
Paper I: Fundamentals of Tourism
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Draw neat diagrams and sketches wherever necessary.
4)  Use of map stencil is allowed.
Q1) Explain any two in brief (Around 50 words). [10]
a) Tourists.
b) Museums.
c) HawaMahal.
d) Types of Passport.
Q2) Write short notes on any four (Around 100 words). [20]
a) Primary components of tourism.
b) Religious tourism in India.
c) Foreign currency and balance of payment.
d) Man made attractions.
e) Kathakali.
f)  Tourism as an employment generating industry.
Q3) Answer any three (200 - 250 words). [30]
a) Explain socio - cultural impact of tourism.
b) Social importance of tourism.
c) Discuss growth and development of tourism through ages.
d) Explain the concept of tourism product and discuss its characteristics.
e) Discuss the importance of long tour.
Q4) Answer in detail any one (Around 500 words). [20]
a)  Discuss the historical importance of Indian tourism with relevant examples.
b) Linkage between tourism and national integration.
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Total No. of Questions : 4] [Total No. of Pages : 2

P88 [3801] - 155
F.Y. B.A. (Vocational Course)
COMPUTERAPPLICATIONS COURSE -1
(2008 Pattern) (Theory )
Time : 2Hours] [Max. Marks : 40

Instructions to the candidates:
1)  Draw a neat - labeled diagram wherever necessary.

2)  Figures to the right indicate full marks.

Q1) Define the following (Any 5). [5]
a) Binary.
b) BCD.
c) PROM.
d) MS Word.

e) Barcode.
f)  Audio Data.
g) ALU.

Q2) Solve the following (Any 4). [8]
a) (553)10=()2.
b) (BB4)16=() 10.
c) 101+1101+1011+1111.
d) 1111/11.
e) 101 *111.
f)  Solve using 2’s complement method. 1101 + 1001.
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Q3) Write short notes (Any 5). [15]
a) Keyboard.
b) Extended memory.
c) Magnetic Tapes.
d) Types of browser.
e) Edit Menu of Microsoft Word.

f)  Task Bar.
g) UPS.
Q4) Answer the following (Any 3). [12]

a)  Write a short note Arithmetic Logic Unit and Control Unit of C.P.U.
b) Generations of Computers.

c) Format Menu of Microsoft Word.

d) Any 4 mathematical functions of Excel.

e) Scanning Devices.
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Total No. of Questions: 3] [Total No. of Pages: 3
P42 [3801]-103
F.Y.B.A.
FRENCH (ADVANCED)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Question 1) A) Traduisez en anglais [10]
Il y avait une fois un grand Roi. Sa femme, la Reine, s’appelait
Aimee. lis avaient deux enfants-Leonardo et Stéphane. Un
jour, un dragon a attaqué leur royaume. Tout le monde avait
trés peur. Il y avait de la panique partout. Les petits princes ont
commencé a pleurer. La reine a décidé de quitter le
royaume. La violence était insupportable. L.e Roi n'a pas
voulu que la Reine parte. Donc, it a lancé un défi au dragon.
il y a eu une bataille feroce. Le Roi a gagné. Tout allait bien
comme avant.

Question 2) A) Répondez aux questions suivantes. (4 au choix)
(161

1) Comment enseigne-t-on aux éléves l'ordre et la politesse

dans la pension ?
2) Pourquoi M Bergeret refuse-t-il d’aller au déjeuner chez M Lavigne?
3) Quels services Thérése rendait-elle a Jean-Louis Paresi ?
4) Comment I'accident est-il arrivé sur la ligne de SNCF dans

le Rapide de Nice ?
5) Comment était la vie de Mistigris & Ménilmontant ?

B) La vieille Brigitte va chez le médecin car son pére M Boquillon
était malade. Elle raconte anniversaire et tout ce qui s’est
passé aprés. Ecrivez le dialogue.

[10]
Oou
Vous étes témoin (witness) au rencontre entre le poéte
et I'aveugle. Vous écrivez une lettre & votre ami en décrivant
ce qui s'est passe.

C) Dites autrement [4]

a) Ayez l'ceil sur lui

b} claquer ses lévres

c) siffler comme un oiseau
d) fainéant.
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Question 3)

[3801]-103

D) Dégagez le sentiment exprimé (4]

a) « Je regrette monsieur, ia maison ne fait pas de crédit».

b} « Tu m’as fait trop manger »

c) “J'aime bien sa maniére de lever ses yeux jaunes pour dire merci»
d) « Javais une sueur froide»

E) Dites vrai ou faux [4]

1) M Boquillon avait cent ans.

2) Le vieil aveugle est assis dans un jardin.

3) M Violette était fier de son pays « Le Midi »
4) Mme Landry manquait un peu de fermeté.

A)
a)Trouver les adverbes ; prudent, naturel. [8]
b) Trouvez les noms : poli, couvrir.
¢) Formez les adjectifs : solitude, ennui
d) Trouvez les verbes : La parole, La vue

B) Remplacez par les pronoms convenables [4]

a)les deux occupants étaient dans le réfectoire.

b) Donne-moi de Fargent !

c) Je vais raconter 'événement.

d) Nous allons au cinéma avec nos amies frangaises.

C) Mettez les verbes selon les indications données 8]

a) La chanson (réjouir- Imparfait) le cosur.

b) pas, chiens, n’, des, peur, ayez (Mettez en bon ordre).

¢) Un syndicat de chats féroces n’ (encourager- Imparfait) pas
les intrus.

d) Vas- y (Mettez au négatif)

e) Si vous ne faites pas attention, vous (échouer) dans I'examen.
(Futur).

f) Le train (ralentir- Présent) brusquement.

g) Tu as soif. (Boire de I'eau !) (Donnez les conseils en utilisant

'impératif)
h) Le poéte part (chantonner) (mettez le gérondif.)

D) Mettez au subjonctif [4]

1) Je regrette que tu ne (étre) pas la pour la soirée.

2) il est nécessaire que les femmes (avoir) un peu de temps libre.
3) J'aimerais qu'il (aller) chez le médecin

4) |l faut que vous (faire) votre devoir vite !

E) Mettez au passif [4]
a) Elle a préparé les tartes pour 'anniversaire.

b) La pluie a causé un déroulement sur la voie.

¢) Mes amis m'invitent.

d) Je vais mettre la monnaie dans le sac.
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F) Faites selon les indications [4]

1) C'était Putois __ avait volé les melons du jardin. (Mettez le
Pronom relatif)
2) ___ charmante Baronne X voyage par le Rapide de Nice.
(Mettez I'Adjectif démonstratif)
3) Donnez le contraire : ennuysux.
4) li part et je ne saurai jamais la fin (Pluriel)

O0o0
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Total No. of Questions: 5] [Total No. of Pages: 4
P43 [3801]-104
F.Y.B.A.

GERMAN (Basic)
(2008 Pattern)
Time : 3 Hourg] [Max. Marks : 80

Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi!
A) (05)

Es ist Sonntag, der Wecker klingelt nicht, und ich schlafe ganz lange. Mittags stehe ich
dann kurz auf und mache Friihstiick. Es gibt alles: Toast, Schinken, Salami, Kése, ein Ei,
Marmelade und viel Kaffee! Dann friihstiicke ich im Bett, lese Zeitung und hére Musik.
So fiingt der Sonntag gut an!

B) 05)

Maja und Gottfried Matter wohnen in Brienz. Sie sind Landwirte und arbeiten
zusammen. Maja ist 42, Gottfried ist 44 Jahre alt. Sie haben vier Kinder. Ein Junge
studiert Eltrotechnik in Basel, ein Médchen lernt Bankkauffrau in Bern. Zwei Kinder sind
noch Schiiler. Auch sie mdchten spéter nicht Landwirte werden.

C) Ubersetzen Sie die folgenden Sitze ins Deutsche! (nur 3) (06)

1) How are you, Mrs. Braun?

2) Max is buying a purse for his sister.
3) Children, don’t speak so loudly!

4) Where can I buy flowers here?

5) On Sunday we played cards at home.

Frage. 2. Beantworten Sie die folgenden Fragen! (nur 06) (12)

1) Was kann man in einer Bibliothek machen?
2) Wo kauft man Fleisch?

3) Was haben Sie am 31. Dezember gemacht?
4) Wie oft gehen Sie ins Restaurant?

5) Was sind fhre Eltern von Beruf?

6) Wie kommen Sie z7um Deutschunterricht?
7) Wann machen Sie die Hausaufgabe?

8) Wo liegt Deutschland?

9) Wer ist Angela Merkel?

P.T.O.



Frage. 3 Grammatik

A) Ergiinzen Sie das richtige Verb! (nur 4)

( fahren, helfen, einladen, sehen, nehmen, antworten, anfangen)

bl A

Was du gem, Tee oder Kaffee?

Petra ihrer Mutter beim Haushalt.

Unser Unterricht jeden Tag um 9 .
Wann ihr nach Bremen?

Meine Oma es besser durch eine Brille.

B) Ergiinzen Sie die richtigen Artikel! (nur 4)

NhR BN =

Ich habe jetzt neue Wohnung.
Martha gibt alten Mann Geld.
Wie findest du Regal dort?
neue Lehrer ist sehr streng.
Ich habe jungeren Bruder. Er geht noch zur schule.

C) Ergiinzen Sie die Personalpronomen! (nur 4)

bl i

Meine Uhr ist kaputt. funktioniert nicht.
Was machst in der Freizeit?

Gestern habe ich einen Film gesehen. Ich habe toll gefunden.

Wie geht es , Peter und Willi?
Karin hat morgen Geburtstag. Susanne schenkt Blumen.

D) Ergiinzen Sie die Possessivpronomen! (nur 4)

el s

Frau Meier, kann ich mit Mann sprechen?
Heute Nachmittag besuchen wir Tante.
Kevin bringt Tochter eine Videokamera.
Wann ist FuBballspiel, Paul?

Peter kommt nicht. Auto ist kaputt.

E) Ergiinzen Sie die Modalverben! (nur 4)

D

Mein Lehrerin sagt, ich mehr studieren.

Ich heute Abend tanzen gehen. Kommst du mit?
Sprichst du Franzdsisch. Nein, aber ich es gerne lernen.
Der Film beginnt in fiinf Minuten. Ich gehen.

Er ist 12 Jahre alt. Er noch keinen Alkohol trinken.
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F) Ergiinzen Sie die Partizip Perfekt Form! (nur 4) (04)

(aufstehen, treffen, telefonieren, lesen, bestellen, brauchen)

1. Wir gestern Frau Winter im Supermarkt
2. Das Baby um 11 Uhr .
3. Fiir meine Priifung ich viele Zeitschriften .
4. ihr gestern eine Pizza ?- Ja, Vanessa hatte Geburtstag.
5. Die Studenten fiir das Bild viele Stifte
G) Ergiinzen Sie die richtigen Priipositionen! (nur 5) (05)
1. Wir haben Januar ein grofles Fest.
2. Der Brief ist cinem Onkel aus Vietnam.
3. Ichbin den Regenschirm spazierengegangen.
4. Klaus geht heute Kino.
5. Die Schiiler sitzen den Tisch.
6. Rita wohnt ihren Eltern.
H) Bilden Sie Fragen! (nur 4) (04)
1. Ich bin zu Hause.
2. Wir schicken unserem Opa einen Brief.
3. Ja, ich bin ledig.
4. Fiinfzig Studenten besuchen den Kurs.
5. Der Film beginnt um 10.
I) Bilden Sie Siitze! (nur 4) 04)
1. Buch, doch, das, lesen!
2. nach, wann, wir, Lonavala, fahren?
3. haben, lange, am Nachmittag, ich, geschlafen.
4. ihr, piinktlich, gekommen, zum Unterricht, sein?
5. so schnell, nicht, fahren, Sie!
J) Ergiinzen Sie die richtigen Konjunktionen! (nur 3) 03)
1. Seine Hobbys sind Schwimmen Gitarre spielen.
2. Meine Mutter hat keine Geschwister, mein Vater hat drei Briider.
3. Was moichtest du? Ein Buch eine CD?
4. Ich kann heute nicht kommen, ich bin krank.
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Frage. 4 Lesen Sie den folgenden Text und beantworten Sie die Fragen! 07

Normalerweise hat jeder Mensch eine Wohnung oder ein Haus, aber Linda Damke nicht.
Sie ist 27, Musikerin und hat ein Segelboot. Das ist ihr Zuhause gAndere Leute brauchen
ein Haus oder eine Wohnung und einen Wagen, ich nicht. Mein Segelboot bedeutet
Freiheit. Im Sommer bin ich in Deutschland oder in Frankreich, im Winter in
Griechenland.” Lindas Leben ist spannend, aber nicht sehr bequem. Die Kajiite hat wenig
Platz. Es gibt ein Bett, einen Tisch, ein paar Kisten, einen Mini-Kithlschrank und einen
Gaskocher. Mehr braucht sie nicht.

Fragen!
1. Was alles hat Linda Damke nicht? (02)
2. Was macht sie das ganze Jahr? (02)
Finden Sie ein richtiges Wort aus dem Text! (nur 3) (03)
1. Ich kann machen, was ich will.
2. Ein Herd
3. komfortabel
4, Kajiite
Frage.5 Schreiben Sie iiber gines der folgenden Themen! (05)
1. Meine Stadt
2. Ein Ausflug
3. Mein Vater
O0o0
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Total No. of Questions: 5] [Total No. of Pages: 6
P43 [3801]-104
F.Y.B.A.
GERMAN (Advanced)

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi! 10
A.

Heiraten und fiir immer mit einem Partner leben? Daran glauben viele Deutsche
nicht mehr. Auch Anna und Jan sind nicht verheiratet. In Deutschland steigt die
Zahl der Ledigen und Geschiedenen immer mehr. Es gibt auch schon einen
Namen fiir Leute, die nur eine bestimmte Zeit zusammen leben: Sie sind nicht
mehr ,Lebenspartner”, sondern nur noch ,Lebensabschnittspartner”.

B.

Auch Haustiere sollen in Zukunft immer erreichbar sein: Zwei japanische Firmen
entwickeln das Handy fiir den Hund, wie das britische Boulevardblatt The Sun
berichtet. Das Gerit, das auch fiir Katzen geeignet ist, soll am Halsband befestigt
werden. Die Erfinder wollen mit dem Gerdt die Suche nach verschwundenen
Haustieren erleichtern. Man ist sich allerdings nicht sicher, ob man fiir diese
Entwicklung geniigend Kaufer finden kann.

Frage 2. Ubersetzen Sie fiinf der folgenden Sitze ins Deutsche! 10

1. My friend Susanne is a musician. She plays violin.

2. The currency of India is Rupees.

3. Most young people in Germany receive 25- 50 Euro per month as pocket
money.

4.1 love to climb mountains, ski and ride cycle.

5. Barbara offers her service even to big companies.

6. Because of personal reasons, I would like to cancel the subscription.

P.T.O.



Frage 3. 15
A. Beantworten Sie eine der folgenden Fragen (in etwa 6- 8 Sitze)! 05
1. Was ist Threr Meinung nach der Unterschied zwischen Bekanntschaft,
Freundschaft und Liebe?

2. Warum treiben Sie Sport? Macht es Ihnen Spafs oder mochten Sie lieber Ihre
Ausdauer verbessern?

3. Was sind die Vorteile und Nachteile von ,,Unternehmer sein”? Was ist Ihr Ziel
— ein eigenes Geschéft oder einen Job? Warum?

B. Beantworten Sie kurz (in etwa 2-3 Sitzen) fiinf der folgenden Fragen! 10
1. Nennen Sie vier Sportler aus Deutschland!

2. Schreiben Sie kurz iiber den Maastricht Vertrag!

3. Wofiir ist Frankfurt bekannt?

4. Wofiir geben Sie Ihr Taschengeld aus?

5. Sie suchen einen Job als Content Writer/ Research Assistant. Sie haben die
Kentnisse von Wirtschaft, Psychologie und Philosophie. Schreiben Sie ein
Stellengesuch an die Zeitung fiir diesen Job!

6. Wie heilen die folgenden Worter auf Deutsch (mit Artikel): Savings account,
funds transfer, credit card, current account ?

7. Was bedeutet Nesthocker und Nestfliichter?

Frage 4. Grammatik 30
A. Bilden Sie Perfekt aus vier der folgenden Sitze! 04
1. Tinas Mutter backt den Kuchen.

2. Die Kinder werfen das Ball iiber das Dach.

3.Claudia ruft mich spat an.

4. Am Wochenende spielen wir Fufsball

5. Thomas schwimmt durch den Englischen Kanal.

B. Setzen Sie die Sitze ins Priteritum um! 03

spazieren gehen , treffen, spielen, sehen, fahren, diskutieren, bleiben

Am Freitag a8 ich mit meinem Freund in Vaishali. Dann wir einen
Film . Wir durch die Stadt . Wir viele Leute auf
der Strafle. Am Samstag wir Fuflball. Am Sonntag wir an
den See in Mulshi.
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C. Erginzen Sie die richtigen Priposition {(nur vier)! 04
1. Ich interessiere mich Physik.

2. Seit zwei Stunden warte ich meine Mutter auf der Bushaltestelle.

3. Um 7 Uhr verabschiedete sich die Frau ihrem Freund.

4. Krishna beschaftigt sich dem Studium von Wirtschaftswissenschaft.

5. Die GrofSmutter kiimmert sich sehr liebevoll das Kind.

D. Erginzen Sie Artikelworter und Adjektive mit den richtigen Endungen
(nur vier)! 04

(griin, blau, neu, weiff, schwarz, schén, interessant, alt) (Mehrere richtige
Antworten sind moglich!)

1. Hast du mal Blume gesehen?

2. Ich will Kleid kaufen.

3. Die roten Wande passen mit Fenster nicht.

4. Meine Mutter schenkt mir zum Geburtstag Handy.

5. Wir diskutierien {iber Thema aus der Atom-Physik.

E. Erginzen Sie die passenden Konjuktionen! (nur vier) 04
(wihrend, ehe, nachdem, obwohl, sobald, wenn, falls)

1. es regnet, gehen wir nicht spazieren.

2. Ravi am Handy gesprochen hat, hat ein Dieb sein Geld gestohlen.

3. er seine Kinder von der Schule abholt, kocht er fiir sie das
Mittagessen.

4. sie sehr reich ist, hat sie kein Motorrad. Sie fahrt immer mit dem
Bus.

5. er sich rasiert hat, hat er sich gewaschen.

F. Bilden Sie Passiv aus drei der folgenden Sitze! 03
1. Die Studenten lesen alle Biicher.

2. Sie machten die Hausaufgaben nicht so regelmafiig.

3. In diesem Restaurant serviert man nur vegetarisches Essen.

4. Die Polizei half dem Schwerverletzten nicht.
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G. Bilden Sie Nomen aus den folgenden Verben/Adjektiven! (Nur vier) 04
1. fahren 2. interessant 3. erfolgreich 4. studieren
5. bitten 6. spazieren gehen

H. Bilden Sie Relativsitze (nur vier)! 04

1. Herr Maier kommt aus Osterreich. Er hat zwei Geschwister.

2. Ich lese im Moment einen sehr bekannten Roman. Leider fallt mir den Namen
des Romans nicht ein.

3. Mir gefallen die weichen Schweizer Schokoladen sehr. Sie sind siif§ und sie
schmelzen im Mund.

4. Der Baum war 100 Jahre alt. Die Gemeindeverwaltung von Pune hat den
Baum riicksichtlos gefallt.

5. Kavitha will Physikerin werden. Ihre Mutter ist Chemikerin von Beruf.

Frage. 4 Lesen Sie den folgenden Text und beantworten Sie die
darauffolgenden Fragen! 10

Ab 15 darf man in Deutschland arbeiten. Lena nutzte das wie viele andere
Jugendliche, um ihr Taschengeld aufzubessern. In den Sommerferien hat sie
beim Bédcker aus dem Nachbardorf gearbeitet. Lena musste um kurz vor 6 Uhr
aufstehen und mit dem Bus zur Arbeit fahren.

Das verdiente Geld spart Lena fiir ihre Amerikareise. Per Schiileraustausch geht
es in den nachsten Osterferien nach Florida. Die Ferien endeten mit einer bosen
Uberraschung. Lena musste mit einer Blinddarmentziindung ins Krankenhaus
und operiert werden. Das ging zwar sehr schnell, brachte Lenas Tagesablauf aber
vollig durcheinander: eine Woche keine Schule und mehrere Wochen kein
Saxophonunterricht, kein Orchester, kein Judotraining. Vor allem der Sport fehlt
ihr sehr. Lena ist seit Anfang des Jahres in einem neuen Judo-Verein. Sie hat jetzt
den Blaugurt und trainiert normalerweise dreimal in der Woche.

Seit den Sommerferien geht Lena in die 9. Klasse. ,Die Anspriiche sind enorm
gestiegen”, findet sie. Franzosisch steht als dritte Fremdsprache auf ithrem neuen
Stundenplan. In den Nebenfichern geben die Lehrer regelmifiig Hausaufgaben
auf. Dazu kommen miindliche und schriftliche Tests. Auch bei den Schiilern hat
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sich einiges verindert: Finf haben die Klasse verlassen und neun sind

hinzugekommen.

Die Schiilervertretung (SV), in der Lena mitarbeitet, hat ein neues Logo, einen

Newsletter und eine eigene Homepage im Internet. ,Diese Offentlichkeitsarbeit

war wichtig fiir uns", sagt Lena.

Einen groflen Wunsch hat sich Lena im Friihjahr erfiillt: Sie hat sich von ihren

Ersparnissen einen eigenen Computer gekauft. An der eigenen Homepage

bauen, chatten und E-Mails schreiben, das kann sie jetzt, ohne dass Bruder oder

Vater an das Gerit wollen. Computerspiele findet sie nicht mehr so interessant.

,Ich spiele manchmal noch abends zur Entspannung Sims, aber meistens nur

kurz", berichtet Lena.

A Wiihlen Sie die richtige Antwort aus!

1. Lena arbeitete, weil

a. ihre Eltern arm waren.

b. ihre Eltern ihr kein Taschengeld gaben.

c. sie fiir eine Amerikareise Geld sparen wollte.
d. sie eine Blinddarmoperation machen wollte.

2. Die neunte Klasse findet Lena
a. langweilig.

b. anspruchsvoll.

c. einfach.

d. entspannend.

3. In der neunten Klasse gibt es insgesamt

als in der achten Klasse.

a. vier, mehr
b. sieben, mehr
C. neun, weniger

d. fiinf, weniger

B. Was hat Lena mit dem Geld gemacht, das sie gespart hat? Warum?
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C. Beantworten Sie die Fragen! (1-2 Sitze)(nur drei) 06
1. Warum musste Lena in den Ferien frith aufwachen?

2. Welche bose Uberraschung gab es am Ende der Ferien?
3. Geben Sie einen passenden Titel zu dem Text!

4. Was ist neu in dem Schulplan von Lena in der neunten Klasse.

Frage 5. Erginzen Sie den Dialog sinngemaf! 05

Bankangestellter: Guten Tag.
?

Kunde: Ich mochte gerne ein Sparkonto eréffnen. Kénnten Sie mir ein Paar
Informationen geben?
Bankangestellter: Ja, natiirlich.

Kunde: ?
Bankangestellter: Unser normales Sparkonto kostet 4,33 Euro im Monat.
Kunde: ?

Bankangestellter: Nein, alle Kosten fiir Uberweisung und Dauerauftrige sind
darin enthalten. Sie brauchen nicht, extra zu zahlen.
Kunde: ?

Bankangestellter: Nein, der Preis ist unabhingig davon, wie viel Geld Sie im

Monat auf das Konto bekommen.

Kunde: ?
Bankangestellter: Ja, die EC-Karte und Visa-Debit-Karte ist inklusiv.
Kunde: Vielen Dank fiir die Informationen. Ich {iberlege es noch einmal.

Bankangestellter: Kommen Sie einfach vorbei, wenn Sie entschieden haben!

O0o0

[3801]-104(Advanced) -6-

10



Total No. of Questions: 4] [Total No. of Pages: 2

P44

Time: 3Hourg|

[3801]-105

F.Y.B.A.
SINDHI
(Devnagiri)
(2008 Pattern)

[Max. Marks: 80
N. B. : All questions are compulsory.

guh 1) KR {Z_8{FZ{~SHZga{ZoOnhAGHb 20 Z | {dm ... [20]

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)

13)

ld KB v e io®@ Ka gV Hto ho ?

{&OnC HIroNdE0 @+ | K{hSr. @){SA ?

| pricl @ity KN Q{IQXA rB[ed)| MFS0 Syiehlo NVt 2
Ze VrivAlo H{hSr | Y8 {SZ ?

XRIA® Ka AUNG 2 \AIdg HES I rHfe o ?

ld K JaZ e @l o{4a S\ O N {A7A hp ?

Ca-éh _réigAl o {hSo-hib g8 HXKP o ?

(| B GOVHYAQD [étob X{cb @ {IOXA | Nro~HD d?
N XIMING AVAQ@ reldgHhSro {Hin{S#n?
@aFAl o F{hkSmat$ p?

Ca-ah rdEAlo g rBZ{l kb HeE W X SHB&E ?
AaMARD HS I8 ~ere Nio Ker ?

Ar ~a bdVB B So {d{dp_| Amohn?
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g 2) F{R{Z 8 {H{Z{~{~{ZgeZ O AQHD 50 KZ | {dro ... [10]
1) Bm| WZiXO H{hSr ARRVATD ?
2) eRmZaAlolhSWZhad$roAn?
3) eRhralo ¥\hu$E Aabd$ rEHhSrbu$~haWhhE No?
4)  ahgfh-Eih® 54 %S\ Ko ?

gah 3) R{Z 18 {H{Z{~{{Zgat{Z er@m AQHb 150 HZ | {Hro ...[20]
1) |h® AD~_ \mlo g Iam
2) réEAQ HANZAGQD S Hlam
3)  g{R extm @ AlimsS na W?
4) {20 (X2 gan

gt 4) HR{Z_rg Hb{~~AyZ AGH 300 b&Z | {bo ... [30]
1) Hb @ AEHpM

2) {OWvZ@o B> "Bt
3) KRy @#D
4) @BCEBVBE{dw

O0o0
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Total No. of Questions: 4] [Total No. of Pages: 2

PA4 [3801]-105
F.Y.B.A.
SINDHI (Arabic)

(2008 Pattern)

Time: 3Hours] [Max. Marks: 80

N. B. : All questions are compulsory.
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Total No. of Questions: 5] [Total No. of Pages: 1
P45 [3801]-106
F.Y.B.A.
GUJARATI (Gen.)

(2008 Pattern)
Time: 3Hours) [Total Marks: 80
N. B. : All questions are compulsory.

Y%A, ADei2 VU 3 Tawr ur [steik GB0 [16]

W Suatd &l Rien () M1 DT 203 a1
2 SPA aaT @ ety QD pRwddl s
A% Dpup sAF MmET Alhed GHiR LT . [16]
v wadsadl  ARAsan Yad uEnt N
X Lzad I GUNT PETTE 3(\\“{94%11!#0'“ -'U'&‘/%D“rﬂ Zrhfrlm.
W S AT afiedz Gxa @ [16]
) [ - S 1 0 s agian
O K2 G et [Rery 2 Sen G - e
@ S -steot Alre aw SO ed end] @i oy

AT (Y gsak @ty (SR 203D [8]
@J“H’&Qrﬂ-”{}," oot ot Xl el 34,
& ) RAC e astd Cwt wandl” }H{@:} &&Lq-zj.
Gy ZshU awdy  (FTUE 3B 9]
Q) At 51&1?3’ 243U
R D wetulan
N @Y Yelnr adif ey By vz B3R [8]
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Total No. of Questions: 5] [Total No. of Pages: 3
P47 [3801]-109
F.Y.B.A.

FRENCH (BEGINNERYS)
(June 2008 Onwards)
Text: Apprenonslefrancais (Part 1, 2)

Time : 3 Hours] [Max. Marks : 80
Q1. Répondez en francais: (5 au choix) (10)

1. Nommez deux choses que vous mangez au petit déeuner.
2. Nommez deux vins frangais.

3. Combien de jours y a-t-il dans une semaine?

4. On prenez-vous votre repas.

5. De quelle couleur est le drapeau frangais?

6. Nommez deux meubles du salon.

Q2. Compréhension, Lisez le passage et répondez aux questions suivantes.

C’est I’anniversaire de Mireille. Elle veut inviter ses amis et ses grands-parents
ala maison. Alors, le matin, elle va dans un supermarché avec sa sceur. Elle aime

ce supermarché prés de sa matson. Elles entrent dans le rayon de vétements au
deuxiéme étage pour acheter une nouvelle robe. Sa sceur aussi veut acheter une
pour Mireille. Mireille aime la couleur rose. Alors elle achéte une robe rose,
un chapeau noir et une écharpe bleue. La sceur de Mireille achéte un gilet noir
pour Mireille. Elle est contente.
Répondez aux questions suivantes: (10)

1) Mireille, elle préfére quelle couleur?

2) Qu’est-ce que Mireille achéte pour son anniversaire?
3) Ou est le supermarché?

4) Quand est-ce que Mireille va au supermarché?

5) Donnez le contraire: content

6) Donnez le pluriel: chapeau

7) Donnez le masculin: soeur

8) Dites vrai ou faux

P.T.O.



a) Mireille va au supermarché avec sa mére.
b) La sceur de Mireille achéte une écharpe bleue.
¢) Mireille veut inviter ses amis et ses grands-parents.

Q3) Grammaire
Conjuguez les verbes au présent. (10)

1) Elle( avoir) vingt ans.

2) Nous ( aller) 4 la plage.

3) Valérie et Sylvie, elles (étre) francaises.
4) Vous (farre) le devoir le soir.

5) Iis ( écnire ) une lettre.

6) Les étudiants (attendre) le professeur.
7) Tu{( prendre ) le repas.

8) Ii ( comprendre } bien Ianglais.

9) Nous (commencer) notre travail t6t,

10) Je (lire) le journal le matin.

A) Mettez Particle partitif: 2)
1) Nous buvons thé.
2) Elle ne prend pas salade.

B) Récrivez les phrases avec le contraire: (2)

1) L’étudiant est intelligent.
2) Les legons sont faciles.

C) Mettez au négatif: (2)
1) 11 ya un livre sur la table.
2) C’est une voiture

D) Mettez au pluriel: 2
1) J’ai une fleur rouge.
2) Voici un tableau gris.

E) Mettez au féminin: (2)
1) L’acteur espagnol est jeune.
2) Le boucher est beau.

F) Mettez un adjectif possessif convenable: (2)
1) Les enfants aiment amis.
2) Nous mettons livres dans I’armoire.
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G) Mettez les phrases en ordre; (2)
1) L’arbre/un/ gargon / sous / est
2) n’/elle/de/jupe/ rouge/ a/pas

H) Complétez avecde/d’*/dela/des/au/aux/ala (2)
1) Clestlesac Héléne.
2) 1l parle jolie fille.

I) Trouvez Pintrus: 2)
1) Veste, pantalon, pied, manteau
2) Matin, soir, nuit, mai

J) Récrivez selon les indications: (6)
1) Alain habite en Allemagne. II est (nationalité)
2) est le deuxiéme mois de I’année. (Domnez le nom du mois)
3) Il travaille dans un joumnal. Qui est-ce? 1l est (journaliste / artiste)
4) est une ville de la France. (Rouen / Région)
5) Un est un pain francais. (Crépe / Croissant)
6) 11 pleut: le ciel est (Donnez un adjectif de couleur).
L) Reliez les colonnes: (6)
1. L’hiver a) la profession
2. Le Noel b) lasaison
3. Lacense ¢) lanviére
4. Leski d) laféte
5. Le coiffeur e) le fruit
6. LaSeine f) lesport
Q4) Traduisez en anglais (10)

Je m’appelle Michael. Je suis anglais et j”habite 4 Pune en Maharashtra.
C’est une région a I’ouest de I’Inde, célébre pour ses tigres. C’est aussi le lieu
de naissance des grands écrivains et des acteurs. Dans la ville il y a un beau
temple qui s’appelle Parvati.

Jaime la ville. Le soir, quelquefois, je fais une promenade dans les rues
avec mes amis ou je vais au cinéma. J’aime les films indiens. La fleuve de Mutha
traverse Pune . Il y a des montagnes et de beaux jardins a Pune.

A I’école j’apprends le hindi. Je suis content dhabiter 4 Pune.

Q5) Ecrivez une composition sur UN des sujets suivants. (10)
Les repas OU Mon école QU Ecrivez une lettre 3 votre ami et
décrivez votre maison.

a0
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Total No. of Questions: 4] [Total No. of Pages: 3
P52 [3801]-115
F.Y. B.A.
G-1: Pali (M) (2008 Pattern)
Pali Kusumanjali - Chatuttho Bhago
Time: 3Hours) [Max. Marks: 60

N.B.:— 1) All questions are compulsory.
2) Figuresto theright indicate full marks.

gMn.-. 1) gOdZA0 KAV
2)  QHSTbAHSO AEINEGARY

Q1) A) Trandate into English or Marathi. (Any two) [10]
@wm_aﬁrvmrsan (KT X

) " m{nirkEE 26§ Myridioriaf {{Xrf- "0 AgE | mAtgE
Me(d v mrtr{d vd m{%dl V.o g'§ AN m{d eV
N\&r{n_oE/BEABETMg- "ATim”NG Z¥o/ o rirrinddimim
Agtiz | matgE v d vd nmm)fd_vq m{ @& Yaog QAWW{Em
Con m{dgV {\& X Iro\§ 2% Avn Agi{h {Nrg {dvir§ AN'E
Vimo BAMA{QRg {\&

ii) Mwmﬁﬁmﬁn&ﬁxﬂn- "'Jovobd$n BXalg kA8
D&V ridHih g UarunE S0 EX{Ho - ™ Aftfo b AXa
ofS_rKAKS' Q@MQ_%W@@O E[{/&o- "Althbnd$n
BXad of8 KA {\& W/ rdH g UarinEeR o E{X Ao -
"AKimba$n BXad ofs nmKAKE' {\&gkdh g UarunERHMD
ED{/Afn- "\BOE\Edaf BXalgB_mKAE' {\&

i) "gedin {180 mHEIMVEREETER M MgEmnVBGTYN LS ZHEOW/
guag MG \mA Yo Yoo Mo M{ceraIVN! Bl od |y
{180 "niZ HAM AT ¥iZ nabkfig] &l cBA(Z ganfiz \WiZ _drm
M d v niSE Z89%/gd ag_d mod \iz i d v A e o M
\\O MoV N&&:
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B) Trandate into English or Marathi. (Any two)
BX@VAlM afrVfria e (KT X

) {WKXgo&rad, HTDEX~«HR
1T 1°6 Rnl
SrlaWaaywraly heV-~«4rio&.
Afty o o mIm/RE INPK/ GAIOE:

i) "8§\8glUni Bro AE Mu&

d rdl mZ A EmM\A g
\Wef 0 W RV _rerffy &
Wi /g o Nekeh{\oo \Yer{g § rR

i) Z VZJnniA Hgmvdgrivo
Kogg { N Z A8 NS \d&
ARE " { %8 gWATR\HRIE BV
C" ot go X ébsl G{ Al V&
Q2) A) Explain with reference to the context. (Any one)
Vi > FEEU{dm (FKaddr B9

i) \dhYadh gi8¥r8 (N &
A8 grimaHirg Atigari{ B {\&

i)  Bayw{Hagm¥/ EdbgUHus
{ddh Z (N G’ (\&
B) Explain with reference to the context. (Any one)
V> FEEU{dm (FKadddr B9
) go~+\jrm aZho Av et Zigrdds {hgim Ok
i) A W N0 ANdD\NE WE

[3801]-115 - 2-
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Q3) A)

>
B)

>

Q4) A)
B)

Explain the “Mettabhavana’.

OR / d%in
Explain the subjectmatter of Nandasutta.

"ot {d y fti> e

Explain the Brahmana.

~AJH O FN \O 17> Fm
OR / dgin

Explain the subjectmatter of Selasutta.
giyimivi {d iy 77> Fem

Write a short note on any one of the following:

IrrbrHs MhalErr Bt ofj 4@n {dm
) oA

~

i) B\

Write a short note on any one of the following:

Inrbr ks KidErr BESth ofj 4Qn {Hm
i) ol
i) YanX

O0o0
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Total No. of Questions : 6] [Total No. of Pages : 3
P86 [3801]-153
e g9 |1fged (F.Y. B.A.)
TSI {5t : arheaT
(Functional Hindi : Vocational)
1924 : 9299 —1 (ST UTSAhH)
(& v : fafay wu, IrorvmeT & e sare<on)

a9 : 3ue | [Fe 31 : 80
W.’— i) Yt TIT SrfHard &1
ii) 3TEAY 3% for@ T 37k g9 & qurier &1
iii) T ‘37’ 3iik farsmr ‘T 3 I vek 51 I -gieaaht 7 forieag

s ‘e’

7.1, 31) TAAtIRad iUl el § | Toheel ure o Toig &l o Auet urRetives 9158
forfau - [5]
1) Source 2) Listener
3) Mutual 4)  Vigilance
5) Report 6) Notice
7)  Surplus

am) FreafaRea & oedt 9 @ foredt oiwr & forg sisft oii mret wreves orsg

fofau .- [5]
1) wEE® 2) fama
3) ergarEd 4) am=
5) gEaTTE 6) B
7) STt

P.T.O.



7.2, FrafafRaa % 9 fonedi @ i Rwaforat forRaw [10]

(%) e 2l 1 e |
(@) org=se 344
() Tueh wTeT R EwEmrR 9T &)

7.3, WYATHT, TAATHT AR TSAATHT FEEt 1 7R TSI | [12]
3reraT

argese 120 o1 wew forre <Rl

fawm ‘<’
7.4. Freaffiam # & el di= % s Rl :- [15]
() e ua & fafay amm &t dereo =t fikm)
() =rmarea U= & farfery w1 waw # fReror i)
(3) T&h @ fomm eremat @ wmEt 1 S ST ST R
(I1) ‘<isfag o fomm wafi-smelt ared & yw Gt BT € - HigE gusEy |
(F1) Fogx Fi fowwand foee Ak

7.5 @) TfaRea meai w & @ ergare i - [7]
I HISAT AT AT TEATH HAT ATHEAT 31T, ATl UTRATTNGR TasTedT Weg
WG AR, &, TREUT, Derm wRy st e agamma &=t T9da= 31
THATER USd. STRITAR hyed el ST § WIS Tieh AT ATt Teh @
eTd ATEd ATUT AT SeTd sheldl a8 o1 HY for9i o1 shel 7319 A8 W
TATd. HEX aXET AT Wed &1 WAl FUITedT,  at Uy SITHeIERET |
HTUTETEATRSA § AR & gal. ITd ATE Thged HIgl ATEl. TAT H0ATd WA
ATHE FTeal & o1 T FHuT.”” IR, TRV HEAT TgUTe, ** HeAT FETEr Tehl
TTUT ShIATEl Tehl. HISAT AGHIN SitaTa Wt gt 3mg.
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o) Sk o HETISILh oh ATH TATHTENUT o &g TaEd U TeTRau | [8]
7.6. Feafeiaa U O frdi 19 R Rwafurt foRau :- [18]

(3) oMEEAUR & AT TUT,

(o) TRl & TAEAUA H T H 7,
(7) @ =t =i,

(=) T & v Fa,

() Hfsm v gog & fafae awr)

[3801]-153 _3-



Total No. of Questions: 5] [Total No. of Pages: 3

P40

[3801]-101
FY.B.A.
COMPULSORY ENGLISH

Text prescribed : REFLECTIONS 1, Ed.by P.Bhaskaran Nair,

Geetha Rajeevan & G.Radhakrishna Pillai
(2008 Pattern)

Time: 3Hourg| [Max. Marks: 80
Instructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Attempt any Two of the following;: [16]
a) What advice does Rabindranath Tagore give to the devotees of God in
the poem ‘This Chanting and Singing and Telling of Beads?
b) What were the different ways in which Nicola and Jacopo earned money?
Do you think all these were jobs suitable for young boys of their age?
Give reasons.
c) Draw a character sketch of Fedor Sigaev.
d) Comment on the significance of the title ‘The Model Millionaire.’
02) Attempt any Four of the following;: [16]
a) Contrast the attitude of the woman to herself with the attitude of the
mirror to her.
b) How did the Director’s son in the lesson ‘The Town by the Sea’ manage
to save himself ?
c) Comment on the role of humour in the extract ‘Uncle Podger Hangs a
Picture’.
d) How did the conjurer take the revenge on the Quick Man?
e) Why does the mother in the poem ‘The Affliction of Margaret’ say ‘A//
the world appears unkind to her?’
f)  Why did the student call the Physics Master a cannibal?
g) “Life is short, the world is beautiful, love is splendid”. Discuss in the

light of the poem ‘Gather ye Rosebuds while ye may’.

PTO.



03) Attempt any Two of the following: [16]

a)

b)

c)
d)

Write an application for the post of ‘an English teacher’ in a public
school run by the local management.

One of your classmates spoke to you on your mobile phone and invited
you to go with him/her for a movie. Write a short dialogue.

‘Pollution-a serious threat to mankind’—write an essay in brief.
Write a paragraph for or against on the following by using valid reasons:
‘Women are not as intelligent as men’.

04) Attempt any Eight of the following: [16]

a)

b)

d)

g)

h)

[3801]-101

Give synonyms of the following words:

i)  meet.

i) gather.

Give antonyms of the following words:

i)  pass.

i) wife.

Choose correct alternatives and rewrite the following:

i) Idon’t need your certificate; I can (get on/get of) without one.

i)  Though there were some initial difficulties’ we decided to (carry
on/carry of) the project.

Form one word each using the following prefixes:

Make adverbs:

i)  happy.

i) angry.

Use the following words in a sentence each:

i) duty

i) study

Give one word substitute for the following:

i) A person who works as chief of a company.
i) A place where experiment material is kept.
Give full forms of the following words:

) WHO.

i)  UNO.



i)  Give short forms of the following words:
i)  Staff Selection Commission.
i)  Doctor of Philosophy.
J)  Give verbs forms of the following words:
i)  reformation.
i) nomination.
k) Give the meaning of the following phrases and use them in your own
sentences:
i)  in front of
i) look for
05) Do as directed (any Eight): [16]
a)  Write a sentence that begins with ‘I would-------- ’
b) We decided to postpone the picnic.
(Change the voice)
c) “Halt!” said the captain to the soldier.
(Change into indirect speech)
d) I had never felt such happiness before.
(Add a question tag)
e) Hisfall was caused ------- his ambition (Fill in the blanks using appropriate
preposition)
f)  You are looking for black van. I found it. I found ---------
(Complete the above sentence using the suitable relative clause)
g) Rupa met him five weeks before.
(Correct the sentence and rewrite)
h) Can you draw a picture for me?
(Change into an Imperative sentence)
i)  John--------- works till late.
(Fill in the blank with suitable adverb of frequency)
)  Punctuate the following:
how long did the thirty years war last was that the question
k) Iwill meet the Principal next week.
(Rewrite the sentence using — ‘be going to’
)  Youlike reading Chatan Bhagat.

[3801]-101

(Make a formal question)
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Total No. of Questions: 4] [Total No. of Pages: 3

Poe8 [3801]-131

F.Y.B.A.

MATHEMATICAL STATISTICS
Discrete Probability and Probability Distributions
(2008 Pattern)

Time: 3Hourg] [Max. Marks: 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof statistical tables and calculator is allowed.

4)  Symbols have their usual meanings.

Q1) Attempt any Two of the following: [2 x 5=10]
a) A fair coin is tossed three times, find the probability of getting:
i)  Exactly one head.
i) At least one head.
b) IfAand B are two events of a sample space (¢ ), prove that:
P(A UB)=P(A)+P(B)-P(ANB).
c) Explain deterministic and non-deterministic models with suitable
illustrations.

d) Verify whether following function is a probability mass function (p.m.f.)?
If so, find

P[1x1 <1].
P(x):x—z,x:— 2,-10,12.
10
= 0, otherwise.
02) Attempt any Four of the following: [4 x 5 = 20]

a) Define independence of two events A and B of a s'ample space (@ ). IfA
and B are independent events, prove that A and B are also independent.

b) Adiscrete r.v. X has probability distribution as given below:
X 1 (2 (3 [4 |5
P(X=x)| k | 2k | 3k | 4k |5k

Find:ii)  Thevalueof k,
i)  Thecumulative distribution function of X.

PTO.



Define hypergeometric distribution. Also obtain its mean.

d) IfAandB are two events of ¢ such that P(A) =0.4 and P(B) = 0.7 then
show that:
) 0.1<PANB)<0.4
i) PAUB)>0.7
e) Define expectation of a function of bivariate discrete r.v. Also prove that:
E[X+Y]=E[X]+E[Y].
f)  State and prove the effect of change of origin and scale property of
variance.
03) Attempt any Three of the following: [3 x 10 = 30]
a) 1)  Obtain the modal value of binomial distribution with parameters n
and p. [5]
i)  Compute First three central moments of Bernoulli distribution with
parameter p. [S]
b) 1)  With usual notations, prove that:
Var.(aX + bY) = a? Var (X) + b? Var (Y) + 2ab Cov (X,Y), where a
and b are any arbitrary constant. [6]
ii)  Define cumulative distribution function (F( x)) of a discrete r.v. Also
state its any three properties. [4]
c) 1)  State and prove Baye’s theorem. [6]
i) A factory employs both male and female workers. The probability
that a worker chosen at random is male is 0.60, that the worker is
married is 0.80 and that the worker is married male is 0.50. Find the
probability that a worker chosen at random is married female. [4]
d) 1)  Define the following terms:
1) Marginal distributions.
2) Conditional probability distributions. [4]
i) A pair of unbiased dice is thrown simultaneously. The events are

[3801]-131

defined as below:
E: Even number appears on the upperface of the first die.
E,: Even number appears on the upperface of the second die.

E.:  Sum of two numbers appears on the upperface of both dice is
even.

Discuss the nature of independence of E, E and E.. [6]



Let (X, Y) be a bivariate discrete r.v. with joint probability distribution: [10]

Y 1 2 3
X
-2 0.15 0.10 0.05
0 0.08 0.12 0.10
2 0.17 0.08 0.15
Compute:

i)  marginal distribution of X and Y,

i)  conditional distribution of X given Y =2,
i) conditional distribution of Y given X =2,
iv) P[X+Y<I].

04) Attempt any One of the following: [1 x 20 = 20]

a)

b)

[3801]-131

i)  Derive Poisson distribution as a limiting case of binomial distribution.

[7]
i)  Obtain probability generating function (p.g.f.) of binomial distribution

with parameters (n, p). [5]
i) Let(X,Y)be abivariate discrete r.v. with joint probability distribution:
Y -2 0 2
X
1 k 3k Sk
2k 3k k
3 3k 2k k

Find:1)  The value of'k,
2) E[X]and E[Y],
3) Covariance between X and Y. [8]

i)  With usual notations, prove that:
E[X —k]*= Var (X) + [E (X) — k%,

where k is a constant. [3]
i)  Obtain mean and variance of Uniform distribution with parameter n. [6]
ii) State and prove additive property of binomial distribution. [6]

3
iv) Let X be Poisson variable with parameter m. If P [X =5] :EP[XZ4]’
Find standard deviation of X and P [ X > 3]. [5]
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Total No. of Questions: 4] [Total No. of Pages: 3

P69 [3801]-132

F.Y.B.A.

OPTIONAL ENGLISH
Text : Poetry and Minor Formsof English Literature
(General Paper - 1) (2008 Pattern)
Time: 3Hourg] [Max. Marks: 80
Instructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) a) Answer the following questions in about 20 words each (any FIVE).[10]
i)  What is the structure of sonnet? Give examples.
i)  What is pastoral elegy?
i)  What are the two qualities of an epic?
iv)  Which are the two types of ode?
v)  Define ballad.
vi) Write two features of a good short story.
vii) Define personal essay.

b) Identify and explain briefly the literary devices used in the following lines
(any FIVE). [10]

i) I wandered lonely as a cloud
i) Ofman’s first disobedience, and the fruit
Of that forbidden tree, whose mortal taste
Brought death into the world,
i) And I will come again, my love,
Thou’ it were ten thousand mile.
iv) May the sum of evil
Balance in this unreal world
Against the sum of good
v) Fluttering and dancing in the breeze
vi) What are they doing this morning, this morning?
vi) They clicked their tongues

PTO.



Refer briefly to the context and explain fully any TWO of the following.
[10]
i)  For oft, when on my couch I lie
In vacant or in pensive mood,
They flash upon that inward eye
Which is the bliss of solitude;
And then my heart with pleasure fills,
And dances with the daffodils.
i) My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.
i) My father, sceptic, rationalist,
trying every curse and blessing,
powder, mixture, herb and hybrid.
He even poured a little paraffin
Upon the bitten toe and put a match to it.
iv) As fair art thou, my bonnie lass,
So deep in love am I:
And [ will love thee still, my dear,
Till a’ the seas gang dry.

02) Answer any ONE of the following questions in about 150 words. [10]

a)

b)

c)

How does the poet describe the problem of colour-consciousness in
‘Telephone Conversation’?

Comment on the effect produced by the question-answer pattern of the
poem ‘O What is that Sound’.

Describe the Indian rural scene reflected in the poem ‘Night of the
Scorpion’.

03) Answer the following questions in about 150 words each (any TWO). [20]

a)

b)
c)

d)

[3801]-132

Comment on the significance of the title ‘The Greedy Old Woman and
the Lime tree’.

Attempt a character sketch of Mathilde.

Write an elaborate note on the ‘Kelvey sisters’ portrayed in ‘The Doll’s
House’.

What are the features of an interesting short story? Discuss with the help
of ‘The Eyes Have It’.



04) a)

b)

[3801]-132

Answer any ONE of the following questions in about 150 words. [10]

1)  How does A.G.Gardiner distinguish between hard and fast rules
and rules for guidance? Discuss with the help of ‘All About a Dog’.

i) Memory is different from intelligence. Discuss with the help of ‘On
Forgetting’.

i) Discuss ‘Hobbies and Interests’ as an argumentative essay.

Answer any ONE of the following questions in about 150 words. [10]

i)  Attempt a character sketch of Abel Merryweather in ‘The Dear
Departed’.

i)  Discuss the use of horror element in ‘The Monkey’s Paw’.

i) Comment on the element of suspense in the one-act play ‘The
Professor’.
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P12 [3801]-136
F.Y.B.A.
MATHEMATICS
FMG - | : Industrial Mathematics
(Paper - 1) (2008 Pattern)
Time: 3Hourg| [Max. Marks: 80

Instructions to the candidates:

1) All questions are compulsory.
2) Figurestotheright indicate full marks.
3) Useof calculator isallowed.

Q1) Attempt each of the following: [16]
a) Find the present value at 8% simple interest of Rs. 1200 due in 9 months.
b) Find the simple interest of Rs. 2000 at 5% per annum for 3 years.

c) Find the compound amount of Rs. 3000 for 6 years at 5%.
d) Find xandy intercept of the line 3x—4y=12.
2 5 H dy
e) If y=(4x"-3)(2x )thenflnd&.
. X-3
I :
f)  Evaluate lim N
g) Findthe marginal revenue (MR) function for the total revenue function
TR =65Q - 3Q~
h)  Test whether the function f(x)=3x?-10x+7 iSincreasing or decreasing
at x=1.

02) Attempt any four of the following. [16]

a) Write a note on ‘present value of a debt’ and ‘equation of value’ of an
interest bearing debt.
b) Draw the graph of function f(x) =—X+3.
c) Find the amount and present value of an annuity of Rs. 200 per month

1
for 35 years, if money is worth 6% compounded monthly.

PTO.



d)

Write a note on Promissory Note’s.

e) Discuss the continuity of the function f( x) at x=1,
where f(x)=2x-1, if x<1
= X2, if 1 <X<2.
f)  Find the effective rate r equivalent to the nominal rate 5% compounded
monthly.
03) Attempt any two of the following: [16]
a) Define the following terms.
i)  Slope of straight line.
ii) Derivative of a function at a point.
ii1) Nominal and effective rates of interest.
iv) Ordinary annuities certain.
b) Plot the graph of the curves y*=x and y=x.
Also find their points of intersection.
c) Derive with usual notations,
1+i)" -1 1-@+i)™
LA R
d) Evaluate the following;
. . X=7
D ae
i) mX X2
x—6 X—6 '
04) Attempt any four of the following;: [16]
a) Ifuand v are differentiable functions of x, and y = u.v. then prove
dy dv du
P ou V=
that dx u dx * dx
. : dy
b) For each of the following functions, find —.

[3801]-136

dx
)  y=(6x*+9)".



_5x*+9x+8

oy x*+1

c) Optimize f(x) =2x*-30x* +126x+59.

d) Find average cost (AC) function from the following total cost (TC)
function at Q=3, where TC = 3Q*+7Q+12.

e) Provethat marginal cost (MC) must equal marginal revenue (MR) at the
profit maximizing level of output.

f)  Check whether the following function is concave or convex at X=3.
y =-2x3+4x° +9x-15.

05) Attempt any two of the following: [16]

a) Prove that if f( x) is differentiable at a point x=athen it is continuous
at x=a. s the converse true? Justify.

b)  Given the following total revenue (TR) and total cost (TC) function, maxi-
mize profit z for a firm.
TR = 1400 Q — (7.5)Q%,
TC = Q*-6Q*+140Q+750.

c) Investigate the successive derivatives and evaluate it at x=2, for
y=4x>+5x*-7.

d) Findthe MR functionsfor each of the following demand functions and
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evaluate them at Q=4 and Q=10.
i) Q=36-2PR,
i) 44-4P-Q=0.
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Pr4 [3801]-138
F.Y.B.A.
MATHEMATICS
MG -1 : Algebraand Geometry
(Paper - 1) (2008 Pattern)
Time: 3Hourg] [Max. Marks: 80

Instructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Attempt Each of the following: [16]
a) Iff:R —>Randg:R — Raredefined by f(x) = 2xand g(x) = 3x*-1
then find formulafor gof.

b) Find ¢ (46), where ¢ is Euler’s function.

¢) Find the modulus of (1+i)’.

d) If ‘@’ is a root of polynomial A X) then show that (x — a) is a factor of
f(x).

h b S be directi ' f aline? Justif

e) Canthenumbers NN A Irection cosines of aline? Justify your
answer.

f)  Find the equation of the smallest sphere passing through (2, 1, -1) and
(1, 3,0).

g) Findtheintercepts made by the plane 3x+ 4y +5z= 60 with the coordinate
aXes,

h) Definerank of amatrix.
02) Attempt any Four of the following;: [16]
a) Prove that any two equivalence classes are either identical or disjoint.
b) Iff X — Yand g: Y — Z are bijective functions, then prove that
gof: X— Z is also bijective.

c) Find greatest common divisor of 1357 and 1166 and express it in the
form of 1357m + 1166 n.

d)  Write multiplication table for Z..

PTO.



1 0
e) If|z]=1 and arg (z) = 6 then show that ;Z =i cot (2)
f) By using De Moivre’s theorem find expressions for sin (30) and
cos (30) in powers of sin® and cos6 respectively.
03) Attempt any Two of the following: [16]
a) State and prove division algorithm for integers.
b) State and prove De Moivre’s theorem for integral indices.
c) 1) If the equation x*-x*-8x+12=0has repeated roots then solve it
completely.
ii)  Find the greatest common divisor of polynomials f{ X)= x*-2x*+6x-5
and g(x) = x*—2x +1.
d) 1) Define translation of axes and derive formulae for translation of
axes.
i)  Prove that every first degree equation in X, Y,z represents a plane.
04) Attempt any Four of the following: [16]
IT
a) Ifthe axes are rotated through on angle Zthen find transformed form
of the equation 3x*> —4xy +9=0.
) x—l_y—2:z—3 x—2:y—3:z—4
b)  Show that the lines > 3 4 and — 4 g are coplanar.
c) Find the ratio in which the joint of the points A(2, 5,-1) and B(4, 3, 7) is
divided by plane 2x+ y—z=3.
d) Findtheradiusof thecircle x* + y* + 72 — 4x+6z—3=0,x+ 2y— 2z=17.
e) For what values of . and p the equations x+y+z=6, x+2y+3z=10,
X+2y+iz=p have
i)  no solution.
i)  unique solution.
i)  infinitely many solutions.
f)  Find the equation of sphere whose centre is (-2, 0, 1) and which

[3801]-138

touches the plane 5x - y+ 4z=36.
2



05) Attempt any Two of the following;: [16]

a)
b)

c)

d)

[3801]-138

Reduce the equation 5x* + 6xy + 5y” — 4x+ 4y — 4=0to its standard form.

If direction cosines of two lines are connected by the relations / —m +n =0,
P+ m?- 5n*= 0 then find angle between them.

Find the equation of tangent plane to the sphere x* + y? + 2 + 2gx+ 2fy +c=0
at the point (x,V,,2).

1)  Apply Guass elimination method to solve the following system of
eguations.

X+2y-3z=6
2X—-y+4z=2
4x+3y—-2z=14.

i)  Forwhat valueof A thefollowing matrix isof rank 3?

bR >
e
> PR
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P73 [3801]-137
EY. B.A.
Physical Education

(2008 Course)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Draw neat diagrams wherever necessary.

Q1) Answer the following in 50 words : (Any Two) [10]
1)  Explain Importance of 'Fitness' in sports.
1) Define physical Fitness. Make list the HRPF Factors.

m) Write the duties of any one Kabaddi offical.

02) Write notes on following in 100 words : (Any Four) [20]
1)  Describe the fouls in Kho-Kho.
1)  Write basic skills required in Hand ball.
) Define Yoga. Explain the Importance of Yoga in sports.
1v) Explain the new rules in Athletics.
v)  Describe history and rules Kho-Kho.

vi) Give information about Marathon.

PTO.



03) Answer following in 200-250 words : (Any Three) [30]
1)  Define Phy Edu. Explain the objectives of Phy. Edu.
1) Draw a diagram of Kabaddi ground with measurement.
) Explain effect of exercise on respiratory system.

iv) Draw a diagrame of 'Shot Put' in Athletics and write the Rules of shot
put.

v)  Explain co-relation between Phy.Edu. and Yoga.

04) Answer in 500 words : (Any One) [20]

1)  Draw neat diagram of Hand ball ground with measurement and explain
the foules in Hand ball.

1) Draw neat diagram of Volley ball ground with measurement and explain
the any 10 rules in .

[3801]-137 2
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P73

[3801]-137
EY. B.A.
Physical Education

IR TTeroT
(2008 3T¥TTHHRA)
(TTET TATR)

9% ; 3 am| [wegot 7701 : 80

gEAT: 1) O U9 WISt ST e,
il) SHTRETE 2ieh YUt oT Z9ifaar.
i) STk Ao Yok ITTHd | hIeT.
iv) TWEHTATS! o5 SUSH I9TUT=Ieht UgTa.

97 1. EeAte TerEt 50 e SW AT, (HRIoTaE ) [10]

i) WETe dgesi el 7ged T .
i) IR dgEee SaTEAT BT, ARFATAE AgEEieAT TehTel ATET Tll.
iii) SRIUTATEY TeRT A Ul A TereT.

37 2. @rette geAret (100 srsgma )™ foret. (FivmeEt or) [20]

i) @-w ueiel TS JUE R

i) FUEaTd WBTH I AN hiored foret.

i) TRTTEt ST =M. WA TN Weed T .
iv) stucéammdia T o g =a.

V) -l o 3ae™ 9 HEw auiE ww.

vi) WY 9Ege WiTed! 2.

PTO.



T¥T 3. @reier SyAiEh Tk 200 § 250 vreaia W el (SRIoHe 6) [30]

i)

it)
i)
1v)

V)

e fPreroTht samen =n. s reoneh sfees we w0.

FagE! WABTAT HISHTUTE WITHTITEE ATHAT FHTaT.

A FEASR ATATHTAT TRUTH €I .

Storcieiaameftel Mt theh. AT ST ST, o Mot ek o faw fergr.
vt Rreror @ T Afier Tegsey T w.

T974. @efe aerEt 500 veeia Sw forer. (wIoET ) [20]

i)

it)
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TV WHTAT hISFTUNA HITTHTITHE 3TTHA! FHIET o FUsaiel HLftel TH1E
(Foules) Tug =wt.

EICETA WBTAT ShISTUTE AIHTITEE TThdl HIel.d Eidtaid Hefid
T e =,
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Time: 2 Hourg] [Max. Marks : 40
N.B. : All questions are compulsory.
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P196 [3817]-235
SY.B.Sc. (Sem. - 11)
URDU (General)
(Paper - 11) (New Cour se)
Time: 2Hours) [Total Marks: 40

Instructions::
1) Attempt all questions.
2) Figuresto theleft indicate full marks.
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FY.BA.

R qu HeAT (FSt)

g 7E arewa (G-1)
(2008 w=+)

[ g 7o = 80

YreIgE&deh - i) SAferan

i) wTeaeREga
iii) saTaETies Awat

At ;- ) WS WA A¥EAF ATRA.

i) ITiREler 3 Wy YUl 70T gyitaara.

Go71. ) WIATTUh! STl gF J9Tet 150 ysaia 3w forer. [10]

1)
2)
3)
4)

3T FEETETEt SRIvTeET TUTT STavashaT S 7

HERATH IS Teoh e IS w8 0 § |rm.

THTEHATH FURNT TAR AT SHIVTERIUTT dTa et foaR et eerat ?
FHERATA IS FTHRTY TET HY W, d T

q)  WETATIh! HIUTATE S TeATe 150 Iregia IR Torar. [10]

1)
2)
3)
4)

HIAVTRITTEATS TTEY TIY AT
=t ot T weea faerg .
TR ITCAT TET T H.

P.T.O.



W) WIATAUhT HIVTETE! 34 TeTet 150 veaia 3w ferat. [10]

1)
2)
3)
4)

HATE o1 ST UTHSt EAT.
THRTITATUITEA VU HTAHA TR Het WATd o T,
TS HIRATAEA HAHT hIUTdt TR et ?
AT TeT TIPSR Teeh R ?

Go72. 3T) WIATCTUhI SHIVEATET U TgT=t 20 IaTd 3T ToTal. [5]

)
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1)

2)
3)
4)
5)
6)
7)

TR taTeT TR HIVIHIUTAT ATAHT TSI AR ? 3@ Al
HRTAT.

3 T T vt Ty vy Wk faaarET arear ?

HIUTT VTeaTrawa foaT sEietiaT ST areat ?

IV 58 WSeh ATTATEA JaTd 318 Torar SidieRtiaT ared ?

TR ATATIAT SHIUTd S ARIRT AgHIAvH Sraea™ Wete ?
3oy FTaEE FY RT3 AWH™ Tred ?

T AUFTAT U= STl FETuT SFuaTaTdt aaid 3T 3 hiutdl ?

WTEATAUhT ShIUTTE! UTe Tg-Tet 20 y5aTa 3T Tore. [5]

1)
2)
3)
4)
5)
6)
7)

Faft TA:" TEAT AU’ T TR ?

et FEFAA AT SREATEAT TR T AT TR ?

. TgHRI=AT HAT UT olIeh 38 X T ST 378 7

‘GER’ AT hidddier T T gHUITAT w1 vt SumT feelt oR ?
EET JUTTA JERTSS TS ARl FowaT AT HeTq Adt ?



T¥7 3. ) WIeTAUh! HIUATE Teht TgATa 50 ITegTa 3R ToTaT. [5]
1) YTt [AeEmit STaaeaT dikacheat Hsqul ATeTd WET T .
2) amACIEAT ATl SfveEt AiSaTd Wi,

q) WTATAUh! HIVTEITET Teht TgT™ 50 I16gTa TR feTar. [5]
1) ‘Wl ® o9 a8 TS ATed T FEUTa ?
2) oAt Vias=aTe forsrur s aTue Tt s fefiA et 3T ?

T97 4. Wiefierdeht ‘a1’ oAmfor ‘g’ werdter Ueshl Ueht U9 3T 150 veeia fergr.  [15]
) 1) ‘o o Afwtes WEer.

2) Tt smfur stifeame A=At e ST AT qa 91 (AT TR favrg
AT

F) 1) TEd FTUe T RGBT TUH RITRIA het T2 7
2) EERE AT THT SRATAT TTEThS A3 i SREaEe ATe ?

97 5. WTeAterdeht ‘21’ amTfur ‘&’ et Tedeht Ukt TgaTel 3R 300 Weeia forer.  [15]

1) 1) FHYRAT Weg WA Higd gl WRTad a1 9Tt Tefit Ierrgd
FrEfae e ?

2) ‘A 91 dEdie ATaviia TWEY TE H.

F) 1) T UGG ATAT AR AT Hicd< AT .
2) ‘g g fGd a1 widdd e Heaad! sheudT T .
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YreIgE&deh - i) SAferan

AR O ITATT AST
(2008 Wat) (waizf)

[ wegor 7o = 80

i) AT

AT :- ) WS WA AEA¥EqF ATRA.

i) ITiREier 3 Wy YUl 70T gyifaara.

971, 3N)

WA HIVET UTe ST IS TETET FSTdter uTiATiies sree ferart. [ 5]

1)
2)
3)
4)
5)
6)
7)
8)
9)

Librarian
Kerosene
Seminar
Secretary
Printing
Photographer
Octroi
Outward

Collector

10) Postage

P.T.O.



)

WA IART I[E e Toral. [5]
WERTYE SIS GUEASU, ATRTEaT, g, ATER, ghHERe

UeTeh, HEATASATUT HIHHT TS AUGTT JFATUThS GA hel ATad.

T T ¢ Ueh hRUT AT, ATTEA ISAT 2 Ueh IS HRUT ATAT TS5

WA TeTueht shivreaTat Teht famamer 300 weeia fFaa foret. [10]

1) ‘WSt 3@ AT HEae

2) ToremreraRIgde stee

3) GIUTE : wTBTET TS

To72. A) el faceat g geAtaeh! urer e 3™ 20 veeia foret. [5]
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1) WSt AYHEUTAT AT gF weEs ot
2) Uadt sa AT g Siferd o wagre A fore.
3) ‘“UmTen @@’ 1 WHTE T G IV GEAShTT UaelT TR ?

4) I TUITET AITATETET iV SO STTEY TR, 310 Ared ! fermmagh
TEUTAT 7

5) =i. 99red THIE Tt ATHASTEMT hIUTeT AT S e e ?
6) TR HISTHRIAT ATTATA TTLAT HHTE HITTHES hedl ?

7) ‘ot 7.3, 9T ATEn Al o ST iU SEEUEA et
TR ?



) WAt et 9T Tkt Ut Uyt 3T 20 e foTaT. [5]
1) ‘ohTea HEGH AT RIHGTRTATS FHal HIVAT HITESTH I TR ?

2) oA U Higdgwe 299 gEfaum=at ‘weawegd’ It suemeia
i 1 ferer.

3) T ITET I FENTA ATORTE Fieht AT Rt SHaATe fesor e ?
4) T UGt ATeAT ‘hTeTeREgi] HefteT HIVTE! S shisareit A1d ferer.
5) ‘wreaeheqll wefie wrgstt | € shioat shiutedt shiore oTg ?

6) GTHASTET chech ATSAT HTSTREIL ATeT HIVETE! B Shisare A foret.
7) 3EMA WTeRTE ATeAT RIVEATET §F wreaause A forat.

T97 3. 1) YSITUh! HIVATE! TRt T¥Te 3T 50 vTeama fotar. [5]
1) ‘oI’ YEAhRIH AEhTeT &a oy 3ad ?

2) v IS R AT AISAT ARA ? 3@ IO Hd AT
qred.

q) TTATAUhT THIVTETE TehT T IR 50 vregma ferat. [5]

1) ‘fed o | AEHa g U om oTHE I1ed i T 7

2) JATHAETET HEh ITeAT hiddaieaT IO T AT,

G974, ) WIATAUhT HIUATE Teht T 3R 150 vrega fotar. [10]
1) ATHWIER J Hel AT Wg TIaT FEHTHT HHT TAY HAT TR ?

2) ‘TEa 91 orEd et wiegiel It ShivedT STTeauit HifraedT
TR ?
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YRRl VTS TahRt WeATR 37R 150 vieaid feret. [10]
1) ‘wyrETET A1 qEA FTUETEAT SHiddqd EE AT HAT T aav ?

2) ‘"ol gt oI WHH AT Shidaqy wio™ AEAE SEeet T1d Y T
A 3TE 7

&I 3 TITUehT hIUTeATET UehT T9-TRl 3T 300 vTsgTa fergt. [10]
1) ‘“YmTen WiE a1 AW TehededT g IRTEaeaT st s
T AT

2) ‘TSt TaMYTAT e qaaal Hed AR, 39 TNl WA i TR 7
WTATA TATUhT HIUTeATET TehT TgATe IR 300 vIegia feTet. [10]

1) ‘wreawEgit € STHE ATEATEAT [T TTHIUT SITWATIYS 8 Tehe
T 3118 ?

2) ‘weawEll A WA UGSl hiddaiqd S eardl JATuia it
Tehed 7
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Instructions::
1) All questions are compulsory.
2) Figuresto theleft indicate full marks.
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Total No. of Questions : 4] [Total No. of Pages : 2

P445 [3801]-152
F.Y. B.A. (Vocational Course)
SOIL CONSERVATION - 1
Paper - I (Theory)
(2008 Pattern)
Time : 2 Hours] [Max. Marks :60

Instructions to the candidates :

1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Draw neat diagrams wherever necessary.
Q1) Answer the following questions. [14]
a) What are the deficiency symptoms of boran?
b) What are the agroclimatic zones of Maharashtra?
c) What is physical Soil weathering?
d) What is Soil productivity?
e) What is Soil texture?
f)  Which are the essential plant nutrients?
g) What is electrical conductivity of Soil?
02) a) Define minerals. Classify than with suitable examples. [5]
b) What are the Soil organism? Give the importance of Soil organism.[5]

P.T.O.



Q3) a) Give the nutrient deficiency symptoms of calcium, magnessium &
sulphur. [8]
b) Define organic matter. Explain the effects of organic matter on Soil.[8]
04) a) What is Soil erosion? Explain the types of Soil erosion. [10]
b) What is Soil fertility? Explain the factors affecting Soil fertility. [10]
EEE
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Total No. of Questions : 4] [Total No. of Pages : 2

P445

9% : 2 1|
geAr :— 1) @d T97 @IS0t SITaveres 3imed.

[3801]-152
F.Y. B.A. (Vocational Course)

HS HLROT — |
guR -1 (Theory)
(2008 Pattern)
HRTST HUTAR
[ 7 : 60

2) ITHIHSIT 3k QUT JUT FI1AAT.
3) orTEvEE 9 gad HTFHET HIET.
4) TEITATST s ST TITIIAHT GTETal.

57 1)

9 2)

et oAt I forat. [14]

a)
b)
c)
d)
e)
f)

2)

b)

FRIAAT HHATA &0 ToTeT.
TERTITE EaTHH T9mT shiurd ?

Sttt sitfaes wRETgS ST B U w1 ?
el SeaTgehdT TEUTS T ?

ST T RS T ?

TATIATE AWM STeATAIAE STAFE hIUT ?
wferfreft forgpa ameshan EUTt @ ?

WS WU i ? WA TR ISTEIUTEE aifietur forgr. [5]

A Geu ] Fivrd ? AEAId e el e v fawg .
5]

P.T.O.
3



A 3)  a)
b)
a1 4) a)
b)

[3801]-152

THTCITEH, WATITEW STTIUT Tiereh AT STHSSATEAT Shuatael oieror forar.  [8]
aTfe forer. 8]
ST gu e wT ? AiEAreaT guiean SR wifgdt foer. [10]

FTHTt GiUhal FUTS el ? ST a1 U Tehda) UNUTTH SHIuTT=IT geehiet
Trfedt forar. [10]



Total No. of Questions : 4] [Total No. of Pages : 2
P446 [3801]-156
F.Y. B.A. (Vocational Course)
WATER MANAGEMENT-II
Paper - II (Theory) (2008 Pattern)

Time : 2 Hours] [Max. Marks : 60
Instructions to the candidates :

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Draw neat diagrams wherever necessary.

Q1) Answer the following questions. [14]
a) What is ground water?
b) What is evaporation?
c¢) What do you mean by hydrology?
d) What is precipitation?
e) What is permanent wilting point?
f)  What is runoff?

g) What is surface irrigation?

02) a) Describe the advantages of sprinkler irrigation? [5]

b) Describe the methods of irrigation? [5]

P.T.O.



Q3) a) Explain the hydrological cycle. [8]
OR
Describe the hydrograph.

b) Describe the major components of drip irrigation? [8]

04) a) Whatis sprinkler irrigation? Give its advantages and disadvantages.[10]

b) Describe the major sources of water to crop plants. [10]
EEE
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Total No. of Questions : 4] [Total No. of Pages : 2

P446

% 12 AT
geAar :— 1) @ I97 QISTavl 3Tayaes SiTed.

[3801]-156
F.Y. B.A. (Vocational Course)

a1t g=ATaA - 11
U9 —11I (Theory) (2008 U+)

ARTST BUTAR
[wegoT o - 60

57 1)

9 2)

Qrefter Tyt 3w forar. [14]

TR e et wae ot [5]
e fafay ugdi=h wiied! forar. [5]

P.T.O.



I 3)  a)
b)
s 4)  a)
b)

[3801]-156

STTerehT= T ATfEd fetat.
TeRam
ATAET AT foTaT.

TUR Foem U wE? guR fen wEe 3 e o

8]

[8]

[10]

[10]



Total No. of Questions: 4]

[Total No. of Pages: 2

P46 [3801]-107
F.Y.BA.

URDU GENERAL - |
(2008 Pattern)

Time: 3Hours]

Instructions::
1) All questions are compulsory.

[Total Marks: 80

2) Figuresto theleft indicate full marks.
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Total No. of Questions: 5] [Total No. of Pages: 4
P48 [3801] - 111
e a drfgea (F.Y.B.A))
HINDI - GENERAL -1
& ar=a-1
(2008 Pattern)
g : 3 e | [ gutfes : 80
UISIqRIh 1 i) TG
BTIBTY] TIIeH — S, GYIGGHIY G
i) PregEeagT -
BTIBTY] TqIeH — ST, GYIGHIY o
N ;i) @ geT sAard &
i) gt aniv fere a7 meT & qurias &/

gy7 1)) FrafoRaa arfafus seat @ @ foigl @R & & wata foRau - [4]
1) Agenda
2) Casud
3) Effective
4) Grant
5 Parttime
6) Tour

@) FafoRen & @ forrdt 21 vreagmi ot s1ed aaTeR 3R aTeE § s R | [4)
1) femm - <fen
2) s@-3H
3) Wed - oA
4) WM-W

P.T.O.



)

997 2) )

[3801]-111

Frafolaa 4 @ fedi o it arfergi &t ae Tt & IR TEART

forfu  fofau . [4]
1) 99 4) 25-7=18

2) 19 5) 18.2

3) 35% 6) 4x5=20

Fraforfas @ 9 et v fowg R waw (amege) dar ik | [4]

1) /A aa gt o el WETiaenerd | &4t sTeaTush ug 2 JehTira
forsTum & ST W TN d9R AT/ € |

2) g wifdh Iy foaaTe fagmue & sreties § Taew d9R St € |

Freaferfaa & & foret tes =it oY Teaer wReRt ITeRT TET FAR AR | [4]

1) et Tk Udiada g% | win gue (feute giwe) & forn o=t &t ueaw
TR THHRT AT AR hHITTT |

2) T fAWT | U8 AN S WHSTTE shl Ui Tl WTeht SHEhT AT R
SHINTT |

FrafeRaa eraawon @ @ foret ves eraaon i aoed srET fitw ) [5]

1) “‘aErEl EH A AT W T o Toh SERT ETe o1 T SR AR HHIed -
quTerd ot A= iR’

2) ‘‘afe croe STERE™ STTET 9 9gI a1 S AehdT §, 3R a8 ot sta an
T 3T AT @ A =t o I@reh hl FIfreht @ied 8 ot dehai 8 1
FrafeRaa eraawon @ @ foret ves eraaon i aoed srET fitw ) [5]
1) “‘graar, e wE-gea i ama |
# @t § v - e |, sfaamaa w1
2) “ya R geH-=9 w4,
Ta iR &N,
AT hl ST H SR
g-faa it :w,

T St FEe e



gy73) &) Trafelas d@ @ frd s ufi=ss =1 e faerE @ areem fifsm | [5]

1)

2)

39 UER | o7 § 9d FS T8 ¢ | &7 h YT a1 agd wA TRl A
B Sl T B | WO T 3fdem TEd ® A Az Tl gar § foe Rl
T SUTEAT a8, Rreh foru ew erfe fosm o &t G a2, R
T AT T o foTe g ot XE o TR forg aemeRt @2 & 2,
IEH EUIT HAA H 01 TG0 T ot ot | afew =i 0@ ™
fora 9 feht wemn 20 wud @ arfire Yo wwe € | R @ %
S 1 3TTT AT ®UAT TEIAT &, ITh! ATTST KA §3 ¢ | A T
Tt YT 8, W g T I SUTHAT AT T8 FHaT | o | o g A
¥, i sraa Sftam it erfia s wwg o= A w1 uite
fr e

1Tt ok ot o ° =i TeT &1 hiE T TE 8 TR 7 39 &g
weed T STt B | g wegid € E ofR i @ way agd @ R
3R HIST T AT AT | THHT HRUT TET 9T foh AT *T Th TR W
forvama gam weaT ot | TE R i gEaq o 9 3R 38 W WE w
& | I & it TUqg ged SR Tavawa aHeraT o | & &1 9r &
e W e U UST T o7 | TE R B & 19 el SATI@TNeR
T TE AT | U8 o T5 FS Toh UGT o1 TATTET AT AT ITH AL TIeHh
way o 21 St ar | o o fem U wet o forernfet @t
Torerent o water ® THT WER ATd UG i fuerdt @ Tor gea Rawt gt s
2 | T AHe U @Rt HifeTeh ShRUT TIE 3T W &= 7 AT |

@) FfoRad geeril § | fhedl ura geTami o1 areii § T it [5]

[3801]-111

1)
2)
3)
4)
5)
6)
7)

ATHRTIT-UTATA Teh AT |
TS HE IETSAT |
WER TRA T |

BTAT Bicheht e |
S[foat wresh T |

Tl Wee HET |

gt T H g T |



gy74) %) Fefofaa & @ fordi a7 wwat & s forRag | [15]
1) <1 HATHRI | I FHATRR i 8 ? AR T ?
2) g aam e FE % g SR e i AfdehTeashaT T i |
3) UTHT HhE AT fEETE 3 W @k Shi FT ATATRAT 8 7
4) EfEn wTeRt w1 ARATHRA T |
5) ot wifeea & witres & foawar & gavisit o wfafwran 3 € 7

@) Fefoiaa & @ feel a7 aoat o s forfRaw | [15]
1) ‘gem-glaent wiaar d fufym ven it foxg ae T it |
2) ‘e HEpT TE Y wi goes i e @ ?
3) Himatg 7 yfHeht 3R VAT o §: T hI fhA TE TR AR TTE ?

4) ‘gerE &1 wfdat § dewied e Ter faba gen # ? ww
whiferg |

5) ‘srgicter ehferat st wramed forRam |
g975) FafoRaa & @ e v o w Fay fefau | [10]
1) oEadT fY ATyt |
2) TR e |

3) = Hregwi | &t o T |

0000
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Total No. of Questions: 5] [Total No. of Pages: 4
P48 [3801] - 111
gH g oerr (F.Y. B.A)

aF= &4 (G-1)

RIS faal (Functional Hindi)
(2008 Pattern) (dofcas)
g : 3 E] [gutfe : 80
AN - i) @ geT sAard &
i) 3o7 & a1z’ 3jiv for@ 3ie meT @ quiias &1

go71) 1) TrateRaa st urfiatfys vegl o @ el ate wiset & Rt wata

ferfag [8]
1) Acceptance 6) Form

2) Arrears 7) Important

3) Bond 8) Manager

4) Contract 9) Motion

5) Draft 10) Pay Order

a1) Frfoiad st | @ fohrgl ©: STt i W Ja-t o STIR W I[EY Hleh
T v fofau | [6]

1) GO o o w e

2) W FAAT S URET |

3) R THETE Ea )

4) <hedl ST W ST 2 |

5) wfew Tafed Hg-d st o |
6) aTeTR T W H A FaIAT |

7) T g )

8) T Y wEH! TGt WAt ot |

P.T.O.



3) frafelas 4 a el B g siwet qen Rt ® amew B ad+t &

FIER vIeat | fofaw [6]
1) 48 5) 14x6=84
2) 8% 6) 32+99 =131
3) 67% 7) 99-37=62
4) 18.49 8) 7+35=5
o7 2) FrafeRaa o=t ® | foRedi 31 Ul o IR dOR IR ¢ [10]

1) = /fe #gar, 340 ARE, MEHETR € WETUR, STEHETR TR-T4H,
TEHEATR 1 37U TATH | Tgd I TguUT shl Tt & Ged § Frermdi-u=
forar /foradt 2 1

2) wua /At v, 504, HEOER, WETEHTIATE 7R, TRTYR | W /A uTed,
TZUTR, AT o A4 Tier /aget &t fohehe &= <@ & foru Fesor-us
Tt/ ATt B |

3) /@ yaR, Fifd AT, higEg, YU @ AR, EURA W,
gag & T meamaw’ ug & foru srmae e foreat/ foredt 2 |

4) e /aRat T, Te 9w Hia, WYY UL, TTETE | wicgy Hawt
U I WTE R TITY Y TUTE o4 U AT —ua feremt/forert 2 |

g973) 1) Frfeien uiess &1 twh-TaeE weal # OR-A@ (Hadur) & 39 sta
virder Aifm - [6]
qifeed AHa 7 i et wre— wrerte i stfseate 7 g,
ITH IFh! FAater AT IR AT § | 7 ! GoATHER TR ATfeed
fafae it 4 wegpla 2t 7 | om: wilee =1 e Afasayut o= = 7, 9
IU™, e, widar, Faer, qreew, ATe=ET 3.0 | AT iy o= farement
ST AT | ATech AT | 3R S(1aA oh STcdd ke shi T8 § | ATk W THT
% AT R ATATRNS OTd-Tfdomdl T 3ieha IATEYUl &9 | 2T 2 |
zufere aa w1 6t fafaa ghen i e same w@aret s @ aafese |
qTeeh TR HAIATH T T e 2 |

[3801]-111(Opt.) -2-



a1) Ffeiaa fowat 4 @ et we fawa &t drom seuaT-famar fifse . [6]
1) o= S| a0 vy TE 2 |
2) WAATARI

go74) 31) fefofaa & @ fet 31 fomat w oo w6 daw i - [6]
1) et wel | ol IWiig wuet it geviAl |
2) wwm # st e T B ww
3)  for & aTer W Y e TR wE |
4) 319 IR /o YAk Ui |

a1) FeaferRaa siast storan wuEt uftess &1 B @ ergare ik | [6]

There are many who fear that in the long run computers will
control and replace man. They envision man becoming a slave to
computers. There is, however, no basis for this imaginary fear. Any
computer, however, sophisticated, will require a human being to
operate it. Like Aladdin’s genie, the computer is man’s modern
miracle and it does only what it is commanded to do. It isup to usto
use it judiciously for the well being of mankind in general.

L EL

FIAVIEET, TR HIUTETER dTET TSl o AU AT 98, 319t
TEIA: AT HRICUER WA TCAT SRIVTATET TR AT, ST AT TR TATE T
FTR FAOITETET HHATEE TS 3@ (AT ). g1 WIOMETET 7g49d dah
APE AT TATTERET 3R, ATV a1 WHATHT AT OE UTed hiXd STEal.
AT HHE AT HedTuTETe! e Tt ATHAIH SUHT 0 8 SATuedTe
T TR,

[3801]-111(Opt.) -3-



gg75) @) freafoRaa ergedt aei # | foredl 31 & s forfam -

1)
2)
3)
4)

T &t il eavarshaT AuWeTst |
AT fetfir =T atef THE §U HEed W TehToT STfeTt |
T AE@H & TR ferfau |

AJATESH oh heed FATSe |

a7) Frerforfam forweit # & fredl SR fevaforat forfa -

1)
2)
3)
4)
5)
6)

[3801]-111(Opt.)

AR @@ (TQUUT) & T |

TAATHT HTUAHRRT & HAeA |
ATATE & TR |

FAEUR T TWE |

HTHAT T ATAFR |

TS T5a iR Aigfeas T § ofav |

0000
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Total No. of Questions: 4] [Total No. of Pages: 2

P49 [3801]-112
F.Y.B.A.
PERSIAN

(General Paper - 1) (2008 Pattern)

Time: 3Hours) [Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figuresto theright indicate full marks.
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Total No. of Questions: 4] [Total No. of Pages: 3

P50 [3801]-113
F.Y.BA.

WEHA (SANSKRIT) (G-1)

‘g‘(ﬂﬂ?ﬁ (Surabharati)

(2008 Pattern)

A% : 3] [ wegur 3ot : 60
Time: 3Hours] [Max. Marks: 60

et - i) @d TvT A,
All questions are compulsory.
i) swatskeler s7e quf or Fifaara.
Figuresto theright indicate full marks.

Q1) ‘& arfur ‘@ AU Th! RV SR SUSIa fehdT ARSI WTSTaR .

From ‘A’ & ‘B’ Sections translate each two into English or Marathi. [20]

&1 - faamr / Section - A

i) NY T ATHTCH 3 T SYAGHAA o HIcATEA o | a8 B! Taranet
T | BATHS a8 wearE= | A AT ISAGATATR ST 11211

e g aTeee: | T a1 SRSEUENT TAFTEEN | g asaaT
HTITITS HIETONT 11211
i) sEEar - 39 gatafgfeamata | seamieat waw sfa
AT - od R aueRuiEiaas aavad: Tty 9mud |

IEEAT - qT
Tgus - (I faetie™) watd, Siag a1 a a1 | I70aT Eyard 9auH- dSug
qE |

Tt - daigya | (st fogee: TdEi =)

P.T.O.



iii) |TIE - Wi, OAT TTeTeh ST THIA Hedl 9 sTATA: |
AEE HAHA SATUTEITH | 3o o —
Mhed A9 e UUTeATISTY Tfeerd |
T 9 Hed URATSIHY o |91 1|
TETATE 419 YA aiaeafa scaqadan aufy e wi givme |

= - faumr / Section - B

ii) gE R g@mgyE e
TATURRIET Suesiay |
@y At grfd W/ i
g YIORUT a: | S ||
iii) =N geufiegafs @ediy
3= wafafa wgew agf= |
25 freca 3% deuHTCHITERAT
T Fa fe 7 Freafa wisT gm0

Q2) ‘& snfor ‘@ VTR TAHT HIVATE UehTal WEHaH TIFTRI0T . [10]

Explain with reference to context any one from each section ‘A’ & ‘B’.
a1 - fSam / Section - A

i) JUTHR! TEREEH Y UEET 0T 39 |

ii) e FA AT T T T |
=« - 3w / Section - B

i) wesenfu & wic aeragat s wew w9 |
ii) I 96T Aok AadTd WIgad |
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Q3) ‘3’ anfuor ‘T FAURTTHI TRl HRIVIATE Teht T T SR forer. [20]

Write answers to any one from each section ‘A’ and ‘B’.

&1 - faamr / Section - A

i) wETtET foEmrE T .
Explain the learning by Candrapida.

ii) S 9 AW UATETEA HifeeaTd TOaR foreT.

Write Kautilya’s views on the distributions of loans and gifts.

a - faumr / Section - B

i) W RIS % A O TUEETYERTY Hew fave .
State what is a Stotra and bring out the importance of the Pandurangastakam.
i) ‘RasRETE: a1 uTeT TURT .

Appreciate the lesson ‘Bharataviraprasastih’.

Q4) U3 SaTaTd FUST AT WS AT Tl [10]
Translate into English or Marathi the following passage.
WWWW:H#W:IWW:@:W:W@W
Frum gu: | awgf: T fiew: wuiE 3% <gE o | T R wut:
HAWFY qT: AAT: 3T¥EA | Toheq FUME ITAUET HIRR0T 7™ IR TeATierad | aat
TTRA: |: 98 AT T Afoma: T WIATAT SIS TaH: | HUTH U, AHeTH
e AT erETiuT Tt Wit e watfor e & fomfeata )’

00040
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Total No. of Questions: 5] [Total No. of Pages: 3
P51 [3801]-114
F.Y.B.A. (2008 Pattern)
Ardhamagadhi - Prakrit
G-1: UTehd TTRI-U=I 99 &. 5
Time: 3Hours) [Max. Marks: 60

N.B.:- 1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Trandlate into English or Marathi any two from A and any two from B.[12]
‘A’ TYH HIUCATE SR AT ' B’ WA v el SrEie aliet et Ui WAiNiat

<hIT.

[A] 1) <= Erfam W@ B feargn | aue g wEeEmn, 2|, w T
ders | afmay, 7w | AT ° Sawey | fafresT setfasig @g 1 9 ®
gftaen-ufeTr wifd | 4fE & If-udia
TEnTs weut fareradt gon fr =, gaER, o fommon ) worg feRfe
qeM & Aiesia d ded hRg |

i) weafear S@HON AT TR | aF gaT R | |1 v ateaTenet dRev
arferat ST gHT gfemwmte aeat | | shemwr=iamn st v
Sfifoa—grrmt 7t gUsor gF |Tee™™® geigell | qe7l ST=a —§a -g &
AU - ATV -FAT- R0 WIRAT 7T TS0 AHLIAT ¢ o
FEHURRT |

i) = e wrafed | U @ aeEHiE | ufgen ey | giewen ‘wen R gE 1’
quT TETaN wigd | favregsss = uafersgor wive, ““uard, o faereeh
ara-ffeaa@am urageHTmsen | a1 wi # fasm srgrmauter vetet 1
Jagiur {3 o - Rregeagau wiird 3ot @ fasmmeurem | faeferdon
gt g fifeme 2 |

PT.O.



[B] 1)

i

arfesr wETaE - FEauTEl R SerRp aed |
33 M —TARI § TTH e = 1|
THTREH id-Tgal fcdl Fapst Tarnl |
e et 91ee wwE-ufey = st |

T {0l WIUEET™ — g —ERT |

TETE gqRE o wfirg ‘=t 36 o= 1)

I g9t U AT 37T Sahfoen,”” aet wivrg |
AU TaEToT AReY WH ARG WOTTH FST |

TEET g 33 T YU U1 W-EH A |
Al HSUTHTET RI0T Hed — W EuE ||
g -3 - GATETH 3Ed FFhUT T—UENT |
I TATH q< YR THTAd TR |

Q2) Explain with reference to context any one from ‘A’ and any one from ‘B’.

[8]

‘A’ TYT HIVTETE TehTel AT ' B’ AT RIS TehTe T TSRO ol

[A] 1)
i)
i

[B] 1)

[3801]-114

JTUETT oS A U7 UeH Tg1ag |l a8 &1 gAUUHET 3 |
1 HY WTasied 36 g0 IS0 9 SETEi Wi |
‘e, Tagt AU TR —da —a% - FHgwTT |

wrer wurg “‘mu wiE, gaon Rgremsua w=”’
“3efg vy A el

ST qUT 7 UtEs W AT 93 6 i |



Q3) Critically evaluate zautesrzt and explain the moral of the story.
‘TauTeTRET o Terfehedeh URISTUT ST STTIUT kel ATede €U . [15]

OR / Tt

“Greed is the most dangerous thing in this world” — Explain with the help
of ergY e forerfer .

TN FIT AT TIa LRTER—h M 3R — ¢ faam™ ‘eret o e’ an
TSATHT ITUN AT 0.

Q4) Critically appreciate ‘“wiqon urionaeht 51 . [15]
“wferoTt uTRUTTHERT FF AT gSaTel foaee Tt .

OR / Tt

Give the account of the T@=rR of 3.
HTEIT TS I .

Q5) Give notes on any one from ‘A’ and any one from ‘B’. [10]

[A] i) Chalange of &=
HaTe O

i) Vaour of avwes
FWESTATAT WIhH

[B] i) vuemTe’'sstory
TATITETR AT

i) srgaTEEn

0000
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Total No. of Questions: 4] [Total No. of Pages: 4

P53 [3801]-116
F.Y.B.A.
ARABIC (Gen.- 1)

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
N.B. : All questions are compulsory.
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Total No. of Questions: 4] [Total No. of Pages: 2
PS4 [3801]-117

F.Y.B.A.

ECONOMICS
G-I : Indian Economy
(Revised Syllabus from June 2008)

Time: 3Hours) [Max. Marks: 80

Instructions::
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Answer the following questions in 50 words each. (any two) [10]
1)  Explain the concept of Per Capita Income.
i)  What is sex ratio of Population?
i) State the meaning of Multinational Corporation.

iv) State the water resources in Maharashtra.

Q2) Write notes in 100 words each. (any four) [20]
i)  Human Development Index.
i) Special Economic Zone (SEZ).
i) Quality of Population.
iv) Industrial Disputes.
v) Economic Planning.

vi) Cropping pattern in Maharashtra.

P.T.O.



Q3) Answer the following questions in 200-250 words each. (any three) [30]
1)  State the difficulties in measuring national income.
i) Explain the achievements and failures of Green Revolution.
i) Explain the features of Industrial Labour.
iv) State the objectives of 11t" Five Year Plan.

v) Explain the progress of co-operation movement in Maharashtra.
Q4) Answer the following questions in 500 words each. (any one) [20]
1)  Explain the characteristics of Indian Economy.

i) Explain the Industrial policy since 1991.

0000
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Total No. of Questions: 4] [Total No. of Pages: 2

P54

[3801]-117
F.Y.B.A.

3T2A =T
G-1: YR 3refegazen

(FURIT MIARIHH S 2008)
RIST HUAER

9% : 3q| [ wegoT 70T : 80

geAT:— 1) &d 97 Gisiavt JTaeae HTed.
2) ITIHESIT ik QU T FIIIAT.
3) @FylaIs? gez sU FTalAHT UETaT.

757 1)

3797 2)

WTeAter gt edeht 50 vrsaia 3w forer. (wivraet &) [10]
i) TSIE IcUATE WeheUAT TIE .

i) AIREEARTe S—TEW THTU TR T ?

i) =g wEweeT e |,

V) WENES SordTeE ST 9.

et 100 vrsata feur ferer. (wioreas =m) [20]
) ETe R e

i) fomwiw entidfes &= (V3T)

i) iR TuTE

iv) oftenfires weTe

v) orfeie e

Vi) WEREE Ui AT

P.T.O.



973)  @refter gt Teareht 200 @ 250 vieeta I feret. (Hivrgt ) [30]
i) EE STaETeAT AT STSEUi 9.
i) R AU T .
iii) afrenfies wmETRI= Jfves Tog *.
iv) 11 =1 guaties Tt Sfeve g
V) WERTZHIE HEehil Tae el Wt T8 .

gy74) @t gt gt 500 vreeia S forer. (RiumaTet uw) [20]
i) YRAE sTefeaawdt IfvTees TUY w.

i) 1991 urgA= TRk &RUT Y .

0000
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Total No. of Questions: 4] [Total No. of Pages: 2
PS4 [3801]-117

F.Y.B.A.

ECONOMICS
G-I : Agricultural Economics

(Revised Syllabus from June 2008)
Time: 3Hourg) [Max. Marks: 80

Instructions::
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Answer the following questions in 50 words each. (any two) [10]
i)  State the importance of Agricultural Economics.
i) Explain the concept of Live Stock Management.
iii) State the Traditional Method’s of Irrigation Systems.

iv) What are the functions of W.T.O.?

Q2) Write notes - in 100 words each. (any four) [20]
i)  Environmental Problems.
i) Bio-Technology.
i) Self Help Group.
iv) Contract Farming.
v) Agricultural Subsides.

vi) Model Act of Agricultural Marketing.

P.T.O.



Q3) Answer the following questions in 200-250 words each. (any three) [30]
i)  State the problems of Agricultura Marketing.
i) State and explain Green Revolution.
i) Explain the nature and scope of E.G.S.
iv) State & explain the methods of Agricultural Pricing.

v) Explain the objectives and Administration of W.T.O.

Q4) Answer the following questions in 500 words each. (any one) [20]
1)  Explain the characteristics of Agricultural Labour.

i) State the causes of Less Agricultural Productivity in India and suggest
the measures.

0000
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P54

[3801]-117
F.Y.B.A.

3refem=
G- : YT fefeTazen

(FURIT MIARIHH S 2008)
RIST HUAER

9% : 3q| [ wegoT 70T : 80

geAT:— 1) &d 97 Gisiavt JTaeae HTed.
2) ITIHESIT ik QU T FIIIAT.
3) @FylaIs? gez sU FTalAHT UETaT.

757 1)

3797 2)

WAt TeATelt Tedeht 50 vreaia St forer. (wivraEt 3m) [10]
) e StV wE |

i) uyEA sFaEeTuATE HeheuAt favTg .

iii) e fremTsaT uruTie agdt g,

iV) SrTfoeh SaTUR Sl ®rE wivrt ?

wereht 100 vreera feut feret. (wivrast wm) [20]
) et wEE

i) Sa—de

i) ¥ ggrRadt aqg

V) SR S

V) T erEe

vi) &t ot foaoum ufaam wwren

P.T.O.



gv73)  wrelter g e 200 A 250 vreEia I . (HuEe €9) [30]
i) auter forourTel THe a.
i) wRashTdt TETT TIOT TUY AT,
i) TR gHt TN TWEY 9 STt fawre &,
iv) viaate feRaet FraRomet uga @ 9 T w1,
V) SmTfae SR wuea 3fEvest @ werea fervre @

g974) @t gt gt 500 vreeia S forer. (RiumaTet uw) [20]
i) vl afvre afar foweg w0,

i) YRATATS WeTel IcuTeehdl hHT STHTATET HRUT AT F TR AT AT
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Total No. of Questions : 4] [Total No. of Pages : 2
P55 [3801]-118

F.Y. B.A.

POLITICS (Political Science)
(General Paper - 1)
Government and Politics of Maharashtra
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions (In 50 words each) : [10]
a) Industrial policy of Maharashtra.
b) Maharashtra - Karnataka Border Issue.
c) State Women Commission.

d) Role of Speaker in Vidhan Sabha.

02) Attempt any four questions (In 100 words each) : [20]
a) Executive powers of Governer.
b) Importance of Gram Sabha.
c) Reason's of Split in R.P.I.
d) 74" Constitutional Amendment .
e) Nationalist Congress Party.

f)  State Election Commission.

P.T.O.



03) Attempt any three questions (In 250 words each) : [30]
a) Explain the Agriculture Policy of Maharashtra.
b) Explain the importance of 1995 Vidhan Sabha Election.
c) Explain the role and functions of the Council of Ministers.
d) Examine the demand of separate ' Vidarbha' State.
e) Explain the role of Co-operative Movement in Maharashtra.

f)  State the importance of 1999 Vidhan Sabha Election.

04) Attempt any one question (In 500 words each) : [20]

a) Explain the contribution of Samyukta Maharashtra Samiti in the
formation of Maharashtra.

b) Write an essay on performance of Congress Party in the politics of
Maharashtra.

[3801]-118 -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P55 [3801]-118

F.Y. B.A.
ASALARA
G-1: TERTETA TH IO ASTHIROT
(2008 ue+t)
RIS BUTAR
e : 3 A | [wegoT U1 : 80

geAr - 1) @d 97 QIslavr sTaves 3ed.
2) IwAIHSIT 37k QUi T FIfAATA.
3) TewIgrst ges 3Tt TITalAHT TETal.

o7 1) TTArTdh HIvHE g T3 |iEaT. (Tt 50 Ireaia) [10]
a) WERIM 3irenfre et
b) WERg-TATew HHT TH.
c) TS AREAT STRIR.
d) TrumaSde a9t T

T¥72) WU RIVAE TR T39 dieat. (Tt 100 yreeia) [20]
a) TSAUTATS HEHR AR,
b) wHEYY wEE.
c) Tufscrer verdier g wwot.
d) 74 &t gear gEwd.
e) FATE HIUT ULl .
T Freewm s,

P.T.O.



T973) WIAAdh] BIUME dF IvH drear. (Tersht 250 vregia)

a)
b)
©)
d)
e)
f)

HEWET 9t foreeres o ¥9g &

1995= faumasT FasuEhia weea T &.
waa gt TSATeAT ARTUter uRierur .
TENTITATA AR R BB kT TP *0.

1999 =t fagmast Fasuhia wew 9.

T374) TWTATTUh! HRIVETE Uk T9 AigaT. (Trsht 500 yreera)

a) WENTY TSATAl HiHd Wy Oga WENTg Oiidid JrTEH T8 .
b) FERTIET=AT TN FHEH GTT=AT SRR e o,

[3801]-118

[30]

[20]



Total No. of Questions : 4] [Total No. of Pages : 2
P55 [3801]-118
F.Y. B.A.

POLITICS (Political Science)
(General Paper - 1)

Social and Political Movements in Modern Maharashtra
(2008 Pattern) (Optional)

Time : 3 Hours| [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions (In 50 words each) : [10]
a) Non-Brahmin Movement.
b) Issue of Bombay.
c) Tribal Movement.

d) Anti-ligor Movement.

02) Attempt any four questions (In 100 words each) : [20]
a) Religious Reform Movement.
b) Satyashodhak Movement.
c) Dalit Movement.
d) Sugar cane price Issue
e) Devdasi Movement

f)  Leftist Labour Movement.

P.T.O.



03) Attempt any three questions (In 250 words each) : [30]
a) Leadership in Reform Movement.
b) Leadership of shetkari gangatana.
c) Contribution of Satyashodhak Samaj.
d) Landless Labour's Movement.

e) Issue of remunerative prices for Agricultural Product.
04) Attempt any one question (In 500 words each) : [20]

a) Explain the role of Justice M.G.Ranade in Social Reform Movement.

b) Write an essay on Farmers Movement under-the Leadership of Mr.
Sharad Joshi.

[3801]-118 (Opt.) -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P55 [3801]-118

F.Y. B.A.

RISYRTHA
G - 1: MY AERTEIATA ARG T IASTHIT TSI
(2008 Pattern) (Optional)
RIS wUATAR
e : 3 A | [wegoT U1 : 80
Jeqr - 1)  qd 97 GISlar STavere 1.

2)  SwEiEmEoT sie quf o FPiAET.
3) Tewigrst ges 3Tt TITalAHT TETEl.

o7 1) TTArTdh HIvHE g T3 |iEaT. (Tt 50 Ireaia) [10]
a) TTEURR IBAB.
b) wags wwe.
c) ATl TBAE.
d) Iweda@as.

T¥72) WU RIVAE TR T99 dieat. (TdhT 100 yreeia) [20]
a) e GUNUNT A59%.
b) wEINYR ABAB.
¢) Tl a%as.
d) =@ el wwen (ga)
e) ISl T%aS.
f) =t weR T@ae.

P.T.O.
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Total No. of Questions : 4] [Total No. of Pages : 2
P56 [3801]-119
F.Y. B.A.
HISTORY
WORLD AFTER WORLD WAR -1 (1918-1992)
(General Paper - I) (2008 Course)(New Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each (any two): [10]
i)  Write the meaning of ' Dictatorship .
ii)) Define the concept ' cold War'.
iii)) What is the 'Great Depression'.

iv) Define the concept 'Globalization'.

Q2) Write short notes in 100 words each (any four): [20]
1)  Objectives of the League of Nations.
i1)  Mussolini.
iii) Dr. Sun-yat-Sen.
iv) SAARC.
v) New Deal.
vi) Mikhail Gorbachev.

03) Answer the following questions in 250 words each (any three): [30]
i)  Write the consequences of the world war .
i1)) Explain the role of Mahatma Gandhi in Indian National Movement.
iii) Define the Concept of Non-alignment Movement. Explain its nature.
iv) Write the Causes of Great Depression.

v) Explain the New Economic policy of Lenin.

P.T.O.



04) Answer the following question in 500 words (any one): [20]
i)  Analyse the Causes and consequences of the world war II.

i)  Define the term 'Environment'. Discuss the Various types of Environmental
Issuses.
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Total No. of Questions : 4] [Total No. of Pages : 2

P56 [3801]-119
F.Y. B.A.
HISTORY

WORLD AFTER WORLD WAR -1 (1918-1992)

(AT 99R - 1) (2008 Course)
HRTST BUTAR
A% : 39 | | wegut Ut : 80
gaar:- 1) @d T97 QIS0 Sasae e
2) ITFIESIeT 37k qUf T FIAATA.
3) "ewlarst gz 37t gTalaet ugral.

gy71) Wrefter TyATe Teeht 50 vreeid IW foret. (e 2F) [10]
i) ‘ggpwemEr = s fora.
i) ‘vfiegg’ € e .
iii) “erfiieh weTHA rEUS wTa?
V) SFTAehTeRTOT € HeheuT TIE .

gy72) et 100 vrsara dar forer. (vl =mn) [20]
i) rgEwTd e
i) e
i) . mA-da-am
iv) @k
v) g
vi) TrETEe metees

T973) ool et Teeht 250 IeEtd I Toret. (SHRIuTaEt i) [30]
i) uftean AEEETe wionw forET.
i) TR TE STEIEHTAT HETeHT et JTeh SfHehT T .
iii) ‘SrfeTaaTaTdl a@ae E HeheuAT TIE HE did FEd ToI9Te .
iv) WEmErEl Il ToTal.
v) i afam enfedew ovor e w0,
P.T.O.



T374) Wetter I3 3w 500 vseia forgt. (FivmErd ue) [20]

1)
if)

[3801]-119
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Total No. of Questions: 4] [Total No. of Pages: 2

P57 [3801]-120
F.Y.B.A.
ANTHROPOLOGY
G - | : Introduction to Social & Cultural Anthropology
(2008 Pattern)
Time: 3Hours) [Max. Marks: 80
Instructions::

1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Answer any two of the following in 50 words each. [10]
i)  State any two uses of Anthropology in brief.
i) State the importance of black magic in tribal society.
i)  What are the formal means of socia control among tribes?
iv) Describe the ‘concept of property’.

Q2) Write short notes on any four of the following in 100 words each.  [20]
1)  Ape Man
i) Matrilinial family
iii) Head Man
iv) Hunting and Fishing
v) Shaman/Bhagat
vi) Cultura lag

Q3) Answer any three of the following in 250 words each. [30]
i)  Explain the relation of Anthropology with other sciences.
i) Explain the theories of origin of religion.
iii) Describe the nature of punishment among the tribal society.
iv) Discuss the functions of Kinship.
v) Explain the stages of Tribal Economy.

P.T.O.



Q4) Answer any one of the following in 500 words. [20]
i)  Describe the various types of acquiring mates among Adivasis.

i) Explain the theories of cultural change.
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G-1:

3361331'8]

[3801]-120
F.Y. BA.
ANTHROPOLOGY

[Total No. of Pages: 2

| ntroduction to Social & Cultural Anthropology

(2008 de+) (RT3t wUiR)

geuar:- 1) GF g7 GISIAv STavaTes HEd.
3) HeWIGrdt ger s UvATIlAHT uETal,

[ g g : 80

777 1)

97 2)

97 3)

WeAeTieh! hITETEl S TeTeh ST Tereht 50 vreauea ferar.
i) AMAITET HIUAE SF IUTNT drSHTd TRl
i) onfeamEt THTSITH IS STeaT WTge Wewd |,

[10]

iii) erfeamEivsier ARG HEaumT= U= T1eH SHIvHT ATed ?

iv) ‘dusieh Geheut fawg .

WTeATeTteh! HIVETE =R =R TRt 100 wreaiuea feur ferer.
) TOHES

i) wTqETs e

i)  amTTE

iv) TR g amEtt

V) a

Vi) GERdl aigEE

TCAITIh! SIS A1 TeTet 3 Tersht 250 vregmaefa forat.

) AHESTETET o SIS SauTRT Hae fawg e,
i) e Scusier fargia Toe .

i) oTTfaTe TS BOE TEY TUE .

iV) ATAEE AT ST T .

V)  aATfeamEt sreferaeoe T T .

[20]

[30]

P.T.O.



Fo74)  EeiieTdeh! VAT Ykt TeaTer 3wt 500 vregiada forat. [20]
i) snieaiwsier EkeR Mefavars fafay ugdt faue =a.
i) wend aRadATS e T .
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P58 [3801]-121
F.Y. B.A.
GEOGRAPHY (G-I)
Gg-110 : Physical Geography
(2008 Course)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Drawa neat diagrams wherever necessary.

4) Use of map stencils is allowed.

Q1) Answer in 20 words each. (Any Ten) [20]
1)  What is Standard time?
i1)) What is latitude?
ii1)) What is Gutenberg discontinuity?
iv) Define earthquake.
v) Define Faulting.
vi) Define Volcano.
vil) Write main types of rock.
viil) What is troposphere?
ix) What is temperature inversion ?
x)  Write the definition of condensation.
xi) What is cyclone?
xii) Write any four factors affecting horizontal distribution of temperature.

xiil) What is mean by Oceanic trench?

P.T.O.



02) Write short notes in 50 words . (Any Two) [10]

i)  International date Line.
ii) Biological weathering.
iii)) Ozone layer.
iv) Tsunami.
03) Answer in about 150 words each. (Any Two) [20]
1)  Describe the interior of the earth.
ii) Describe the ocean floor.
iii) Explain the formation of block mountain and rift valley.
iv) explain the methods of water conservation.
04) Answer in detail with 300 words each. (Any Two) [30]
i)  Define physical geography and explain its nature and scope in detail.
ii) Describe the land forms formed due to erosive work of river.
iii) Explain Pressure belts of the earth.
iv) What is ocean water salinity? Explain the factors affecting ocean Water

Salinity.
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P58 [3801]-121
F.Y. B.A.
T (G - 1)
Gg-110 : TTHfre® et
(7 3N ) (ARTST BUTaR)
A% : 3| | wegor 7ot = 80

Tar - 1)  ad T97 TISIA0 STT9era S84,
2) ITFIEHSIT 3 guf JoT FIfEara.
3) SIS 7 GAFH STHT FHIE.
4)  THEIIT RIHeq ITRUITT AT HTE.
5) @ealiarat ge SISt TeTaiAHT TETdl.

To71) AT 20 IsaTa S {eTer. (FivTaE 27@) [20]
i) TS TEUTS T ?
i) srerge TS wE?
iii) et forerTar o w?
iv) yehuTe saTET fore.
V) SR e foret.
vi) SaTATHEEt SETEn o
vil) TEw™ TE THR e
viii) AUTeR TEU ®TI?
ix) arrEETEt faafaar wos w=?
X) EEIEATE STt o,
Xi) SITad TEUT 1T ?
xii) araEETeET ferfas TRt TaeuTTeR UiuTTH iUk HivTdE! 9R 9eh ToTel.

Xiii) AT Tt FEUTS H?
P.T.O.



97 2)

97 3)

797 4)

TRt 50 vrsara feur fergt. (Fromadt 2m) [10]
) erewE T

ii) e frawon,

iii) sivEm oR.

iv) g,

T 150 Tegia I forer. (ot §H) [20]
i) gedfiean A quid .

i) VR T FU .

iii) Teuda 9 WOl it T &

V) T GaedHTeaT dgdt T .

Teeht 300 Ireaid Afereat I foTer. (wuradl 2F) [30]
i) TTeRTde AT SATEAT AFA 10 €60 J SATHT AT JuT .
ii) TS T HEHS HHIUT UM - TThRIE qUH HT.

iii) Ygedfiaiict TYURUE TIE .

iv) UNRSA &IRAT TEU hia? ARRAA IRdeR RO ShHUTR U2k T .
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P59 [3801]-122
F.Y.B.A.
MUSIC GENERAL (G-1)
Vocal Classical Music
(2008 Pattern)

Time: 1%2Hoursg| [Max. Marks: 20
Instructions::
1) Question No. 1 iscompulsory.
2)  Attempt compulsory Question No. 1 and any three of theremaining questions.
3) Attempt four questionsin all.

Q1) Write notation of ‘Madhya Laya Bandish’ of any one Raag. [9]
a Raag Des. b) Raag Bhairav.

Q2) Write the classical description of any one Raag with Aaroh, Awaroh and
Pakad. [9]
a Alhaiyya Bilawal. b) Bhoopali (Bhoop).

Q3) Write the description and notation of any one Taal from below. [5]
a Roopak. b) Dadra.

Q4) Write definitions (Any five) : [9]
a Aadhar Swar. b) Shuddha Swar. ¢) Chaa Swar.
d) Achaa Swar. e) Anuwadi Swar. f) Laya (Tempo).
g) Aadap. h) Taan. 1) Shruti.

Q5) Write short notes (Any two) : [5]
a) Saptak & types of Saptak. b) Raag-Jadti.
c) Bandish. d) Shadja - Pancham Bhaav.

Q6) Write in detail (Any one) : [9]

a) Importance of Taanpurain Music. b) Music and Life.
c) Notation Writting Method.

Q7) Write a short account of the contribution to music of any one of the
following musicians. [9]
a Pt Vishnu Digambar Paluskar. b) Taansen.

c) Pt. Ravishankar.
0000
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P59 [3801]-122
gl AT UMW 96 — GIfd | : G-1
(2008 Te)
A% : 15| [ wggon 7ot : 20

gaar: 1) a1 Samdid IR TEA, 9qR, a1 STdeh! Shivdaigl Ueh IgTa et
drear.
2) uUfEeT uyd rfHaT TR
3) orframd Uy uw srferek SAfa agATAhT FuTaEt €19 3™ TRHUT TR U9
drear.

TWEd — T
To7 1. <T@ That S ITUhT HIVATET TehT IR AT d1e9T TRIeTdIag . [5]

o7 2. AcedT-TaeTae AT qUTE! (U) ATUhHT HIVATET UehT IRTTE T ATfRdt
T - AT - Tehs TTHE forat. [5]

T97 3. ®Uh TehaT STET ATART RIVITET TehT ATATS TET—hTeA Uge 4 oG sl [ 5]

T97 4. ST ToTet. (TR uTe) [5]
a) 3YR &R b) wE®R C) AR
d) srE @R €)  ITIATS TR f) ==
g) smem h)y am ) o

g7 5. At 2. (T 3) [5]
d) TH®h ATUT AHHT ThR b) Wt
C) afew d) wesq - dom umE

T97 6. WTATTUh! HIVATE! TehT fasamar fomamm forer. [5]
d) Wamed aa=aTe Heged b) @i amfor S
C) AT gl

97 7. WTATeTdehl hIuTeTE! Tehl WA= Sa uier =m. [5]
a) . T foer aegER b) wwEa
C) . s
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P59 [3801]-122
el AT UoH 96 — GIfa |1 : G-1
ddcAT
(2008 UeH)
ECRNEZE [ weguT IqUt : 20

gaat: 1) dfEer aed iHae e,

2) crfar uva uw srferer sdfta gt FvaEt €19 3@ TRUT IR ueA
redr.

TF 1. AT AT HISAT ATdhT HIVIATET TohT dTerTeit HYUT St Aifedt forga eret-

HTA TFA AT ST . [5]
o7 2. st ot (TR ute) [5]
a WA b) =@ c Tiew
d) e e T f) =
g) dret h) fwm/@e
T3 3. dar =, (THUT EH) [5]
a H@s=l b) f&=m
C) wmEa d) TEi-amET R ATHET TG FUIT WTiEd
TI7 4. @ieteTiehl RV Teht fawamer faeane ferer. [5]
d U. WG arAferdt AT diater 9. WS Tgdimed Twue § geeda
feraT.

b) o= 3 & THR
o7 5. AT ATTSHT dacATalgehTe i feret. [S]
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P59 [3801]-122
el AT UoH 96 — GIfa |1 : G-1
HAX
(2008 Te)
B : 1voamd] [ wegot 7t : 20

gaar: 1) dfEer aed iHae e,

2) orfHaTd uea Uek arferes, I UyATOehT hIUAE! 19 318 URUT =R U9
Hrsdr.

g7 1. ¥a fohan sregan faeraet iRl R IuTeTE Ukt THTTA Hegerdl Td T feTdterg o, [ 5]

o7 2. qu Tha1 sweamur ITUh HIVTET Tehl TATE TR TRl 3TRIE, STaWig, Uhs

THE foTet. [5]
T97 3. UhdTel TohaT SIS ATAT 2Te8T, hTeT Tgd = ATeTeiE ahl. [5]
o7 4. = foret. (TR ut) [S]
a 1. b) sgad =R C) A WX
d) arEt =R e = f) @
g) @H h) wE/fwm i) gwe
g7 5. dut forgt. (TR E) [5]
a) ot d I get b) T
C) vt Ea d) uwft @fa
T97 6. WTATcTdh! Il Teht fasamer famare forer. [5]
a) . 4. R agem
b) d. e

C) W ATUT 31T efferd shedl

0000



Total No. of Questions : 4] [Total No. of Pages : 2

P60 3801]-123
EY. B.A.
PUBLIC ADMINISTRATION
Indian Administration
(General Paper - 1) (2008 Pattern)
Time : 3 Hours| [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt Any Two questions (In 50 words each) : [10]
1)  Post-Independence Indian-Administration.
1)  Vice-President of India.
) Contonment Board.

1v) The State Secretariat.

02) Attempt Any Four questions (In 100 words each) : [20]
1)  Functions of Council of Minister.
1) Importance of National Development Council.
) Powers and functions of Vidhan-Parishad.
iv) Role of Governor.
v)  Centre-State relations.

vi) Muncipal-Council.

PTO.



03) Attempt Any Three questions (In 250 words each) : [30]
1)  Discuss the role and functions of collector.
1) State organization and functions of Ministry of Finance.
u) Discuss the functions of urban local bodies in Maharashtra.
1v) Explain the structure, powers and functions of Lok-Sabha.
v)  Explain the role of the Prime-Minister in the Indian-Administration.

vi) Discuss the composition, powers and functions of Panchayat Samiti.

04) Attempt Any One question (In 500 words each) : [20]
1)  Explain the frame-work of Central Government.

1) Critically evaluate the powers, functions and role of the Rural Local
bodies.
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P60 [3801]-123
F.Y.B.A.
PUBLIC ADMINISTRATION
| ndian Administration
(General Paper - 1) (2008 Pattern)

(TR HUTER)
gez : 3 AT | [ Tggor 7or - 80

geAT:— 1)  &d 97 Gistavt JTaeae HTed.
2) ITFIHESIT ik QUi T FIIIAT.
3) @FYlaIs? gez sUt FTalAHT UETaT.

77 1) el SvmE S T wisar. (s 50 veEi) [10]
i) AR RS TRATE T
i) WA ST,
i) Seeie @
iv) T afueea

T572)  wrefteriehl SIHE W) weA wiedn. (s 100 wrsai) [20]
) et W
i) T Frem e T
i) frerm aRwEs st @ @
V) TSIuTeTE ST
V)  HE-TSd GEd.

Vi) TRuTfereRT.

PTO.



T973) @TeiicTuchl ShiUTdE! diF T9 |iear. (St 250 ysam) [30]
i) RregtieerTaT st 9 & aret =l H.
i) SrduATeET WHeT  hid TUY &L
i) TERTETeT Tratt T TeTsaT HEts Tt W,
iV) cieREYl ToET, ST o wid T &.
V) HRAE IR SHaddie UaTeTTel iRt ¥ .
Vi) demaa aftidteat T, tfier @ sl = .

Ty74)  WTATATRT FHETE Tk U9 wiear. (St 500 wrsgia) [20]
i) e TYRRE TWEY TIY .

i) TTHOT T WEUTY STUSR, ®E  HewT I fhicas JeaHTaH
.
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P61 [3801]-124
F.Y.B.A.
PSYCHOLOGY

G-I : General Psychology

(2008-Course)
Time : 3 Hours] [Max. Marks : 80
Instructions :
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Draw neat diagrams wherever necessary.

Q1) Answer the following questions in 50 words each (any two): [10]
i)  What is perceptual constancy? state the types of perceptual constancy.
ii) Explain Thorndikes laws of learning.
ii1)) State three components of sternberg's intelligence theory.

iv) Explain the concept of intelligence quotient.

Q2) Write short notes on 100 words each (any four): [20]
i)  Observation method.
ii)  Structure and functions of neuron.
iii) Geometrical illusions.
iv) Types of long term memory.
v) Trace theory of forgetting.

vi) Mental retardation.

P.T.O.



03) Answer the following questions in 200-250 words each (any three): [30]
i)  Define psychology. state the goals of psychology.
ii) Describe the structure and function of cerebrum.
iii) Explain the principles of perceptual organization.
iv) Describe Gardner's theory of intelligence.

v) Define conditioning. Describe the characteristics of classical
conditioning.

04) Answer any one of the following questions in 500 words : [20]
1)  Define motivation. Describe various biological motives.

i1)) What is personality ? Explain the big five model of personality.

[3801]-124 -2
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P61

[3801]-124

F.Y. B.A.
PSYCHOLOGY
G-I : General Psychology

(2008 Course)
ARIST HUTAR

A% : 3 a] [wegor gt = 80

gaar:- 1) @ T9T QISIA0 STTIAF TR,
2) ITFIHSICT 3 QU T FIAAT.
3) SrTEvEE T 1301 g TFHAT FHIET.
4) GIYTETS! g T TSATAHT TET1.

97 1)

97 2)

WAt T I Tkt 50 Ireara forgt. (Fiurdet i) [10]
i) wraefe fera woe wE? aaeis frae TR am.

ii) oiHeEwd srea fawarsw fFem foave +u.

iii) TeerTeAT FhgATITT® SUUHIAIA d1H Teh a.

iv) ‘ghgune & HeheddT T T

Teht 100 srsara 2t foret. (FivrerEt 9m) [20]
i) TAdieror ugAt.

ii) SEUYEl AT S ® .

iii) sifafies .

iv) ereehTieres WA T6K .

v) foremumen sgew fagia.

vi) wfiwE.

P.T.O.



T973)  TETelieTiht ST di TeAret 3w Tt 200 & 250 weaia forer. [30]
i) UHEITETE STEET . AHETET &3 9.
ii) Wea e AT F HETS U &
iii) wreEie® Tgest ad fowg &.
iv) gt gigfomaes frgam auia w.
v)  SrfSrEemETE Sme un. i srisrE T SfvTseste quie .

T974) WcAterdehl ShIUTTE Tehl I3R! I Tedeht 500 vrsara ferar. [20]
i)  SRuret et @, oty Sfaes SRt quia w9,

ii) SIAFU TEUS T ? HFUET Fgg -Ueieh (Ueraesh) Ted T8 .
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P62 [3801]-125

F.Y.B.A.
GANDHIAN THOUGHT
I ntroduction to Gandhian Philosophy
(General Paper - 1) (2008 Patter n)
Time: 3Hours] [Max. Marks: 80

Instructions::
1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Answer in 5-6 sentences or in 50 words each : (Any Two) [10]
1)  Explain briefly the impact of Ruskin on Gandhiji.
i) Explain Gandhiji’s conception of Fearlessness.

i) Explain the importance of Sarvadharmasamabhava according to
Gandhiji.

iv) Explain Gandhiji’s idea of Bycott.

Q2) Write short notes in 25-30 sentences or in 100 words each: (Any Two)[20]
i)  Champaranya Satyagraha
i) Anasaktiyoga
i)  Civil disobedience - A way of satyagraha

iv) Gandhiji - A freedom fighter

P.T.O.



Q3) Answer the following in 200-250 words each : (Any Two) [30]
1)  Explain briefly Gandhiji’s idea of Inner-Voice.
i) Explain Gandhiji’s views on Varna system in Hindu culture.

i) Explain and bringout the importance of Gandhiji’ sideaof Ideal Society
(Ramrajya).

iv) Explain the importance of Gandhiji’s idea of ‘Purity of Means'.

Q4) Answer the following in 500 words : (Any One) [20]
i) Explain and evaluate Gandhiji doctrine of Sarvodaya.

i) Explain the nature and various techniques of satyagraha according to
Gandhiji.
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P62 [3801]-125
F.Y.B.A.

et TEmr
meft Tl .
(T 9uR — 1) (2008 ded)
(TSt TUTaER)
9% : 3| [ ggor 7t : 80

gaar .- 1) §d g9 GISlEo sravad H1ed.
2) ITFIHESIT ik QU T FIIIAT.
3) @FylaIs? gez sU FTalAHT UETal.

gg71) Teeht 5-6 3t arerat 50 vegia SR foreT. (vt 2) [10]
i) wiefcfier srEeeT kT 99T eigeRTa faeTe .
i) refstien P dweaaT g w1,
i) TrisfsfsaT TRTER TR TE W .

iv) Trefisiiel afEver g sweudT T8 &,

F972) 257 30 st steran 100 vreaiuda feun foran. (Sreatd 29) [20]
) <R G
i) s
ili) Wi wERYT - g U A

iv) TS : U wEaEd

P.T.O.



yw73)  wreftel geArE 2003 250 weaia I et (BoE 2) [30]
i) et AT HATAT & SheudT SSaTd YUY .
i) &g aepdimeiel auicaaedase e i giuehF TUE &
iii) e oTTey auTS (IS ) & heuAT [9rg e oI Waw T0F .

iv) TreisieaT AT a1 heudd WEd Ta9TE .

TT4) @Rt wivTeETE et T 500 vreaid I foraT. [20]
i)  efen gaten figia TUe wed T gegaTaT .

i) eisieaT AaMER TR TR AT T WE fafae a3 T8 .
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P63

Time : 2 Hours)

Instructions:

[3801]-126
F.Y. B.A.
YOGVIDYA (G-1)
(2008 Pattern)
[Max. Marks : 40

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain any one from the following in 50 words. [5]

1) Types Niyama

11) Human health and Yog.

02) Write short notes (Any two): [10]

1) Asana

11) Pranayama
1) Kapalbhati
1v) Yognidra

03) Answer any two questions from the following in 200 to 250 words. [15]

1)  Explain the applications of Yoga in daily life.

11) Explain the misconcepts about Yoga.

1) Explain the objectiv's, scope and limitation's of Yoga.

04) Attempt any one question in detail. [10]

1) Explain the Astangyoga.

11)  Which type of Yogapranali? Explain the Hattayog & Rajyog.
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P63 [3801]-126
e 9¥ et (F.Y. B.AL)
JRTFrET (G-1)
(2008 Te+)
A% : 2 A | [ w=RoT ot : 40

gaAr .~ 1) G T3T TISIA0) SHTTIF 3T,
2) ITFIHSIT 37 JUT JOT FIAATA.
3) @ewlarst ges sTt TITalAET TETEl.

T37 1) Treietteht ShIvTaTe! Tt 50 ITeeTd TISIHIuT 2.
i) Tem ger
ii) WHE ARG SATTOT =0

97 2) €. (ForErEt §9)
1) 3T
11) SO
iil) HUTTHTAL

iv) aIrTfEET

T37 3) WTotodsh! HIvTTe! € T 200 o 250 Iregia SR 2.
i)  edfea ST Jemen SR T = .
ii) RTeEETe ATEWST T8 .
iii) =IrTTet 3TEE TUE wed ATH F WATET T .

37 4) TTEATeTueh! HIVTETE! TehT T9ATE FTa 3T 2.
i)  3TEM I AR 9 &.

ii) =TT fafay JoTet vt ? FgAE @ TSRSt witedt €.

[S]

[10]

[15]

[10]
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P64 [3801]-127

F.Y. B.A.
HISTORY OF CIVILIZATION
Maharashtra Culture (Upto 1818 A.D.)

(General Paper - I) (2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each : (any two) [10]
1)  Concept- Deccan.
11) Demerits of Caste System.
1) Trade routs in Medieval Maharashtra .

1v) Hemadpanti Temples.

02) Write note on in 100 words each : (any four) [20]
1)  Material Culture.
11) Vakatakas.
1) Scholastic Literature in Maharashtra.
1v) Industries in Maharashtra.
v) Folk Arts.

vi) Nath Cult.

P.T.O.



03) Answer the following questions in 200-250 words each : (any three) [30]
1)  Explam; what is 'Culture'.
11) Take a review of the Mah~nubh~v Literature.
1) State the position of Women in Medieval Times.

1v) Discuss the various types of caves (Leni).

v) Decribe the rise an development of the Dutta cult.

04) Answer the following questions in 500 words each : (any one) [20]
1)  What do you know about the History of Satvahanas?

11)  Write in detail about the major festivals of Maharashtra.
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P64 [3801]-127
F.Y. B.A.
HISTORY OF CIVILIZATION
Maharashtra Culture (Upto 1818 A.D.)
General Paper -1 (2008 Pattern)

(FR1ET HUTR)
ges : 3 araf [ T 7707 - 80
eAr - 1) Td 97 QIslavr s 3Ted.
2)  FwEiEmEeT o qof go FviAAT.
3) Tewigrst g sT TTalAwT gETat.

Ty l) G T W aRsht 50 weEia TRt (RIvHE 3) [10]
i) heuAT -TEEH .
ii) WdeIaEeE 3.
iii) WA TETETe ST,
iv) FETEv HiE.

gg72) weeht 100 vrsaia fun fosgn. (wiome =m) [20]
i) e wEpd
ii) aTwES
iii) wENTgTE ufd T
1v) WERIgIe Sames
V) cAreReReT

Vi) Y 9ue™

P.T.O.



T373) WSS Ty Skt

[\

00-

[\

50 vregia I foset. (RivTae! o) [30]

i) ‘OERdl TEUN ™ A T &

ii) WEIHTE ATeeTen STeTat w=.

iil) AP FTAGSHIA R Tt e,
iv) wuaTeaT [y TRt =@t .

V) EX GUSHETl SEd ST faehT FuH .

gy74) WS g 3w 500 vreaia foer. (e uw) [20]
i) ETadTETeaT SfagTeEt greiE T HiRdl IR ?
ii) WERTETer T |unifawt afaer o
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Total No. of Questions: 4] [Total No. of Pages: 2

P65 [3801]-128
F.Y. B.A.
HOME ECONOMICS
G-1: Household and General Economics
(2008 Pattern)

Time: 3Hourg| [Max. Marks: 80

Instructions::
1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figurestotheright indicate full marks.

Q1) Answer the following concepts in 50 words each (any two) : [10]
1) Inflation.
i) Poverty.
lii) Public Revenue.
Iv) Human Vaues & Goals.

Q2) Write short notes in 100 words each (any four) : [20]
1)  Features of Economics Law.
i) Income elasticity of demand.
lii) Types of Account keeping.
Iv) Sources of Human Values.
v) Types of standard of living.

vi) Problems of Home Management.

P.T.O.



Q3) Answer the following questions in 200 words each (any three) : [30]
1)  Explain the law of demand with suitable example.
i) Explain the functions of Commercial Banks.
lii) Explain the House planning for Lower Income Group.
Iv) Explain the process of Home Management.

v) Explain the elements of interior and exterior home decoration.
Q4) Answer the following questions in 500 words each (any one) : [20]
1)  Explain the law of supply with suitable example.

i) Explain the process of Decision Making with suitable example.

0000
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Total No. of Questions: 4] [Total No. of Pages: 2

P65 [3801]-128
F.Y. BAA.
HOME ECONOMICS
G-1: Household and General Economics
(2008 Pattern)
(TSt TUTaR)
3z : 3 arg | [ @ 707 - 80
AT - 1) @d gy @ISIA0 SITvas S
2) STFYIE A9 GaAF HTHAT FHET.

3) IwaiwSier ik qur T FIaara.
4) @FaTATST g ST TPTAIFHT TETa1.

797 1) @iete Geheudiat Sw Seadht 50 vregia forgt. (Riuradt g) [10]
1) oEdaTe.
i) .
i) TR sew.
iv) et e ertur Sttt

Tv7 2) werdht 100 wrsgia foun forgn. (Soreard =m) [20]
i) onfdfew Femi=t afvrest.
i) Wil Ieus eraferehdr.
iii) fevra forfeoam= wor.
V) W&t oAt ared.
V) TEUiHETeAT e UK.
Vi) g SHaETIATd el SHEET.

P.T.O.



97 3) WIkies Uyt W Tkt 200 visgia fosgr. (Rioragt )

)

i)
iii)
%)

v)

ATTUiren fam |iETetn T w.

HCUSTUH TMEThNAT PRI TIY .

e SASATITS Tishat T8 o

TE TS i o Sievia Ueshil TS0 .

797 4) @rie gyAret 3w geadht 500 vegtd foer. (ST uen)

)
i)

[3801]-128

ESATAT HaH WETET0T T .
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Total No. of Questions : 4] [Total No. of Pages : 2
P66 [3801]-129
F.Y. B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (A) War and Warfare
(2008 Course)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each : (Any Two) [10]
1)  Give Psychological causes of war.
11) Explain the concept of Tolal war.
1) State Guerrilla tactics.

1v) State factors affecting on chemical attack.

02) Write short notes in 100 words each : (Any Four) [20]
1)  Functions of war.
11) Conventional warfare.
11) Mao Zedong.
1v) Insurgeney.
v) Effects of Nuclear Warfare.
vi) Psychological Warfare.

P.T.O.



03) Answer in 200 to 250 words each : (Any Three) [30]
1)  Describe in brief the nature of Chemical warfare.
1) State characteristics of Guerrilla Warfare.
1) Describe development of Nuclear Weapons.
1v) Explain types of Bilogical Weapons

v) Describe the means of Economic Warfare.

04) Answer in 500 words each : (Any One) [20]
1)  What are the principles of War? explain any three of them.
1) Explain the characteristics & Modern War.

[3801]-129 (G-1 : A) (New) -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P66 [3801]-129
F.Y. B.A.

IO X ATHRHITH
D.S. - G-1: (A) T§ 0T JFugdt
( 2008 IIFATHEHA)

(WSt wuTar)

q% : 3 A [ weRot 7Ot : 80
Geqr - 1) qd T57 TISavt S 3iTed.
2) ITFTHEEIT 37 qUl JUT FIAATA.
3) @ewtarst ge a1 ITIEAET GETa.

gy7 1) Wil ToATel S IerehT 50 vreaid forgt. (hiumet 21) [10]
i)  FZTe AEETE" HR0 .
i) WY gg ¥ TehoudT T .
iii) i ST T,
V) TEEHE TeeaTal TRUMTH SHIUTR Fe& TR
g¥72) weaeht 100 vsama feun forer. (v 9n) [20]
i) Igren w .
ii) UNURWR JEUFdl.
i) el et
iv) forwm.
V) aTifuaeh ggugdara aiRomm.
Vi) WATEASE JEu3dr.

P.T.O.



g973)  Wreltel geATen Tereht 200 9 250 vregia S feTel. (SRIvTaE @) [30]
i) TEmale Jgusdi™ WEy disem fawe w.
i) T Fgugdret afdrest wrm.
iii) sTwaET=T AT FUH .
iv) S e TR Y &,
V)  emeffe Fguagdare anee fowg w.

gy74) el geie 3w 500 vrsaid foTet. (ShivETel Uen) [20]

i) Ig acd RIUT ? ATUhT HIVAIET o qcd T HT.
ii) STYH® e AT TIT H.

[3801]-129 (G-1 : A) (New) -2-



Total No. of Questions : 4]

P66

[3801]-129
F.Y. B.A.

[Total No. of Pages : 2

DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (B) Defence Organisation of India

(2008 Course)

Time : 3 Hours|

Instructions :

D
2)

All questions are compulsory.

Figures to the right indicate full marks.

Q1) Answer in 50 words each : (Any Two)

What is the role of State Reserve Police Force?
State the principles of Intelligence.

What is the role of Engineers.

State the characteristics of Navy.

Q2) Write short notes in 100 words each : (Any Four)

1)

1)
1i1)
1v)
V)

Vi)

Coast Guard.

Role of Air Force .

Indian Intelligence Organization.
Characteristics of Armoured Corps.
Role of Signals Corps.

Powers of President.

[Max. Marks : 80

[10]

[20]

P.T.O.



03) Answer 1n 200 to 250 words each : (Any Three) [30]
1)  Explain the composition and Functions of the Ministry of Defence.
1) Trace the growth of Indian Air Force Since 1947.
1) Examine the role of ASC & AOC during war & Peace time.
1v) Explain with the help of chart the organisation of Naval H.B.
v)  What are the characteristics and role of Artiltery.

04) Answer in 500 words each : (Any One) [20]
1)  Explain the principles of Defence organisation.
11) State the characteristics role and limitation of Infantry.

[3801]-129 (G-1 : B) (New) -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P66 [3801]-129
F.Y. BA.

TWPW T ARSI
D.S. - G-1 : (B) WIRATE WU e
( 2008 JFAATHHNA)
(WSt wuTar)
q% : 3 A | wegot Ut - 80

GeT - 1) TF 97 QISlavr STavera 3ed.
2) ITFTHEEIT 37 qUl JUT FIAATA.
3) @ewtars? ges 3Tt GvTafAHT gETal.

gy7 1) Wil ToATet S Iereht 50 vreaid forgt. (humet 21) [10]
i) Tea T e T wTE e ?
ii) ITIforeEreR AT aw |0
iii) Sfafrerd=h wm wowE ?
iv) Hreerre afres) wim.

g¥72) weaeht 100 vsama out foter. (Rl 9n) [20]
1) XAk TA
ii) TaTgETe wE
i) ST AR TEe
iv) e gam afmet
V) Hueh AT H
vi) TEud TfUwR

P.T.O.



g973)  Wreltel geATen Tereht 200 9 250 vregia S feTel. (SRIvTaE @) [30]
i)  ERETUT WATAATEH! TAT ST T €A il
ii) 1947 UgA=AT ARA™ TATEEATAT TR STETET T,
iii) gg 7 vrmaan st ASC @ AOC =am swrer URerur &,
iv) SIRIESSIT=AT ATEIH AT TS e T8 &.
V) aTRETATEt STl STt TR ST ?

gy74) el Iem SR 500 Iregid forel. (SRIvETel Teh) [20]
i)  EReTur FgeqTl A TUE W,

ii) Ut aTvTees, ®™ T HIATET TR,

[3801]-129 (G-1 : B) (New) -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P66 [3801]-129
F.Y. B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1: (C) Military System of India (Upto Revolt of 1857)
(2008 Course)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each : (Any Two) [10]
1)  State the scope of Military History.
11) Explain the first bettle of Tarrain.
1) Give the causes of invasion of Alexander in India.

1v) Describe in brief the Haldighat bettle.

02) Write a short notes in 100 words each : (Any Four) [20]
1)  State the strategy of Babar in the first battle of Panipat.
11) The causes of the rise of Maratha Power.
1) Maratha cavalry.
1v) Maharaja Ranjitsingh.
v) Give the causes of war in Gupta's period.

vi) Rise of Mansabdari system.

P.T.O.



03) Answer in 200 to 250 words each : (Any Three) [30]
1)  Explain in detail the causes of war in vedic period.
11) Explain the Military system of Sultan.
1) Give the Military Administration of Shivaji.
1v) Explain in detail the Anglo-Sikh wars.
v) Describe the battle of plassey.

04) Answer in 500 words each : (Any One) [20]
1)  Explain the Philosophy of Kautilya's Art of war.
11) What are the causes of downfull of Rajputs.

[3801]-129 (G-1 : C) (New) -2-
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Total No. of Questions : 4] [Total No. of Pages : 2

P66

D.S. -

[3801]-129
F.Y. B.A.

TWPW T ARSI
G-1 : (C) AT FTeRl sqaeat (1857 <A1 I31aTadq)
(2008 IrraTEsHA) (New Course)
(v TUTR)

q% : 3 A [ wegot Ut = 80

GeT - 1) TF 97 QISlavr STavera 3ed.
2) ITATHEEIT 37 qUl JoT FIAATA.
3) @eswtars? ges 3Tt 9vTafAdT gETal.

757 1)

797 2)

WTeter 9Tl IW Tkt 50 Teaid foTet. (Il M) [10]
i) oreRdt gfagmaTel et .

i) WA ufeet g T *A.

iil) STAFTSTAT TRATATE THHUTTAT FHROT TR,

iv) TredamEr et dewma fave wa.

Techt 100 vrsgma R fergt. (Forears =) [20]
i) uTHuasAT uftea deTEdicl STete oTshil STaue |h.

ii) WXTST A=A STl THRUL WAL,

i) Tt Hread.

iv) WERTT T,

V) TAwTSTATE JgTel hROT AR

Vi) AAEEEH Ugdian 394,

P.T.O.

11



g973)  Wreltel geATen Tereht 200 9 250 vregia S feTel. (SRIvTaE @) [30]
i) Afew FBTA JZre FHROT ATER T F.
i) FAAHIITE I TTohl Tgd FAL T .
iii) TITaTe = FTBTAA TR e i,
iv) oFe-9E g3 i e &,
V) ATl ST Jui .

g374) el gvm S 500 Iredid foTel. (vl Ten) [20]
i) wIeca™ g3 ®ol [auia awasT T8 &

ii) TTYATAT g RO SHIvTEt o TR 7

[3801]-129 (G-1 : C) (New) -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P66 [3801]-129
F.Y. B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (A) War and Warfare
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each : (Any Two) [10]
i)  Give Psychological causes of war.
ii)) Explain the concept of Total war.
iii) State Guerrilla tactics.

iv) State factors affecting on chemical attack.

02) Write short notes in 100 words each : (Any Four) [20]
1)  Functions of war.
i1)) Conventional Warfare.
ii1) Mao Zedong.
iv) Insurgency.
v) Effects of Nuclear Warfare.
vi) Psychological Warfare.

P.T.O.



03) Answer in 200 to 250 words each : (Any Three) [30]
i)  Describe in brief the nature of Chemical Warfare.
ii)  State characteristics of Guerrilla Warfare.
iii)) Describe development of Nuclear Weapons.
iv) Explain types of Biological Weapons.

v) Describe the means of Economic Warfare.

04) Answer in 500 words each : (Any One) [20]
i)  What are the principles of War? Explain any three of them.

i1) Explain the characteristics of Modern War.

[3801]-129 (G-1 : A) -2-



Total No. of Questions : 4]

[Total No. of Pages : 2

P66 [3801]-129
F.Y.B.A.
U § TR I
D.S. - G-1: (A) & iUt Jgugdt
(2008 q2+)
(TSt TR
A% : 3 a| | wegut 7T : 80
gaT - 1) @& T97 TSI STTavae 3ITed.
2) IwdtEEIeT 3k gur Jor FIfIara.
3) Tewrarst g st FITIEAET g,
Ty7 1) TeAter TeATe I Tedeht 50 vTsgia foTer. (uragl 2F) [10]
i)  Fgre AFEIEE wRO .
i) ‘Fdwy g F dheuAT TE FH.
iii) Tt e |
iv) TS geedTer URUMH SO 926 TR,
T372) " 100 visgra four forgt. (Fivmad 9m) [20]

i) gt wE.

i) uRuTE gETEd.

iii) e S

iv) Towema.

V) i ggugdta afiormE.
vi) WHEITEE Euedl.

P.T.O.



y73) @relte ggAre TRt 200 ¥ 250 vrsgi S foTer. (R o) [30]
i) TETEE JEusd WEy drewd fong w.
i) it ggugdte dfvme |,
iii) evaETen o JuiT w .
iv) ok ST&™l TR TIE .
v)  arriedes Ut aem o @

gI74) T@reAter gt SW 500 vsgia forer. (SRiuTardt ueR) [20]

i) gg T HIVET ? TTUh! RIVTATE diH a7 TIE .
ii) smyfie FgTen AT TWE F.

[3801]-129 (G-1 : A) -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P66 [3801]-129
F.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (B) Defence Organisation of India
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each : (Any Two) [10]
1)  What is the role of State Reserve Police Force?
ii)  State the principles of Intelligence.
iii)) What is the role of Engineers?

iv) State the characteristics of Navy.

02) Write short notes in 100 words each : (Any Four) [20]
i)  Coast Guard.
ii) Role of Air Force.
iii) Indian Intelligence Organization.
iv) Characteristics of Armoured Corps.
v) Role of Signals Corps.

vi) Powers of President.

P.T.O.



03) Answer in 200 to 250 words each : (Any Three) [30]
i)  Explain the composition and functions of the Ministry of Defence.
ii) Trace the growth of Indian Air Force since 1947.
iii) Examine the role of ASC & AOC during war & peace time.
iv) Explain with the help of chart the organisation of Naval H.Q.

v)  What are the characteristics and role of Artillery?

04) Answer in 500 words each : (Any One) [20]
i)  Explain the principles of Defence Organisation.

i1)  State the characteristics, role and limitation of Infantry.

[3801]-129 (G-1 : B) -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P66 [3801]-129
F.Y. B.A.

U § AT I
D.S. - G-1 : (B) WIATE EREIUT HESAT
(2008 q2+)
(VTS T UTaR)
A% : 3 A

gaar -~ 1) ad T97 qISavt SaveTs SiTe.
2) ITHIHSIT 3k QUI JUT FI1AATA.
3) @ewlars? g 57t IvTaiAHT gETai.

| g ot : 80

o7 1) WreAte Tyt 3w Tkt 50 yegia forat. (o E9)
i) U~a T UetE gl ST wiT ?
i) vrfEw T A .
i) SfafE T w2
iv) dreeren Sfrses g,

y72) e 100 v feun forr. (Somd =w)
) weew T
ii) FoTgEATE wW
ifi) el qEeR dEE
iv) Toored garet afvre
V) Uueh ATl T
vi) Tgudr feER

[10]

[20]

P.T.O.



y73)  wEeier T Serdh 200 ¥ 250 Irsgia I T, (SR ) [30]
i)  TRETUT AT TOAT SATIUT hiel TIE ol
ii) 1947 UTHA=AT AAR EATSEATEAT [OeRTaTT STTETET T4T.
iii) g = ynaar s ASC @ AOC =4 whiare TiReTur o
V) STNEESIT=AT AR AT T HETed T .
V)  ARETTEl AfITeeRl HATIUT hTH It ?

gI74) T@reAter gt SW 500 vsgia forer. (SRiuTardt ueR) [20]
i)  TERIUT eeqdl av TIE .

ii) UTaEeT=E afyrest, wm  wAier |,

[3801]-129 (G-1 : B) -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P66 [3801]-129
F.Y. B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1: (C) Military System of India (Upto Revolt of 1857)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each : (Any Two) [10]
1)  State the scope of Military History.
ii)) Explain the first battle of Tarrain.
iii)) Give the causes of invasion of Alexander in India.

iv) Describe in brief the Haldighat battle.

Q2) Write a short notes in 100 words each : (Any Four) [20]
i)  State the strategy of Babar in the first battle of Panipat.
i1) The causes of the rise of Maratha Power.
iii) Maratha cavalry.
iv) Maharaja Ranjitsingh.
v)  Give the causes of war in Gupta's period.

vi) Rise of Mansabdari system.

P.T.O.



03) Answer in 200 to 250 words each : (Any Three) [30]
i)  Explain in detail the causes of war in Vedic period.
ii) Explain the Military system of Sultan.
iii) Give the Military Administration of Shivaji.
iv) Explain in detail the Anglo-Sikh wars.
v) Describe the battle of plassey.

04) Answer in 500 words each : (Any One) [20]
1)  Explain the Philosophy of Kautilya's Art of war.

i1)  What are the causes of downfall of Rajputs?

[3801]-129 (G-1 : C) -2
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Total No. of Questions : 4] [Total No. of Pages : 2

P66 [3801]-129
F.Y. B.A.
TIYUT F ATHH I
D.S. - G-1 : (C) AT TTehil sqaea (1857 <1 ISTATIH )
(2008 T2+)
(VO TqTaR)
q% : 3 a | | wegur 0T : 80

gerT - 1) @d T97 qIStavt ATavae HTe.
2) ITHIHSIT 3k QUI JUT FI1AAT.
3) @eylarst ge sueit gvAafasT g

gy7 1) Wil Tyt S IRt 50 vreaia forgr. (et 29) [10]
i) o sfaemaTe STt |
i) TR e g T .
iii) STCTFTST=AT WRATATA STHHUTTEN HRUT TATT.
iv) gedraTe=t Ters ArgeTa fowe &,

Tv72) W 100 vrea R fw (Sond =n) [20]
i) YA UTEedt AeTgdiet aTete Rl Sraud |,
ii) TSI TTAT ISATET HRUT A
iii) TSt Hread.
iv) WERST TOTRTATe.
V) THRTSTATE FFTe HIOT |
vi) AATESH Ugdiat 384,

P.T.O.
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y73) @relte ggAre TRt 200 ¥ 250 vrsgi S foTer. (R o) [30]
i) afew wTBTe el HRO Tl T .
ii) YAAHIMEN TTohil Tegd TIE & .
iii) feraTsiiean wTBTe TTeehil STaweT |,
iv) SFel-3itE F5 Afawa g .
V) TATHAT TeTsd quid .

gI74) T@reAter gt SW 500 vsgia forer. (SRiuTardt ueR) [20]
i) Ifeeare ggehel Toweiel axasiy 0% &,

ii) TSTYATeAT SgTETe IOl HITAr o TR ?

[3801]-129 (G-1 : C) -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P67 [3801]-130
F.Y.B.A.
SOCIAL WORK (General)
I : Social Reform Movements in India
II : Introduction to Social Welfare & Social Services

(2008 Pattern)
Time : 3 Hours| [Max. Marks : 80

Instructions :
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer any 2 questions in 50 words each. [10]
1)  Write a note on "Deprived Sections in society."
11) Explain the Work done by Maharshi Dhondo Karve.
1) Explain the work done by Swami Vivekanand.

1v) Write Work done by Brahmo Samaj.

02) Answer any 4 questions in 100 words each. [20]
1)  Explain the work done by Mahatma Jotiba Phule.
11)  Highlight on the specific services for handicapped Section of the Society
1) Disuss "Gadage Maharaj Swachata Abhiyan."
1v) State the social reforms by Mahatama Gandhi.
v) Explain the meaning and importance of Five year plan.

vi) State the planned provisions For Social Services in India.

PTO. 1



03) Answer any 3 questions in 200 to 250 words each. [30]
1)  Write an essay on work done by Anna Hajare.

11) Explain the contribution of British Government in social reform
Movements.

11) Write a note on untouchability.
1v) Explain the problems of handicapped person and suggest remedies.

v)  Highlight on various social services in Maharashtra.

04) Answer any one question in 500 words. [20]
1)  Write an essay on Social Services for Weaker sections in the society.

11)  Write an essay on Social Welfare programmes in varies fields of social
work.

[3801]-130 -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P67 [3801]-130
F.Y. B.A.
SOCIAL WORK (General)
I : Social Reform Movements in India
II : Introduction to Social Welfare & Social Services
(2008 Pattern) (FRTST HUTAR)
¥ : 3 a| [ e U : 80
guar:- 1) Td I97 @IS0 STavTas 3.
2) ITFIEESIT 37 qUl JUT FIAATA.
3) @eyiardt ge Ut FvTIfAHT TETat.

97 1) TTATAUhT HIUTETE EF T9Tet Taeht 50 yregioea W foret. [10]
i) ‘oA S e’ arer ot forer.
i) wed dier At W e .
ii) T e 7w R
V) HTEl FuHT Shetel i ITeR foTet.

97 2) TTATrdeht HivTETEl IR TeAtet Tkt 100 sregiaeda W foret. [20]
i) ETH ST e AT el i fa9Tg .
i) VAT 0T TEHRTTET SAATAT [T AT AT ThHTI ETehT.
iii) ‘=N AER Tesd ATNAH ) ATER TE o .
1v) WETeHT MEfHT ShetedT ATHTRS RO 98 .
V) UETeieR JARAET AT STef AT Heed foreTe .
Vi) WRATAA Faeg OIS Saral aigal T8 .

PTO.3



97 3) WTATAUhT HUTeATE! o SeATet Tersht 200-250 vregiuEa SwWfeTeT. [30]
i)  3UUm TR T hereat wETR fey forer.
ii) wmiTeE uwon gwadidie s wawre anrem faee w0
iii) eregyTar AR feuvft ferst.
V) STUTIT=AT AR fa9rg e @R SuT™ geaT.

V) WERIEHE Aoy g 9aiag Teh19l TehT.
97 4) WTeiieTdeh! hIvTTE! Teht T9ame 500 yregiusia 3w foret. [20]

i) FETITAE gl TehiaTel ATl ATHTNTS dat JreR e forer.
i) vWTTHRE QAT fAfae THTS HedTul wRhd JTa) Hay forer.

[3801]-130 -2-



Total No. of Questions: 4] [Total No. of Pages: 2

P70 [3801]-134
F.Y.B.A.
COMMERCE
Organisation of Commerce
(2008 Pattern) (1294)

Time: 3Hourg|

Instructions::
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Answer in 50 words (Any Two) :
1)  Meaning of ‘Barter System’.
i) Define the term ‘Marketing'.
lii) Define the term ‘Wholesaler’.

Iv) Meaning of ‘Standardization’.

Q2) Answer in 100 words (Any Four) :
1)  Explain the limitations of Air-Transport.
i) Explain the nature of ‘Trade'.
iii) Explain the importance of Commerce.
Iv) Explain the concept of ‘Marketing Mix’.
v) ‘Advertising’ as Marketing Tool. — Discuss.

vi) Explain the functions of storage.

[Max. Marks: 80

[10]

[20]

P.T.O.



Q3) Answer in 250 words (Any Three) : [30]
1)  Explain the objectives of Marketing.
i) State the classification of Markets.
lii) Explain the services of Retailer.
iv) Explain the functions of Money.

v) Explain the functions of Packaging.

Q4) Answer in 500 words (Any One) : [20]
1)  Explain the nature, scope & benefits of Advertising.

i) Comment on — ‘Education and Training in Advertising'.

000a
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P70 [3801]-134
F.Y.B.A.
COMMERCE

qrioTsa g
(2008 IPQLD (1299
(aRx&rBg

9 : 39T | [ et 7707 : 80

Jaqr .~ 1) &d T97 @SIA01 SHTavea HTe .
2) ITFIESIeT 3k TvATE GUT T FIAATA.
3) @Wewlars? ge 5Tt TvTalAHT BT,

Ty7l) Erete gt 50 yeeid IW ToTer. (SRivTdEt gF) [10]

T972)  @refter sereht 100 vieaia IR forer. (SHomg =w) [20]
)  TaE STEqehiAT AAiET T HAT.
i) ‘oS TEY T w1,
iii) ‘aforeET’ =@ wew TUE WL
iv) “forour sy’ =t geeut Tg .
v) ‘ShifetE’ ® Ueh fouuee |@ee — == .
vi) “memn’=t wE e =L

P.T.O.



gy73)  w@Telte T 250 viegia I T, (SR i) [30]
) foguETE stres e w0,
i) =TSO Fteor T,
iii) forteRtes SaTUT=aT=aT VAT TIY AT,
V) UvITe wTE TOE .
V) St wE T .

gg74) el ggaret 500 vregia s foret. (v ue) [20]
) iR Ty, ST ot Wi Ty .

i) ‘e freror enfor afstgor’ — feouft w0,

0000
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P71 [3801]-135
F.Y. B.A.
G-1 : EDUCATION
(2008 Course)
Time : 3 Hours] [Max. Marks : 80
Instructions :

1) All questions are compulsory.

2)  Figures to the right indicate & full marks.

Q1) Answer the following questions in S0 words each. (Any Two) [10]
1)  Write the importance and concept of pre-primary Education.
11) Explain the social importance of Education.
1) Explain the characteristics of Educational process.

1v) Explain the Educational philosophy of Maharshi Karve.

02) Write the following short notes in 100 words each. (Any Four) [20]
1)  Educational system in Gurukul.
11) Concept of informal Education.
1) Individual importance of Education.
1v) Objectives of pre-primary Education.
v)  Educational philosophy of Karmaveer Bhaurao Patil.

vi) Importance of Health Education.

P.T.O.



03) Answer the following questions in 200 to 250 words each. (Any Three)[30]

Vi)

What is Educational psychology ? Explain the Nature and scope of
Educational psychology.

What is Value Education ? Explain the importance of Value Education.

Explain the Contribution of Tarabai Modak and Anutai Wagh in
Primary Education?

What is wastage in Primary Education?Write the causes of wastage
and suggest the remedies to overcome it.

What is Introspection? Write the Merits and limitations of Introspection
method.

Explain in detail the Aims of Modern Education According to Kothari
Commission.

04) Answer any one of the following questions in 500 words. (Any One) [20]

1)

if)

What is Pre-Primary Education? Write the Various problems in pre-
Primary Education and suggest Remedies to overcome it.

Explain in detail the Educational Philosophy of Mahatma Jyotiba Phule
According to following points-

A) Educational Philosophy of Mahatma Phule.
B) Functions in Women's Education.
C) Functions for Education to Backward classes.
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P71 [3801] - 135
F.Y. B.A.
G-1 : ToTeTUTSTE
(2008 3INITRAHH)
ARIST HUTAR
9% ; 3 am|
geAr :— 1) @ 99 QiSlav 3rayaes SiTed.

2) SwEiEHSIeT 3id qof qoT FIEAT.
3) @ewIarst g 37t GvTafAeT qETal.

[TegoT 7701 : 80

37 1) Eefie T IW aeeht 50 e e (Fdt §H)
i) gd -t et demean 9 we foret.
ii) Poreroma Tl wewa faore ==
iii) foreror ufsRaret ST9T8 e .
iv) wedi wd e Sreafores dease foerg .

ww72) e 100 via R fown, (o ww)
i) TEge e ugd
i) @S Toreror Hehedt
iii) Prerom fafes wew
iv) gd-urerfires Rreromeh siege
V) HHAR AEAE qreete Sterfites aae
Vi) STRRATEUTR A

[10]

[20]

P.T.O.



T¥73)  @reier Sl IW TEeht 200 ¥ 250 v R (Fond 6F) [30]

HITUTeR AT U I ? JerfiTeh AT WEd 9 TH T
.

eS0T TEUTS ha ? He STeruTmel wevd farere =
ARTETE WiSeh, STATE ATd Aol AT LI T TIE .

iR TR0 Teod TeUTd 1A ? Ted el R0l T ST AT
fororg =T

AU TEUR HR? ATHFAN0T Ugd ™ WRe o et foret.
HISTH HiFwHA Tifaeret sngfew Breomh 2= afaemr fae w=a0.

T374) @reEdh TRt a3 S 500 vregta fore. [20]

1)

if)
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& - T THeR TIT6T0T TEUTS i ? gd TTeiHe: fRTerumdiet 9w 9 U™
Ao favTg .

HETCHT ST Gt Tt Rerforek faam arefier gemgr Ao w@e w0,
3) WETHTEHC JeTTuTeh aera=

) wieetreat Praomardt el

%) oTegva reromaTdt Wt
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P73 [3801]-137
F.Y. B.A.
Physical Education

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Draw neat diagrams wherever necessary.

Q1) Answer the following in 50 words : (Any Two) [10]
i)  Explain importance of 'Fitness' in sports.
i) Define Physical Fitness. Make list the HRPF Factors.

i) Write the duties of any one Kabaddi officer.

02) Write notes on following in 100 words : (Any Four) [20]
i)  Describe the fouls in Kho-Kho.
i)  Write basic skills required in Hand ball.
i) Define Yoga. Explain the importance of Yoga in sports.
iv) Explain the new rules in Athletics.
v)  Describe history and rules Kho-Kho.

vi) Give information about Marathon.

PTO.



03) Answer following in 200-250 words : (Any Three) [30]
i)  Define Physical Education. Explain the objectives of Physical Education.
i) Draw a diagram of Kabaddi ground with measurement.
iii) Explain effect of exercise on respiratory system.
iv) Draw a diagrame of'Shot Put' in Athletics and write the rules of shot put.

v)  Explain co-relation between Physical Education and Yoga.

04) Answer in 500 words : (Any One) [20]

i)  Draw neat diagram of Hand ball ground with measurement and explain
the foules in Hand ball.

i)  Draw neat diagram of Volley ball ground with measurement and explain
the any 10 rules in Volley ball.
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P73 [3801]-137
F.Y. B.A.
Physical Education

R fotaror
(2008 Te)
(7St wUTaR)
% : 3 AT [weRuT 70T : 80
goat: i) Od Iy isfAut vk sied.
ii) STREIe 37k YUl o1 E3iferaTa.
iii) SITATAE AA Ik AT HTIET.
iv) Hewiarsl Hes Ut a9aaEeht ugTat.

97 1. @refier TyAr=t 50 ysaid I AT, (H0E 9H) [10]
) Woe gt Hged T8 Hl.
i) IR dgEEdie SATEAT o, AINFATIEEA AgoedioaT aeahTal ATar .
iii) HIUTATE TehT HeageS! TaATH wHeled ferat.

T2, @ETete TvATEt 100 vreE I Rrat. (Homd =) [20]
) @r-@ At THE qui L
i) TueaTa WA e hived Toret.
iil) TR STEAT =T, WSTH A AT Heed TIE .
iv) stuedamusia T Fem e =0,
V) W@i- @ = 3tae 9 HEm qui .

~ o o

vi) TR Sgge artedt =,

PTO.



37 3. @relter e 200 ¥ 250 yrsgid S forer. (Fiowd d) [30]

IR forerom=it somean =n. wRiies oreromeh sfgge wue .

i) wHagE WS IS TTHTITEE THT HTeT.
iil) YO TEASR SATATHTET TRUTTH TIE .
iv) Sforcidiaameial et b HEMT STTHAT HTET I TeT Uik o THaw forar.
v) TR Toteror @ T wefiet FeEsy T o .

T97 4. @refter geareit 500 yrsaia I forer. (Furaret uen) [20]
i) FUSHETA WHTAT HISRTUTET HISHTUTHE THd! hiel o TUSaicl e JH1g

(Foules) ¥ag =1.

ii) SETCiaTe! WeTeaT hISATUTTE HISTHTITHE 3TTghe shiel. SEreiia el Wefiet shiurdet
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P75 [3801]-139

F.Y. B.A.
STATISTICS
Statistical Pre - Requisites
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.

5) Graph papers will be supplied on request.

Q1) Attempt any two of the following : [2 X 5 =10]
a) Define arithmetic mean and state its merits and demerits.

b) Following distribution gives the pattern of overtime work done by 100
employees of a company.

Overtime |10-15|15-20|20-25[25-30(30-35 [35-40
(in hours)

No. of - 20 | 35 | 20 8 -
employees

If the third quartile is 27.25, find missing frequencies.

c) Draw histogram to represent the following frequency distribution.

Hourly wage |50-60 |60-70 |70-80 |80-90 |90-100|100-110{110-120
(Rs.)

No. of 15 40 50 60 45 40 15
workers

Also, determine mode graphically.

d) The first four moments of the distribution about the value 4 are 1, 4, 10
and 45 respectively. Find the first four central moments.

02) Attempt any four of the following : [4 x 5 =20]

a) Explain the procedure of simple random sampling with replacement and
simple random sampling without replacement.

PTO.



b) Information about the goals scored by teams A and B in a football season
are as follows :
Team  Mean Goals  S.D. of Goals
A 1.4523 1.4832
B 1.0714 1.3344
Justify: 1)  Which team is better in average?
i)  Which team is more consistent?

c) Explain concept of positive and negative correlation with an illustration
of each.

d) For a frequency distribution, Bowley’s coefficient of skewness is —0.1.
The sum of first and third quartiles is 118 and the median is 60.5. Find
the two quartiles.

e) The first four raw moments of a certain distribution are 8.9, 81.4, 760
and 7240 respectively. Find coefficient of skewness and coefficient of
Kurtosis and interpret.

f) For the following frequency distribution find the eighty-fifth percentile.
Class 0-100 {100-200 |200-300 |{300-400 |400-500 |500-600( 600-700
Frequency| 9 15 18 21 18 14 5

03) Attempt any three of the following : [3 <10 =30]

a)

[3801]-139

i)  Explain the following terms related to theory of attributes. [5]
1) Dichotomy.
2) Independent of two attributes.
3) Ultimate class.
4)  Manifold classification.
i)  The following are the profits (in lakh) of 30 companies of the year

2008-09 : 5]

20 22 35 42 37 42 48 53 49 29
65 39 48 67 18 16 23 27 35 58
49 63 65 55 45 58 57 69 25 65
1) Construct the stem and leaf diagram.

2)  Which stem has maximum frequency.



b)

c)

[3801]-139

i)

i)

Explain the following terms : [5]

1) Ratio scale.

2) Interval scale.
3) Linear scale.
4) Circular scale.

Compute Spearman’s Rank Correlation Coefficient for the following
data on awareness and knowledge of 10 farmers : [5]

Awareness 40 | 10 | 60 | 50 |30 |20 [65 ] 70| 25| 90
score

Knowledge |40 | 20 [ 50 | 60 | 10 [30 |63 | 80 | 55 | 70
score

For the frequency distribution of marks of 100 students given

below : [5]

No. of

Marks students

Below 19 9

20-24 11

25-29 14

30-34 20

35-39 26

40-44 12

above 45 8

1) Identify the open end classes.

2) State the type of classification.

3) Classwidth of 3" class.

4)  Number of students get less than 35 marks.
5) Class boundaries of sixth class.

The mean weekly wage of 30 employees in one factory is Rs. 2500.
The mean weekly wage of 50 employees from other factory is
Rs. 2000. Find the combined mean of weekly wage. [5]

There are 200 candidates appeared for competitive examination and
60 of them succeeded, 35 received special coaching and out of
them 20 candidates succeeded. Using Yule’s coefficient of
association verify whether special coaching is effective? [5]

Regression equations of two variables X and Y are as follows : [5]
2X+3Y =4
5X+4Y =10



Find 1) The mean of X and Y.
2)  The regression coefficient of X on Y.
3) The correlation coefficient between X & Y.

e) 1)  Obtain standard deviation for the following data : [5]
Height 60-62 62-64 64-66 66-68 68-70
(in inches)
No. of 4 30 45 15 6
students
ii)  Calculate Fisher’s Price Index Number from the following data :[5]
2p,dy= 93, 2pyq,= 62, Zp,¢;, = 109, Zp,q, = 73.
04) Attempt any one of the following : [1 x20=20]
a) 1)  Calculate coefficient of correlation from the following information :
[S]
n=10, XX =436, XY =246, X X>=19262, ¥ Y?= 6702,
XY =10417.
i)  State the properties of regression coefficient. [5]
i) Calculate mean deviation about mean for the following data : [10]
Class 0-10 [ 10-20 [20-30| 30-40 [40-50 {50-60 [60-70
Frequency| 6 5 8 15 7 6 3
b) 1)  Explain the various problems in the construction of index numbers.
7
i) Compute the quartiles for the following series of observations. {3}
60, 26, 30, 35,5,6,7,9, 20, 40, 45, 11, 18, 15, 49.
i) Compute the Karl Pearson’s coefficient of skewness for the following

[3801]-139

data : [10]

Class 5-15 | 15-25|25-35| 35-45 |45-55 [55-65

Frequency | 20 5 15 5 35 20

Interprete the result.

* ¥ %
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P76

[3801]-140
F.Y. B.A.

LOGIC AND PRINCIPLES OF REASONING
| ntr oduction to L ogic and Principles of Reasoning

(General Paper - 1)
(2008 Pattern)

Time: 3Hourg| [Max. Marks: 80
I nstructions to the candidates:

1) All questions are compulsory.
2) Figuresto theright indicate full marks.
Q1) Explain briefly any two of the following: [10]
a Argument and Argument form.
b) Fallacy of composition.
c) Simple and Compound proposition.
d) Variables, Constants and Connectives.
Q2) Write short notes on any four of the following: [20]
a Immediate inference.
b) Deduction.
c) Components of categorical proposition.
d) Shorter truth table : A Decision Procedure.
€) Indirect Deductive Proof.
f)  Propositional variables and propositional constants.

P.T.O.



Q3) Answer any three of the following: [30]
ad Convert and obvert the following propositions:
1)  Some diamonds are not costly.
i) Noantislazy.
i)  Some books are readable.
iv) Not all stones are diamonds.

v) All flowers are beautiful.
b) Explain contradiction as an opposition of propositions.

c) Determine, whether the following statement forms are tautologous,
contradictory or contingent, with the help of truth-table method or
shorter truth-table method. (Any four)

) (A-B)=(AvB)
i) P-QR-~R
i) ~[(IDK)D(~IvQ)]
iv) (MvN)=(~M-~N)
v) (~R29)>2(R-S)
d) Give direct deductive proof of any two of the following arguments:
) 1) (A>SB)vC
2) ~C~B [.~A
iy 1) (Hv)D[J(K-L)]
2) | /3K

[3801]-140 -2-



i)

\Y))

1) ADB
2) ~Do~B
3) ~D [o.~A

1) (AvB)>(C-D)
2) ~C [ . ~A

e) Symbolize the following propositions using the symbols given in
bracket.

This is not the case that Ellections will not take place. (E)
If you discover something then you will be famous or rich. (D, F, R)
Although heis poor, he is satisfied. (P, S)

If you get job then, you will get money, moreover, parents will
be free from worry. (J, M, P)

Either Congress will win or BJP. (C, B)

Q4) Answer any one of the following:

ad Explain fully the nature and scope of Logic. [20]
OR
Explain with illustration, the concept of distribution of term in
preposition.
b) 1) Distinguish between Truth and Validity. [5]
i) Demonstrate the invalidity of any three of the following
arguments. [15]
1) ~(EF)
(~E-~F)>(G-H)
HoG
=G
[3801]-140 _3.



2)

3)

4)

5)

[3801]-140

BoA

~Co~~A

-.BoC

SH(ToU)
S~U

S ~Uo>W

[v~J
~(-K-L)

~(-1-L)

S~JoK

M>(NvO)
N> (PvQ)
Q>R
~(RvP)
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P76 [3801]-140
F.Y. B.A.
LOGIC AND PRINCIPLES OF REASONING
I ntroduction to L ogic and Principles of Reasoning
(General Paper - 1)
(2008 Pattern)
(FTE AETR)
A : 3| [wegot 7ot : 80
qa - 1) @F T97 QIS0 STEvIE HIE.
2) ITdIHEIeT ik gt Jur FIffaara.
3) @EWIATS? geB 3T TITUlAHIET TETal.

97 1) WrciicTaeht ShIvTdgl 3 ATSaTd T8 . [10]
a) gferare smfor glerararn smer
b) wEvE
C) WY g ugaE fau™
d) =R, SRR I TATH

97 2) WIAerteh! ShiveaTdl Ier |@fer i ferer. [20]
a) eraafed TgAT
b) fr
c) Teurfee faumm gew
d) eTgEeEal wiww : Tk fHuiE uegd
€ srueay T g
f) Taum =R sufor fqam ser

P.T.O.



77 3) Wrefierdehl HIvTeaTe diq gt 3w forat.
WTeter faammr ufada ot afaads .

a)

b)

d)

[3801]-140

) et i wew Twama.
i) ueRgt gt STl AEE.
iii)  <ATEl YEdeh ATeHT AT,
iv) @ g R e,

V) W& e e ST

T farem=n Ueh TR AT SaTHTaTe TEY TE .

[30]

AT ShiTeh I TIHeIAT hih U UFd =T e Wietel faem ey ada:
Ted, gaa: oraed fehan SfuftreRaan deamea omea § oEn. (HE = w)

i) (A-B)=(AvB)

i) P-QR-~R

i) ~[(IOK)D(~IvQ)]

iv) (MvN)=(~M-~N)

V) (~R2S)>(R-S)

TR T 2 Ffaar weas T fgar e,

i 1)
2)
i) 1)
2)

(AoB)vC
~C-~B [ ~A
(Hv1)D[J(K-L)]

| /.. 3K



i) 1) AoB
2) ~Do-~B
3) ~D [ . ~A

iv) 1) (AvB)>(C-D)
2) ~C [ c~A

€ hET e fomgren Su=m wEa Tree faum feeifea =
)  Frague Svm AT o . (E)
i) R g et vy AT @ Uteg fohan siwa sgre. (D, F, R)
i) Sw A e e 7 @ g o, (P, S)

iv) R TR e, ) TR freda e ong, ada Rage gida.
I M, P

v) ehiie fehem et fomrt g5, (C, B)

97 4) WTAeTaehl SRIvTeTE! Tkt Te-T 7R forat.
a) AhIMET TET F SATHT TIY . [20]

feRa
UesaTH! /ueia faaftaaT € SeheuT AISTEIur T .

b) i) Ocgara Juar Iidier 9 TIY H. [5]
i) wTelieTdeht whivreaTet o9 Fiaaarare et g & /gree =m. [15]
1) ~(E-F)
(~E-~F)>(G-H)
HOG

=G

[3801]-140 -3-



2)

3)

4)

5)

[3801]-140

BoA

~Co~~A

-.BoC

SH(ToU)
S~U

S ~Uo>W

[v~J
~(-K-L)

~(-1-L)

s~IoK

M>(NvO)
N> (PvQ)
Q>R
~(RvP)
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P77 [3801]-141
F.Y.B.A.
SOCIOLOGY
G-1 : Introduction to Sociology

(2008 Pattern)

Time: 3Hourg| [Max. Marks: 80

N.B.:
1) All questions are compulsory.
2) Figuresto theright indicate full marks.

Q1) Explain any two of the following concepts in maximum 50 words each:[10]
1)  Characteristics of Society.
i) Conformity and Deviation.
iii) Social Mobility.

Iv) Meaning and characteristics of Social Movement.

Q2) Write short notes on any four of the following in maximum 100 words
each : [20]

1)  Importance of Sociology.
i) Elements of Social structure.
lii) Characteristics of Culture.
Iv) Gender.

V) Maodernization.

vi) Dalit Movement.

PTO.



Q3) Answer any three of the following in maximum 250 words each : [30]
1)  Describe the characteristics of Primary and Secondary group.
i) Discuss the formal means of socia control.
Iii)  Write in brief the structural pre-conditions of social movement.
Iv) Explain the characteristics of caste.

v) Discuss the agencies of socialization.
Q4) Answer any one of the following in maximum 500 words each : [20]
1)  Define Sociology. Examine the subject matter and scope of Sociology.

i)  What is Social Change? Discuss the factors of Social Change.

0000
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P77 [3801]-141
F.Y.B.A.
SOCIOLOGY

G-1 ..g ndendonhl Anai |
(20081
_af¥erba

% : 3| [ o ot : 80
qa:- 1) @F T TS0 STavIE SR,
2) ITAIFSIT 37k TeATA QUT JOT FPIIAATA.
3) TGFYIaIst ges sTwit TvIafaesT ugTat.

T97 1) WreAteTdeh! ShIvTeaTEl 19 HeheuT Teaehl 50 ysgiuda TUg . [10]
i) wwTTEl e,
i) orgerer it e
i) wTaTRrs TR
iv) T wreastan ated enfur afvreesr.

T 2) WetieTishl shivrearsl ser Teaeht 100 srearoea feur feret. [20]
) EwETET A,
i) wmre e g,
i) e AfiTee.
iv) Temmama.
V)  STE eI
vi) sfera weas.

PTO.



797 3) WIATeTueh! ShIUTEATE! TiA Tg-Tet Seacht 250 yrearaia 3w ferat. [30]

1)

i)
i)
%)

v)

TerfieR MTfUT geam TTeTsat afvredre quid .

U= AN fEmuTan drear =i &

AN TBAS AT TE-TeHe: Ja3Tera digara Jui- .
AT AT ATITeEATS AU .
HTHTINTSRTUTISAT |TEAT 2t .

797 4) WeAterich! HIvTeETd geht weerer 500 vresiae I ferer. [20]

)

i)

[3801]-141

FHTSIVTETE T STEAT hil. THTSIITETRT AYATHET HT0T saTei=l oieror
0.

HTHTINTSR TREAT F2UTS Shid ? HTHTNTSR TRAd-TedT geahT Tt ol.
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P78 [3801]-142

F.Y.B.A.
ANCIENT INDIANHISTORY, CULTURE & ARCHAEOLOGY
(General Paper - 1)
(Outline of Prehistory, Protohistory & Early History)
(2008 Pattern)
Time: 3Hoursg| [Max. Marks: 80

Instructions::
1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Answer the following questions in 50 words each (any two): [10]
1)  Definitions of History.
i) Later Vedic Literature.
lii) Persian Kings.

Iv) Kailas Temple at Ellora

Q2) Write note on the following in 100 words each (any four): [20]
1)  Paleolithic Stone Tools.
i)  Town planning of Harrapan Cities.
i) Features of Second Urbanization.
Iv) ‘Dhamma of Ashoka.
v) Art during the Satvahana period.

vi) Cultura contribution of Pallavas.

P.T.O.



Q3) Answer the following questions in 200-250 words each (any three): [30]
1)  Describe the epigraphical sources of Ancient Indian History.
i) Discuss the features of Jorwe Culture.
lii) State the effects of Greek contact.
Iv) Explain the achievements of Kanishka the Kushana King.

v) What do you know about the history of the Vakatakas.

Q4) Answer the following question in 500 words (any one): [20]

1)  Why the Neolithic Age, is called as ‘ Age of Revolution’?

i) Describe the achievements of the Ch¢lukyas of Bad¢ mi.

000a
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Total No. of Questions: 4] [Total No. of Pages: 2
P78 [3801]-142
F.Y.B.A.
ANCIENT INDIANHISTORY, CULTURE & ARCHAEOLOGY
(General Paper - 1)
(Outline of Prehistory, Protohistory & Early History)

(2008 Pattern)

(afr &)
9% : 3™ | [ wggot 7qur : 80
gar:- 1) @d Tv7 qiSiavt Sravas HTE.
2) IAFIHSIT ek TIATA GUT JOT FII1AATA.
3) "eylara? ges 5Tt yvTalAHT yETal.

97 1) TEreiter Tt IW Tedeht 50 veata fetat. (wivrast 39) [10]
i) sferar e,
i) A .
i) wffa T
V) aEe Aedter Sherra wiew.

797 2) skt 100 vrssia dan e, (et ww) [20]
) gEreHgTH FTEl T,
i) TeTuTsaT e R,
i) gae AR SR
iV) e e ervTeRTen o
V) OTadred wISTarel hedl.
Vi)  UgaTe Hitehfi FNTE.
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i)
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797 4) Erefter gre 3t 500 vreaid foret. (sRvrarEt uek)

)
i)
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TATTRYE TG ™ T TgraTd ?
FETHIEAT ST RIANRT JUIA .

000a

[30]

[20]



Total No. of Questions : 4] [Total No. of Pages : 3

P79 [3801]-143
F.Y. B.A.
STATISTICS
Descriptive Statistics
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Use of statistical table and calculator is allowed.
4) Symbols have their usual meanings.

5) Graph papers will be supplied on request.

Q1) Attempt any two of the following : [2 X 5 =10]
a) Describe the scope of statistics in the field of agriculture and industry.
b) How does SRSWR and SRSWOR differ from each other?

c) Exhibit the following data using stem and leaf chart.
11.8,10.8,12.9,13.0,12.5,13.1,10.4, 10.8, 10.4, 11.3,11.6, 12.8, 11.2,
11.1,11.3.

d) Find arithmetic mean for the following data :

X 1(23]|4
f| a|2a]|3a| 4a
"a" is a positive integer.

02) Attempt any four of the following : [4 x 5 =20]

a) The mean weight of 150 students is 60 kg. The mean weight of boys
among these students is 70 kg. with SD of 10 kg. while for girls the mean
weight is 55 kg. with SD of 15 kg. Find the number of boys and combined
SD.

b) Derive the expression for the fourth ordered central moment in terms of

lower ordered raw moments.

PT.O.



Find the missing price if the ratio of Laspyre’s price index to Paasche’s
price index is 28 : 27 for the following data :

Commodity | p, | q, | P, | 4,

A 1 {10 2|5

B LS5 -1|2

d)

Define the concept elasticity of demand.
Interprete :

) e=1

i) e>0

i) e<0

Where e is the price of elasticity of demand.

Define regression coefficients and state its any three properties.

If (A)=49, (a) =57, (AB) =29, (aB) =38, are A and B associated?
What is the type of association?

03) Attempt any three of the following : [3 x 10 = 30]

a)

b)

d)

[3801]-143

Compute correlation coefficient between the supply and price of a
commodity for the following data :

Supply 152 [158 169 [182]160 [166 182

Price  [198 [178 |167 |152 [180 (170 |162
Interprete the result.

The runs scored by two batsmans A and B in 10 matches are shown
below :

A |5 |20 |90 |76 [102(90 |6 | 108|220 | 16
B [40 [35 |60 |62 |58 |76 (42 (30 |30 |20

i)  Which batsman is better in average?
i)  Which batsman is more consistent?

i)  The first 3 raw moments of a distribution are 2, 25 and 80. Find the
coefficient of skewness and comment on it.

i)  With usual notations, show that f§, >1.

i)  The demand function of a shirt at a departmental store is given by,
Q =3000-5P. The supply function is, S = &P.
I) Find the price at which equilibrium of demand and supply is

observed.
I1) Find the elasticity of demand at price of Rs. 400.



if)

The daily expenditure of 100 families on transport is given below :
Expenditure (Rs.) [20-30 [30-40 (40-50 [50-60 |60-70
No. of families 14 - 27 - 15

If the mode of'the distribution is 43.5, find the missing frequencies.

04) Attempt any one of the following : [1 x20=20]
a) 1) The population of a state is given below :
Year (X) 1951|1961 |1971 {1981 |1991
Population (Y) | 140 | 170 | 200 | 250 | 300
(in millions)

b)

[3801]-143

Fit the curve Y = a.b* to the above data and estimate the population
in the year 2000.

Describe scatter diagram and explain how it can be used?

State an expression for the acute angle between the two regression
lines and discuss the cases of » =0, » =+1 and r = —1.

Show that the sum of squares of deviation of all the observations
taken from arithmetic mean is minimum.
If the attributes A and B are independent then show that,

I) @ and B are independent.
II) « and P are also independent.

Weekly income and saving in Rs. of employees in a certain company
are given below :

Income | 250 750 820 [900 | 780 |980

Saving | 60 | 68 [ 62 | 86 | 84 | 91

Calculate Spearman’s rank correlation coefficient between income
and saving.

For a bivariate data :

X =83, Y =38,bYX=0.8, bXY =0.5
Find :

I)  Correlation coefficient between X and Y.
II) Estimate X for Y = 40.

* * *



Total No. of Questions : 5] [Total No. of Pages : 3

P80 (3801]-144
F.Y. B.A.
MATHEMATICS (Applied Mathematics)
AMG-1: CALCULUS
(2008 Pattern) (General - I)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt all subquestions : [16]
a) Determine the set A= {x € R/|4x + 5| <19}.

b) Show that the sequence < x > where

X =i +i +___—+i VneN is bounded above.
n+l n+2 n+n

¢) Discuss the convergence of the series Y, (-1)".
n=0

d) Evaluate |im Vx-1 .
x—»1 X—=1

e) Discuss the continuity of the function.
f(x) atx =4 where
f(x)=3x—-4 2<x<4

%
= X2 x>4
f)  State Lagrange’s mean value theorem.

l[im
s

X—=

g) Evaluate (secx — tanx).

hy Ify= then find y_

2X—-3

PTO.



02) Attempt any four of the following : [16]

a) Forany x, y € R prove that | x| — | | < |x —y|.
b) Find all real numbers that satisfy the inequality 3 — X< 1;x#-3.
+ X
¢) Show that the sequence <1, «/§, 2\ 33, ——> is convergent and find its
limit.
d) Test f fth i iZ“+1
est for convergence of the series 23
e ek
e) Show that !('LT(]) € " =€ " does not exist.
o
f)  Using Cauchy criterian show that
1 1.
<x >where X, =1+ —+ -+ ———+ — is not convergent.
! 2 3 n
03) Attempt any two of the following : [16]
a) 1) State and prove Bolzano-Weierstrass theorem.
i)  Show that the sequence <x > where
1 1 1 1
X, =1+ —+—+—-+-——-+—=
v o2t 3 n!
n € N is convergent.
: < T S
b) i)  Prove that the series Y, s is divergent for 0 <p < 1.
n=1
i)  Discuss the convergence of the series
1 1 1
+ + +———
J1++42 V2443 J3+44
c) 1) Define Cauchy sequence and prove that every Cauchy sequence of
real numbers is bounded.
i) Determine the set of points B= {x € R/|3x—4|—|x + 2| <0}.
d) 1)  Prove that limit of a function f(x) as X — C is unique if it exists.

[3801]-144



2
i) Using € — § definition of limit prove that lim 2 +3 = §
x>0 X+5 b

04) Attempt any four of the following : [16]

a) State and prove Cauchy’s mean value theorem.
b) Find a, B if the function f(x) is continuous on (— 3, 5) where

fx)=x+a —-3<x<1

=3x+2 1 <x<3
=B +x 3<x<5
c) Evaluate )I('Lnl (x—1)«=D
. . . 7.[ 7.[
d) Verify Rolles theorem for the function f'(x) = cos’x in “aal
e) Discuss the continuity of f(x) at x = 3.
X —
If f(X) = u X#3
X-3
=0 X=3
f)  Expand tanx by using Maclaurins series.
05) Attempt any two of the following : [16]

a)  State and prove Leibnitz’s theorem hence find y ify = x* e,
b) If a function f: [a, b)] — R is continuous on [a, b] and f'(a). f(b) <0

then prove that there exists a point ¢ € (a, b) such that f(c) = 0.
c) i) Ify=(sin"'x)* provethat(l1-x*)y ,—Q2n+1)xy  —n*y =0.

.o . . . 7.[

ii)  Expand sinx in ascending powers of | X — PYE
d) 1)  Separate the intervals in which the polynomial x* + 8x* + 5x — 2 is

[3801]-144

increasing or decreasing.
ii) Prove that

b_i <tantb-tanta< b_i if a<b-
1+b 1+a

3



Total No. of Questions : 4] [Total No. of Pages : 3

P81 (3801]-145
F.Y. B.A.
APPLIED STATISTICS
Descriptive Statistics
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3)  Use of calculator is allowed.
4) Use of statistical table is allowed.

Q1) Attempt any two of the following : [2 X 5 =10]
a) State the merits and demerits of arithmetic mean.

b) Explain the following with one illustration each :
i)  Inclusive method of classification,
i) Cumulative frequency distribution.

c) Draw frequency curve for the following frequency distribution :
Class-Interval | 160-170 170-180 180-190 190-200 200-210
Frequency 3 18 30 20 S

d) Explain the following with one illustration each :

i)  Simple random sampling with replacement.
i)  Simple random sampling without replacement.

02) Attempt any four of the following : [4 x5 =20]

a) Explainthe term ‘Kurtosis’. Explain the different types of Kurtosis using
suitable frequency curves.

b) Compute weighted Arithmetic mean from the following table :
X 300 200 250 150 250

1

w. 62 5 6 12 17

1

c) Explain ‘Cross-sectional data’ and ‘Time series data’ with one illustration
each.

PTO.



d)

Compute mean deviation about median for the following frequency
distribution :

Marks 40-50 50-60 60-70 70-80 &0-90 90-100

Frequency 4 6 9 19 10 2

Draw a bar diagram to represent the following information :

Country : Iran Libya Malaysia Mexico Sweden

(per 1000)

Explain the following terms :

i)  Ultimate class frequency,

i) Independence of two attributes,
iil) Association of two attributes.

03) Attempt any three of the following : [3 X 10 = 30]

a)

b)

[3801]-145

i)  For a group of 20 observations X x = 450, X x> = 24280 and
mode = 45.9. Find Karl Pearson’s coefficient of Skewness and
comment on it. [4]

i)  Calculate Spearman’s rank correlation coefficient for the following

data : [6]
X 25 26 24 23 22 21
Y 26 22 21 23 24 25

i) Given:

n=10

2x=0, 2 x*=653

Xy=35, >y? =595 and X xy = 534

Compute coefficient of correlation between X and Y. [6]
i)  For a frequency distribution Q, = 62, and Q, = 120. Calculate :

I) Semi-interquartile range.

I) Coefficient of quartile deviation. [4]

Given: My =1,m, =4, m; =10, m} =46, compute B, B, and hence
comment upon the nature of Skewness and Kurtosis of the distribution.
[10]



d) 1) From the following ultimate class-frequencies (AB) = 18, (AB)
=12, (aB) = 16, (a B) = 54, compute the remaining class
frequencies. [4]

i)  Explain the procedure of estimating trend by the method of least
square. [6]

e) 1)  Explaintheterm ‘regression’. State any three properties of regression

coefficients. [5]
i)  Write a short note on stratified random sampling. [5]
04) Attempt any one of the following : [1 x 20 =20]

a) 1)  For the following frequency distribution compute D_ (7" decile)

and P, (80" percentile). [10]
Class 0-100 100-200 200-300 300-400 400-500 500-600
Frequency | 10 15 20 22 18 15

i) Describe scatter diagram and explain how it is used to measure
correlation. [6]
i) State the requirements of a good measure of central tendency. [4]

b) 1)  Explainthe term ‘time series’. State the additive and multiplicative

model of time series and explain the terms involved in it. [6]
ii) Given:n=10,%x*=385,X)*=192,
X=55Yy=4,Xxy=185.

Find :

I) The regression line of y on x

II) Estimate y when x = 2. [6]

iii) Define : Range, Quartile deviation and mean deviation. State the

[3801]-145

formula for each in case of ungrouped data and frequency
distribution. [8]



Total No. of Questions : 4] [Total No. of Pages : 2
P82 13801]-146
F.Y. B.A.
PHILOSOPHY
G-1 : Introduction to Philosophy
(New Course)(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer any two of the following questions in 50 words each: [10]
1)  Explain the concept of Tattvajnana.
11) State the nature of reformative theory of punishment.
111) Briefly explain the term Deontology.

1v) State the distinction between Astika and Nastik Darshanas.

Q2) Write short notes on any four of the followingquiestions in 100 words
each. [20]

1) The nature of the concept of Right in social philosophy.
1) Jain classification between Jiva and Ajiva.

111) The method of Conceptual Analysis.

1v) The problems discussed in metaphysics.

v)  The moral duties of teachers.

vi) Distinction between Preyas and Shreyas.

P.T.O.



03) Answer any three of the following questions in 200-250 words each. [30]
1)  Critically discuss Descartes's dualism.
11) Explain the concept of Runa and state the different kinds Runas.
1) State and discuss the distinction between positive and negative freedom.
1v) What are the four noble truths according to Bauddha Darshana?

v) Critically examine the nature of business.

04) Answer any one of the folloowing questions in 500 words each. [20]
1)  Elaborately discuss the theory of Karma and it's classification.

11) Write an essay on Hume's theory of causation.

[3801]-146 -2-
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P82 [3801]-146
F.Y. B.A.
PHILOSOPHY

G-1 : Introduction to Philosophy
(2008 Pattern)
RIS B/UTAR
9% ; 3 ar| [wegot 7701 : 80
GaAT :— 1) @d I97 @IS0l STasaas 3.
2) SorEiwEIer sie gl T FIHAAT.
3) @ewlarst ges sut TITalAET TETEl.

gy7l) WA ToATe SW TRt 50 Iredia foret. (vt 29) [10]
i) ‘aEaEm’ € HweudT TWE .
i) Trereen guwomETd Rrgrar s |,
iii) ‘redeaaTg’ € WA dISHITE T .
iv) snfees snfor Tifeaes ardier 98 g w.

g¥72) Erelte TeiEt gereht 100 sregia fun ferer. (o = m) [20]
i) WIS aETHTA ®daed &t GeheddT
ii) S et e enfor et afieRtor.
iii) wieeute RrvcrToTet TgH.
V) \awEEE gt ST THET.
v) ThermTE Afae wda.
vi) S 21U I AT We.
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g¥73) @i geATet IW Tereht 200-250 vregia forer. (wiomE 9) [30]
i) <Rt gaAATETE! RiTheaeh Tt W,
ii) “SEUUEY HehoUAT TIY AT AT KU kR farere .
iil) THRICH MV THRTHE TATET ATAIA W TR MI0T <At .
iv) g S9FTHIE OR 3T | HIvTd! ?
V) YT e Rt uRieror &L

gv74) @i TeATeE S aereht 500 vregia forer. (FvETEl Tw) [20]
i) v fagrarel ST @il SRTeRtoTTe Tfear St .
ii) TE=T HRUTOYIS fgraeR Fay forer.
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Total No. of Questions : 4] [Total No. of Pages : 2

PS3 [3801]-148
F.Y.B.A.
FOUNDATION COURSE
(Restructuring)
( 2008 Pattern)
Time : 3 Hours) [Max. Marks : 80
Instructions:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the following concepts in 50 words each (any two): [10]
a) Science.
b) Religion.
c) Rule of Law.

d) Privatization.

02) Write the following short notes in 100 words each (any four): [20]
a) National Integration.
b) Food Problem in India.
c) Hypothesis.
d) Equality.
e) Global warming.

f)  Disin vestment.

P.T.O.



03) Write the answers of the following questions in 200 to 250 words each

(any three): [30]
a) Explain the types of Unemployment.
b) State the causes of growing population in India.
c) Explain the causes of sickness of Indian Industries.
d) Write the demerits of cast system in India.
e) Explain the characteristics of Indian Society.
04) Write the answer of any one of the following in 500 words. [20]
a) Give the meaning of culture. Describe the characteristics of Indian

culture.

b) Define Democracy and discuss the merits and demerits of Democracy.

[3801]-148 -2-
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P83 [3801]-148

g2 g9 el (F.Y. B.A.)
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€) 9HAT.
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Total No. of Questions : 4] [Total No. of Pages : 2
P84 [3801]-149
F.Y. B.A.
NATIONAL SERVICE SCHEME (N.S.S.)
G-1 : Social Service and Youth
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions in S0 words each: [10]
1)  State the concept of Social Work.
11) Explain the concept of over Population.
1) Explain the objective of N.S.S.

1v) Explain the analysis of collected information.

02) Write a short note in 100 words each. (any four) [20]
1) N.S.S. Volunteers.
11) Design of Survey.
1) Poverty.
1v) Unemployment.
v) Social Work

vi) Special Camp.

P.T.O.



03) Attempt any two questions in 200-250 words each. [30]
1)  Organizational structure of N.S.S. Discuss.
11) Explain the preparetion of Special Camp.
1) Explain the inter relationship between Man and Society.

1v) Explain the Role of N.S.S.in social Modernization.

04) Attempt any one question in 500 words. [20]
1)  Explain the history and aims of N.S.S.

11) What is Meant by Social Servey? And Explain the Servey Report.

[3801]-149 -2-
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P84 [3801]-149
F.Y. B.A.
NATIONAL SERVICE SCHEME (N.S.S.)
G-1 : Social Service and Youth

(2008 Pattern)

RIS wUTaR

9% ; 3 ar| [wegot 7701 : 80

GaAT :— 1) @d I97 @IS0l STasaas 3.
2) SwHIHSIT 37k QUi 7T FIAATA.
3) @ewlarst ges sut TITalAET TETEl.

T l) Erete TeATEt SW gt 50 ysEmE foret. (FivrEt g)
i) WIS ®E E GheudT T HT.
ii) ‘eI THREEAT ¥ AeheudT TI8 & .
iii) 3. = sEves Wy w0,
iv) wiiedt Hehet T faveivor ¥ug .

gy72) 100 vreeia feun feret. (ot wm)
i) . 9. TS EEHash
i) WeEHUT STNREST
i) ETfEE
iv) T
V) WIS &
vi) T forfer

[10]

[20]
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P85S [3801]-151
E.Y. B.A. (Vocational Stream)
FUNCTIONAL ENGLISH
An Introduction to English Language and Writing Skills in English
(2008 Pattern) (Theory) (Paper - I)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) a) Write short notes on any two of the following : [6]

1)  Language as system of systems.
i)  Active and passive articulators.
i) Consonants in English.

b) Fill in the blanks. (any five): [5]
i)  In the articulation of ———— sounds the air passes through oral
cavity.

i) The vowel sound in the word ‘last’ is :
i) The final consonant cluster in the word ‘desk’ is
iv) —— are nasal consonants in British RP.

v) —— is a lateral sound in British RP.

vi) The diphthong sound in the word ‘fine’ is

vil) Long vowels in British RP are

c) State whether the following statements are true or false (any five). [5]

1)  Vocal cords do not vibrate for voiceless sounds.

i) /p,t, k/are aspirated at the beginning of a stressed syllable.

i) In the articulation of consonants the air escapes freely through oral
cavity.

iv) /], w/ are semi-vowels in British RP.

v)  Vowels are voiced sounds.

vi) Sounds in English are produced by using pulmonic ingressive air
stream mechanism.

vil) Some vowels in British RP are nasalized.

PTO.



Q2) a)

b)

d)

03) a)

b)

[3801]-151

Use the correct tense forms of the verbs given in the brackets. [3]

Rabindranath Tagore (be) a great Indian personality. He had (start)
a school to promote art, culture and craft. He called it Shantiniketan.
Today the government is (maintain) its unique character.

Fill in the blanks with appropriate prepositions given in brackets.  [2]
[of; by in; by]

Marriage customs —— Japan are changing. Now a marriage can
be arranged ——  two fathers over a cup —— coffee. Young
people become engaged ——  knowing each others only ten days
in advance.

Change the voice. [2]

i)  Ahunterkilled a tiger.
i)  The police was arresting him.

Use articles wherever necessary. [2]

king was fond of painting portraits. He was
intelligent artist. One day he painted a beautiful picture. He stood in front
of ——— picture and started thinking. He got —— idea of
presenting it to one of his enemies.

Correct the following sentences (any five) : [5]

i)  Some childrens were playing in the street.
i) I lost my handset, hadn’t I?

i) They was my good friends.

iv) Geetais cleverest girl.

v)  One of the boys are missing.

vi) [am feeling very happy.

vii) Neeta got engaged with Ramesh.

Write notes on any two of the following : [10]
i)  Stress shift according to function.

i)  Weak forms in English.

i) Uses of the falling intonation.

Divide the following sentences into tone groups and mark accent and
intonation (any five): [10]
i)  Come here, let’s play cards.

i) [ know him and he is a lawyer.

i) Good morning sir. How are you?

iv) Don’t say that again, you make me serious.

v)  When did he arrive?

vi) It’ s twelve, shall we go?

2



04) Develop the following points into a good paragraph of about fifteen sentences.

Problems faced by India today

Pollution in industrial areas and in cities
Shortage of clean and sufficient water

Shortage of fuel and electricity

Overpopulation - Problem in distribution of goods.

Rise in poverty
Corruption in every field
Threat of terrorism
Rising unemployment

[10]

035) Write a paragraph of about 15 sentences to convey the information presented

in the diagram given below. [10]

Rising Family Expenditure

Average monthly expenses of a family having 4 members

Items Expenses Six Expenses
months back (Rs.) today (Rs.)

Grocery 2600 3200
Milk 800 1000
Gas 700 700
Electricity 350 350
Vegetables 400 600
Telephone/Mobile 800 1000
Educational Expenses 700 1000
Transportation 1600 2000
Other expenses (tax, savings, 700 1200
insurance, medicinesetc.)
Total 8650 11050
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06) Read the following entries from the Oxford Advanced Learner’s Dictionary
and answer the questions given below (any five). [10]

'tTap dancing noun (U] sexvally exciting dancing or
STRIPTEASE which is performed close to, or sitting on, a
customer in a bar or club

lap-dog /lzpdog; AmE d:g/ noun 4a pet dog that is -
small enough to be carried 2 (disapproving) a person who '
is under the control of another person or group '

lapel /1a'pel/ noun one of the two front parts of the top of
a coat or jacket that are joined to the eollar and are
folded back: fo wear a flower in your lapel o He grabbed
him by the lapels of his jacket.—picture on page Ad

lapl-dary /Mapderi; AmE deri/ odj. 1 (formal) (espe-
cially of written language) elegant and exact: in lapidary
siyie 2 (technical) connected with stones and the work of
cutting and polishing them

lapils laz-uli /lzps lezjuli; AmE ‘lezali/ neun {U] a
bright blue stone, used in making jewellery and orna-
ments

lapse /aps/ noun, verb

® noun 1 a small mistake, especially one that is caused by
forgetting sth or by being careless: a lepse of concenira-
tion/memory o A momentary lapse in the final set cosi her
the match. 2a period of time between two things that
happen: After a lapse of six months we met! up again. 3 an
example or period of bad behaviour from sb who ner-
mally behaves well: I forgot to thank her for the invitation
but 1 don’t think she noticed my lapse.

®yerh [v] 1 (of a contract, an agreement, etc.) to be no
longer valid because the period of time that it lasts has
come to an end: She had allowed her membership to lapse.
210 gradually become weaker or come to an end: His
concentration lapsed after a few minutes. 3~ (from sth) to
stop believing in or practising your religion: He lapsed
Sfrom Judaism when he weas a studeni. » lapsed adj. (only
before noun}: ¢ lapsed subscription o lapsed faith ¢ o
iapsed Catholic 'lapse into sth 1 to gradually pass
into a worse or less active state or condition: &p lapse into
unconsciousness/a coma ¢ She lapsed into silence again.
2 to start speaking or behaving in a different way, often
one that is less acceptable: He soon lapsed back into his
old ways.

lap-top /eptop; AmE -tazp/ noun a small computer that
can work with a battery and be easily carried—compare
DESKTOP COMPUTER, NOTEBOOK

lap-wing /zpwin/ (also pee-wit) noun a black and
white bird with a row of feathers (called a cresT) stand-
ing up on its head

{ar-ceny /la:soni; AmE 'lars-/ noun [U, C) (pl. -ies} (AmE
or ald-fashiored, BrE) (law) the crime of stealing sth from
sb; an occasion when this takes place THEFT: The
couple were charged with grand/ petty larceny (= steal-
ing things that are valuable/not very valuable).

larch /lotf, AmE lartf/ noun [C,U) a tree with sharp
pointed leaves that fall in winter and hard dry fruit
called coNES

Questions :

i)  Write two meanings of ‘lapse’.

i)  Give the British and the American pronunciations of the word ‘lapdog’.
i) Transcribe the words ‘laptop’ and ‘lapidary’.

iv) Use the word ‘laptop’ in your own sentence.

v)  How many syllables are there in the words ‘lapislazuli’ and ‘lapwing’?
vi) Which syllables are stressed in the words ‘lapel’ and ‘larcency’.
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P89 [3801]-157
F.Y. B.A.
COMPUTERAPPLICATIONS COURSE - 11
(2008 Pattern) (Theory) (Vocational Course) (Paper - 1)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1)  Draw a neat-labeled diagram wherever necessary.

2) Figures to the right indicate full marks.

Q1) What will be the output of the following modules (any four) : [8]
a) main()
{
inti=4,z=12;
if i=5]z>50)
printf “WELCOME”);
else
printf (“THANK YOU”);
b
b) main()
{
int p =300, q, 1;
if (p >=300)
q = 400;
r=200;
printf (“\n % d % d”, q, 1);
}
c) main()
{
int1;
int marks [] = {55, 65, 75, 56, 78, 78, 90};
for(i=0;1<=6;1++)
disp (& marks [1]);
}
disp (int * n)
{
Show (&n);
}

PTO.



d) main()
{
intt=10;
while (t==1)
t=t—1;
printf (“\n % d”, t);
b
e) # define AREA (x)(3.14 * x * x)
main ()
{
Floatrl =10,r2 =1, a;
a=AREA (rl);
printf (“\n Area of circle =% f”, a)
a=AREA (r2);
printf (“\n Area of circle =% f”, a)
}
f)  main()
{
intu=3,v=4,w=4;
printf (“ans = %d”, (w >=v? 100 : 200));
b

Q2) Write short notes (any five) : [15]

a) For loops.

b) Switch.

c) Structures in C.
d) Flowchart.

e) VariablesinC.
f)  Function in C.
g) Do while loop.

03) Answer the following (any three) : [12]
a) Write a C program to find whether the no entered is odd or even.
b) Write a C program to find simple interest.

c) Write a C program to accept 5 digit number and print the sum of 5 digits.
d) Explain data types in C.
e) Explain following functions :

e Clrscer ();

* Getch ();
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04) Write the syntax and give example of following functions (any five) :

a)
b)
c)
d)
€)
f)
g)

[3801]-157

Stremp ()
Strlwr ()
Strlen ()
Scanf ()
gets ()
Abs ()
printf ()

5]
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